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Subject : First Language Odia (FLO)
MODEL QUESTION PAPER -1
OBJECTIVE

aag : 1 ASl g4 Q@ : 50

1. 96718 6906 R8RS AYIFIS ALITIQS QIR AT IR ‘AR’ 26T ?
(A) @6dIQRIFA oF (B) ©2¢ oRIQ oF
(C) ©96Q©oR2IA o (D) o¢ QdeQ

2. H1RQ-201Q1’ @@6m IS G67Ie QI2Iq QAR ?
(A) 9PREIYD U@ (B) €I10R U@
(C) Q9INIRYS U9 (D) Qo A°Ad 0 UR

3. 699 QU ¢ @6 9N gea @768 99 A°aRI K98, 9Ig @€ QLIAI ?

(A) Q9 (B) 6609
(C) 9os (D) @9
4. ‘60 QF AD6M Q6 6RIRY AURIAQ I’ — YOIER URINQ IR 611 26 NS
62108 ?
(A) 29 AT (B) agIg
(C) QeI (D) 6990

5 ‘6369218 @01’ RIYT 6960 819 95K ?
(A) 91549 QI (B) Q@ I
(C) 204 1% (D) Q9§ Q1L

6. QAT AR VIQILYR @F0I6Q ‘TYLYAE’ 69IR KLY RAUKEG ?
(A) @Iga (B) Q9I6QQ
(C) QuI8E (D) QUL
7. 7699 9°RGER A 629F F6HIR GRINY 9HR 2°E F6AH ?
(A) Qg 6416262 Q62 2IYYIR (B) 9NE © IRl QAIER AGTID
(C) @ 6T 2I6d 692 O @ RI6E (D) ©REI16Q IR 6N QIR
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10.

1.

12.

13.

14.

15.

16.

RERYO AINAIRT AIQ 6RRE QIR QUATR AFLES QIRY ?

(A) oL99ll (B) @4d

(C) Qad1lw (D) QReagal
“Rad @64 @8I — YB0I6Q ARRd Q1219 RRIKIAY ?

(A) Qg (B) 6o

(C) agQ (D) QRERUS

“Oeren Zaml QY RF0I6Q EMIER RIRIF AR FREQ QIR QRILIREF ?
(A)  AQ@s (B) eqql
(C) @gl (D) <19l

6RQ PRI FFG! QoR! AR ‘FAYE ABSY A°AQ” 2CAINR LI QYA ?
(A) €IS (B) QIEYRIQ
(C) AN (D) FIRQAR1

I8l C1216Q IS AZIQ FC6S URS VTRINRT F67]IS 609 ABF 9IS ?
(A) A9 62Q6Q FIP ALY (B) €1 968 062 FEQ 9@
(C) 91968 Q6N 206 ARG (D) QUG 9Q AF AR AR

BE@4l ADGY YRR QI e 99 ‘A8ARQ QLo @9 ?
(A)  QUAIFIE QUL (B) @QUQYW 6291
(C) QIFTRIQ 6£162Q (D) UL ATRIAR

QY0 69T ‘AR AIF’ FIVIER AR AYICE “‘GR Y8R 601 AIRAT 2AVIQ
QS ARG FIFIRQ P67 629 AW AAFER ISR IR F6R ?

A) QARQY (B) adal
(C) QUUFS! (D) QAR

Q798 QI AY1RIS AT Q X8l Y6 ?

(A) 8@ (B) <2401

(C) ogIRUeR (D) @]

Q12 @9 AYIRIS (91991 8 ARG RF) A6 3672 690 ANAFQ FIF IR
QAR QUL ?

(A) 6a9al (B) 69lg1 99
(C) 4l (D) QUALE
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17. 36919 609 9998 “‘9g6de genar’ QIeRIea 98gy ?
(A) QAVYQI B IRIQ (B) @60Q Q F6ARNRR
(C) QIR B 6RIFEI (D) ®gYA

18. 56619 6998 “AYdY’’ 400 QY JIG A6 ?
(A) QIR (B) Q@8RG
(C) QIR (D) S8R
19. QI2AQ URLR ¥ ALK YO6a AdY AR 629! AAQ QIR ERIQ AINSAIX

Qeed ?
(A) @2 98IH1 (B) aedalg
(C) R (D) ol

20. Q669 6990 6390 QR0 289 S Q6L ?
(A) RIS (B) 6QIg
(C) 2029 (D) 2GR R4

21. QRAARR ARYFR AV @76l ?
(A) QU1 (B) @1
(C) 29 (D) 2R

22. @9 AIQRI8Ig A9 IR (MR 69N FLLT ?

(A) €RJYLR QB (B) QISR

(C) 9IS 671629 (D) @6UQ V&
23. FIQIAQEFR 660 R& ARYIA1 FAY 6q ?

(A) eI @6 (B) 9¢ @6

(C) ¢9 @4 (D) 99 @4
24, gaNgf AIQAIRI AURER 624 AIFILER 2LFO ?

A) ge (B) @@Qge

(C) <4 (D) Q8
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25. @9 QRIIFIY QLT Q00 T FMNQ R @& ?
(A) QR (B) ORI
(C) oQwdll (D) @4l

26. APIFE FRREHIR ART FAG! FIFFTER 69L AAIUFE VGRIG 29 FID ?

(A) aARI-9Qe (B) 9QI-R19@
(C) 9RI-A°4d (D) aI-Qgeal
27. @IQRIQ @ 8 Q'FF U 6RIS AR AR BIF 6REQ 6T A FDEM ?
(A) 99 o (B) <Ia€l axql
(C) 2O gRql (D) Q& ARl

28. RIQRAIQ GIIFER R FAILGR BRR 696G aAMI ?
(A) 9 @eml (B) 9 @6ml &6
(C) N @6ml (D) <N @6l a6

29. 699 gY@ @768 AR F00d ‘6ag AT IRIERN1 YOIIR UIRAER ?
(A) QIR QNS (B) QLA
(C) 9wIgm (D) @aql

30. RRE IR 69N FL16Q ABQ Y2 8T AR ?
(A) Q1991 (B) @I06QI&
(C) QAR (D) el

31. A69Q QI F HUREIRFIER §IIg AT KRS K¢ ?
(A) QAT 699 YD (B) 6Q1QR 692 HUY
(C) QAR 692 HRAD (D) SR&IR 622 HUD

32. QAU @UQ GI'Q AQ ABINR UIFRER INTR KA AGS ?
(A) Q29 QU2 6716AR (B) Q0% dg 98 @&
(C) ¢2Q 69 AgIa @ (D) IR YL ¥R
33. goQiw fQY ¥UR 6RAMI ?

(A) REF6A FIQ 2ITERUER (B) FAIR6Q FIQ 2IFTERLER
(C) QUNATER AR 2IFEREER (D) QIQIAER RIQ 2IFERUER
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34.

35.

36.

37.

38.

39.

40.

41.

42.

AITELR, ARIVIGT PR ARUD G& IO YT ARER 629 AR Q& 6IRAM ?
(A) 2eQ (B) 6l

(C) 299l (D) @@

20d°2 629 RI2| AYERNIER Yy PLa goF @tgem ?

(A) d6oq AU (B) I AIRICQM
(C) MR (D) Q¢ FLIQElIE

‘AT AR2R’ 2 R6R F8 NQ 620 AVIR AR Q@Y ?
(A) 219@ (B) 2Rl
(C) sglglal (D) QIRYId

‘9281 RIg) —N2Ig AU YER YUISR FER /¢l 629 ?

(A) 929 RT 629 (B) 0@ Q99

(C) 029 Ie IR (D) Q2PN RO 62N

‘AR’ — 12 996Q ‘@’Q QIR & 6218 ?

A) ‘@’ ed ‘@ asa ‘@’ AN (B) ued ‘@’ 96Q ‘@ Y
(C) ‘@’ 96a ‘@’ &Qlg (D) QINIR QU
‘g0’ - 9@ 9a6Q ‘A !ILE ‘Y’ 62RRIE ?

(A) QIRUIR VR (B) <v@qe el

(C) 6Q628@ a8 (D) IV Youa IS 629

‘qeQ’ 186R 699 JRIQ BYR BT ?
(A) Q9299 (B) QIedQ
(C) QaIQ g (D) ©&Q @e

‘2edd’ — 9T 990 699 gRIQ AGR 26 ?

(A) QBee (B) QNIQAGS
(C) Q689Y, F684I0Q (D) Q9809
‘NG — g8 QAT @'§ AT ?

(A) QJede (B) QueQ
(C) QQee (D) QLR
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43.

44,

45.

46.

47.

48.

49.

50.

RO Y9 AQAIER 00 621RUR INIQ AIF QI BIRE FNIEIEH 6P AR IR}
YR RUECR S I 6QQUQ 29 | 9@ QIR A GIAAIGY @' QRILIN ?

(A) 219 (B) di@

(C) 98 QI YA (D) QY

QG AIP6Q 6915 9@, gGT dIeQ AFQ A°6ll QIQ), IR 9919, VY, 97 I° 6618
UFQ RUEQ UG 62R8A 2R R @74 ?

(A) Q€N A YA (B) @8Qa QlaQ

(C) Qeralg (D) SSAURRS]

gae 2g6a (VU6769) YRS 28 (RAAIF) @ ARSF| I FE FRAUAER 92 @
JdeIQ A 29 ?

(A) QOR (B) @699l

(C) a9l (D) Q9@

QUAR B QUACHID IR UKD FDO, /RS 626M I° RUCFILER RAAFR 2RI
626m 92| & JRIQ ARTIQ 29 ?

(A) @o6gsl (B) @l

(C) @aR (D) Qo<

‘o189 QLe ad @4 26e ?

(A) 2%Qa (B) QIR

(C) @2 @ Q8 2019, !IF6Q AGLS! (D) qea AQUdG6R Agam & Qo
‘Qell 9Rige’ 26R LS QPT @' ?

(A) 927 9269 (B) IO 6219TS!

(C) ¢IN6R ARIRS (D) QN6 21 629

6816 AITQ G AW — 12 CRINIIGIT 629 28 gRIF QS ?

(A) 68I¢ 6QIR 629 7168 FRAS| (B) 981 991Q 2R A6

(C) €34I912 geQ 991Q @6a (D) g9 TU6Q LATAS!

2R S S ARIFSI6R AR 2AA A | —

4@ 28 gRle @929l 6RINACS 2’6 ?

(A) Q0Q W QOQ T (B) 2ULURAG6L 6910Q AE
(C) QI 6QQAQ FIAIR TN (D) 69 ¢L6a &al
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Subject : First Language Odia (FLO)
MODEL QUESTION PAPER -1

SUBJECTIVE
QG : 1 Al gq Qg : 50
2. (@) AgI9I8ALITIgE AAERQR G EIIYUULT aoRIaM IR adal @al 5
@ Al

Q80% A1diglel fgeda 5 6 96gq F9R Adal @688, QIR 6AS |

(61) QANER IRER FCI6R 611 602 Iy R 2RR ISRIAR FRYCIR QSR
IR 6QRad ? 5

@ Al
‘a9°a2l AT’ @QQI FIRIAER I B AT FIER Y AR ¢RI 99 |

9. (9) Q9 AaRIe 6RY : 5
“R0R ANER B IR YOIER AR FVNIRTR IR ANLIR AN Br §a Al 17
@ al
“QRPRT PRI 68IC A1AQ 602 1262 Q12 1”7
(¢) Qgaa aaeid 6R4 : 5

F16QIQ-6QI0Q-6841216169 @
Q68 Q99 IR, @@, 14 |
@Al
697 697 97 AFR
(1a Q6R 6062 QP AR R |

N g9 900G 48 F6a 606@16T 6QITY FFAER N 6mGl : 10

(i) glafie dgi6a AIRXITIQ 9QQ
(292€ — ANV AR/ — ARV FFIQ QAL — FIAFR TR AIQLRVIR
IRV — RAALIQ)
(i) AR BG4l J0R6a YR QAR
(299 - gI91e 6E48I — BG4l 0R6R Y9 48 — 02 §A — Q9°2IR)
(i) &1Q A9 A&
(200 - 38! 99 9fed - 19Q RIS gaIe — 99a9Ida UIFS QUSRI
- QUA°RIR)
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¥. g9 ood dR6Q A9 6Rd : 5
(@) NIANQ AARAC FFAER AR @G AR VUR FRER AQ RS |
@ Al
Qfl 99ER UIRe ALIER 64IF6RR U QT FRCR UQ 6RS |
(81) 919 RooG ARER QQHIS 6Qd : 5

Qfl LEREQ IR gIlY PIRAQ 6HIR IR ALIPIFUIRE FREQ PHIL 6Rd |
@ Al

Qfl 2AZREQ QRAUQ FQIQ RIS 6207, YA JORIQ FCI68 FRQICY AN
FROQ @Gl Mt |

8. §¢ 9ok UQeRet 9¢ I2IQ 96k QTR 99 2@a 6as :  2x5=10

2l §91 Y689 QAUWA JLR-6FRR | HRAE ¢ 60 UGS QA | 92l §Q-
JNQ AR IR QARN6R ARART I'9° FATR IR0 ARIQSNR F168 29 | RITR
RAQ @ UOQ RUG FUER MRUIF G L GIME | AP 017 IER B QB 6N
919092 641 2009 20 AR | Y98 9R6Q ARAR QYIS 6 YS! 629 FAFR
AQET AC 6T | RIGAIEE NDIQ LYK MY 69Q2S | 647NIER QO 483 | 6AFER
galgl 6g616Q galgl 621Q 64Igel AFAIQE | dYiw AR G A 6291
2AINIRG F12 | 98 6QHIRA 62IR 6L FIR | IR VNG AFR FEAQ ACFFRD!
2139 RIRE ? LR B ARIQY 919760 IR J3T R T9I0G 2GALER TERARIR
2IQ84RG! Q12 1 g4I, ANl B 94IAR 2IE AR 6899 §9Igy Fq¢ Ade goal
RRQI6a AR 622 A2 | 681999 A9 RIF6Q ARER FRTG AQYERE IR QIR
2ABRIH 62IRAUT | FA 9@ AV6QAIGT IRIFFRD AITIQA - 2| ANS 6RARAQRIR |
goeIa afgd gals QF0 62¢IKIRE | RITRAFER YOI, 7 IF6R [ID ?

q4419@1 :

(@) @49 gQIay A°Ua ANARER IRAR! 26S' ?

() 2ARER QSR B 920! 6991 ALE R AR A 621Q8 ?
(9) IR gl 6§4116Q JaIF 62RUR 6QIGNQI FAQ ARAIQS ?
(2) QufIe 0Qdd6a g6oia 6896Q @'¢ JUIR USRS 621RAT ?
(%) 689 0168 MAUIR 9F 9F SIRE ?

\/
0’0
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Subject : ENGLISH
Model Question Paper — 1

OBJECTIVE

Time : 1 Hour Full Marks : 50

1.

What, according to C. F. Alexander, should our lips tell ?
(A) Godis great.

(B) God has created all things well and wisely.

(C) God's creation is beautiful and wonderful.

(D) Godis Omnipresent.

Find the odd season out as mentioned in the poem ‘All Things Bright and Beautiful :
(A) Winter (B) Summer
(C) Autumn (D) Summer and Winter

Why does the author write ‘the house’ but not ‘a house’ as described in the story
“A Letter to God” ?

(A) Itwas a particular house found in the entire valley.
(B) It was the only house found in the entire valley.
(C) Iltwas Lencho’'s house found in the entire valley.

(D) Itwasthe lonely house found in the entire valley.

Which statement justifies, Lencho’s deep faith and confidence help him overcome

his misfortune in light of the story “A Letter to God” ?

(A) The postmaster decided to answer Lencho’s letter on behalf of God.

(B) He collected money from his employees and friends to help him (Lencho).
(C) He sent seventy pesos to Lencho on behalf of God.

(D) Allof the above

What does the phrase ‘humble lay’ mean ?
(A) folk song . (B) sweetsong

(C) ordinary song (D) sadsong
13
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10.

11.

PW -5/23

The expression “the plaintive numbers flow” refers to :
(A) Sweet music (B) Sad music

(C) Oldmusic | (D) Modern music

“l am still paying the penalty of another neglect.” What kind of neglect is Gandhiji

saying about ?

(A) his bad handwriting

(B) his non-participation in gymnastics
(C) his negligence in study

(D) his carelessness in managing the time

Gandhiji retained the notion that good handwriting was not a necessary part of

education until

({A) hewentto England

(B) herealised his mistake
(C) herepented of his neglect

(D) he saw beautiful handwriting of lawyers and young men in South Africa

‘At least take a suggestion or two from me’, said Grandfather to
(A) the zoo authority (B) thefirstkeeper

(C) the secondkeeper (D) thewatchman

Why did grandfather walk briskly out of the zoo ?
(A) He got angry with the keeper. (B) He did not believe the keeper.

(C) Hewas late for home. (D) Hewastoo much worried.

The girl prefers forest notes to bridal songs because :

(A) The music played by the human being is sweeter than nature.

(B) The traditional music has its tremendous effects on human being.
(C) The music of nature attracts the girl.

(D) The bridal song is sweeter than the forest music.
14



12.

13.

14.

15.

16.

Which of the following expressions has been used by the daughter in Village Song’

to express ‘loss or sorrow’ ?
(A) Laughter of the Sun (B) Wind of death

(C) Voices of the fairy folk (D) Notes of the forest

“Cadences of Sorrow” — Choose the correct alternative to understand the line/

phrase :

(A) Pleasure and pain comes periodically.
(B) Pleasure and pain comes simultaneously.
(C) Pleasure and pain comes randomly.

(D) Pleasure and pain comes spontanecusly.

Which of the following statement shows that the master in ‘The Flower School’ is a

hard task master ?

(A) Hemakes them kneeldown on the veranda.
(B) He makesthem sitinthe room.

(C) He makes them standin a cornef.

(D) He makesthem stand outside.

Rongali Bihu is celebrated in Mid-April in Assam. Which festival in Odisha marks the

start of Odia New Year ?
(A) Maha Vishuba Sankranti (B) Makara Sankranti

(C) Akhaya Trutiya (D) Dussehra

You read the topic ‘The festivals of North East India’. Your friend has formed an ‘Indie

Band'. He is interested to take partin _____ in Arunachal Pradesh.
(A) Kharchi Pooja (B) Wangala
(C) Zerofestival (D) Hornbill festival

PW —5/23 15



17.

18.

19.

20.

21.

PW —-5/23

Why are the seven states called the ‘Land of Seven Sisters’ ?
(A) Because of their interdependence

(B) Because of their diverge culture

(C) Because of their same boundary

(D) Because of their religious importance

Which is the right way for abolishing the practice of begging completely in our country ?
(A) Providing them employment (B) Providing them houses

(C) Providing them education (D) Providing them financial help
Lushkoff bowed to Sergie and departed to the gallery. What do you think about Lushkoff
from his behaviour ?

(A) Heis humble and polite. (B) Heisrude and courageous.

(C) Heissimple and innocent. (D) Heissimple and sincere.

As stated by the beggar, he was sent away from the Russian choir for
(A) drunkenness (B) swindling/cheating

(C) laziness (D) his lack of skill

Which of the following pie-charts represents the composition of pure air ?

Nitrogen

Nitrogen

16



22.

23.

24.

25.

26.

Which statement is not a statement of Jumman Sheikh ?

(A) | “Money does not grow (©)

Sivtieas hare™ Let is be Algu Chaudhuri

(B) It is your show. Have Long live the God
anyone you like. (D) that is the panch !
While returning from the market, Samjhoo Sahubrought ___________ which he then

sold in the village.
(A) ghee and sugar (B) sugarand oil
(C) gheeand salt (D) saltandoil

Which statement gives the clue that the oldman was able to walk and physically fit ?
(A) The oldman managed to walk with the help of two crutches.

(B) The oldman was brought before the King, walking with one crutch.

(C) Theoldman could hardly hear and walk.

(D) The oldman entered walking easily and without crutches.

One day some children found a grain of corn in a ravine.
(Find out the most suitable meaning of the underlined word. )
(A) river bank (B) adeepriver

(C) averydeep narrow valley (D) across a very deep river

Which of the following programmes has not been suggested by the author to reduce
air pollution ?

(A) The government has inroduced cleaner fuels like CNG and LPG

(B) Burning low-sulphur coal and oil in factories

(C) Automobile engines have been re-designed

(D) New cars have been equipped with catalytic converter device

PW — 5/23 17



27.

28.

29.

30.

31.

Hil
I'm Vicky's
Brilliant Brain.

Here, Vicky's brain is displayed :
(A) forthe visitors to stare

(B) forthe visitors to enjoy

(C) forthe learnersto glance

(D) forthe learners to gain knowledge

Which of the followings is not an effect of acid rain ?
(A) washes away nutrients from soil

(B) traps the radiation that reaches the Earth

(C) irritates the sensitive tissues

(D) affects stone buildings and monuments

The Brain says, “l was a part of a living human two years ago.”

Here, the underlined phrase refersto :

(A) Vicky (B) Vicky's Brain
(C) Vicky's Father (D) Lorraine
Smokinginyouth ________thebody,and ________ the brain.

(Choose the correct pair of words to fill the gaps)

(A) Stunt—Sap (B) Stunts—Clouds

(C) Stunt—Cloud (D) Sap-Clouds

The Annual H. S. C. Examination______ on 21st February, 2025.
(A) will begin (B) isbeginning

(C) begins (D) hasbegun

PW —5/23 18



32.

33.

34.

35.

36.

37.

38.

The cricket matchisover He ___________ home by five o'clock.
(A) willbe reaching (B) reaches
(C) willreach (D) willhave reached

Pick out the correct grammatical sentence :

{A) Notonly the boy but also his friends is guilty.

(B) The boy or his friends has to repair the chair.

(C) Neither the boy nor his friend are playing cricket.

(D) Either you or he has taken my pen.

We call Gandhi “Father of the Nation.”

The pattern of this sentence is :

(A) SVO (B)
(C) SsvVC (D)

The subject teacher in addition to A-1 aspirants

dial class.
(A) is (B)
(C) have (D)

| have a lot of friends but none of them

(A) hasnot (B)
(C) has (D)
Idon'tnoticethem _______ down the tips.

(A) note (B)
(C) wasnoting (D)

Unless you write in good handwriting, you
(A) donotget : (B)
(C) willget (D)

19
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SVOO
SVOC

attended today’s reme-

has

are

attended my birthday party.
have not

have

noted

to note
good marks.
won't get

didn’'t get



39.

40.

41.

42.

43.

44,

PW -5/23

ltissaidthat_______is better than cure.
(A) preventive (B)
(C) prevension (D)

Pick out the correct grammatical sentence :

(A) Youweremade to stand up. (B)
(C) Youhave made stand up. (D)
Theegg—__if she had not dropped it.

(A)  would not break (B)
(C) will not break (D)

It is time to ring the bell.

It can be passivised as :

(A) Thebellwillbe rung in time. (B)
(C) Itistime for the bell to be rung. (D)

People said that he was a sincere teacher.
It can be changed into passive voice as :
(A) Itis said that he was a sincere teacher.

(B) Heis said to have been a sincere teacher.

prevention

prevent

You were made stand up.

You have made standing up.

would not have broken

will not be broken

It is time the bell to ring.

It is time the bell being rung.

(C) Hewas said to have been a sincere teacher.

(D) He was said to be a sincere teacher.

Mita said “Let’s play cricket tomorrow” — It can be changed into reported speech as -

(A) Mita suggested their playing cricket the next day.

(B) Mita suggested them to play cricket the next day.

(C) Mita planned to play cricket the next day.

(D) Mita said that they would play cricket the next day.
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45.

46.

47.

48.

49.

50.

The belief that fate rules our life is very common. The underlined clause functions as -
(A) an object of a transitive verb - (B) an object of a preposition

(C) the complement of averb (D) inapposition to a noun phrase

Ateacher’s teaching should not be difficult to understand.

The underlined word can be replaced by :

(A) make off (B) makeup
(C) makeout (D) make over
Thereisstilnocure __________ AIDS.

(A} of (B) for

(C) about (D) with

He has resigned from his job, which is surprising.

The underlined clause is :

(A) Nounclause (B) Adverbclause

(C) Defining Relative Clause (D) Non-Defining Relative Clause

Raju ran so fast that he won the match. The subordinate clause in this sentence is an

clause.
(A) Adverb clause of reason (B) Adverb clause of purpose
(C) Adverb clause of result (D) Adverb clause of concession
| saw her cross the road.

The function of the underlined non-finite verb is ;
(A) subject (B) object
(C) complement (D) adjunct

*
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Time:1H

1. (a)

(b)

(b)

PW -5/23

Subject : ENGLISH
Model Question Paper — 1

SUBJECTIVE

our 30 minutes Full Marks : 50

How did Lencho react having seen a letter for him with seventy pesos ? 5
OR
How can a pupil prove himself an asset to the nation ?

How does the poet describe the summer sun ? Is the summer sun in India
pleasant ? Support your answer. 5

OR
Cite examples from the poem “From the Formalin Jar”, that support the

statement, ‘Vicky was a caring person in the family.’

What reasons are responsible for Gandhiji’s aloofness towards gymnastics ?

23
OR
What are the main features of Kharchi Puja of Tripura ?
What does the child say about bridal songs and cradle songs ? 2%

OR

What message does Dr. Reeta. S. Mani give for the young generation through
the poem, “From the Formalin Jar” ?
Read the passage below and write a summary of it : 5

Time management is the process of organizing and planning how to divide
your time between various activities. It is a valuable skill that helps students and
professionals alike. Effective time management allows individuals to achieve
more in less time, reduce stress and increases productivity.

One of the key benefits of time management is that it helps prioritize tasks.
By focusing on what is important, people can achieve their goals more efficiently.
Moreover, it ensures a healthy balance between work and leisure, which is

essential for mental well-being.
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To improve time management, one can create a schedule, avoid delaying,
and set realistic goals. Developing this skill not only leads to success but also
brings a sense of accomplishment and control over life.

OR

You are Manaswita / Mrinal, the monitor of Class-X in your school. Your school
recently organized an inter-school sports competition. Write a report about the
event to be published in the school magazine.

3. Write an essay, in about 200 words, on any one of the following topics, keeping to

the outlines given: 10

(@)

(b)

(©)

4. (a)

(b)

PW -5/23

AVisit to a Book Fair :

[Location and time of the fair — how you reached the fair ground — scene of the
fair ground — special attraction — how you enjoyed it]

Your Favourite Sportsman :

[Name and appearance — achigvements — skills and qualities — challenges
and struggle — impact on'Society — conclusion]

Importance of Good Health :

[Introduction — physical benefits of good health — mental and emotional benefits —
social benefits — intellectual benefits — conclusion])

Suppose you are Smita Patel, the monitor of Class — X of V. V. Giri Girls’ High
School, Berhampur. Write an application to the Headmistress requesting her
to accord permission to go on a picnic. 5
OR

Imagine you are Priya Tripathy residing at Bapujinagar in Bhubaneswar. Write
a letter to your friend Reena/Reena Mishra of Bhanjanagar inviting her to spend
‘X’-mas holidays with you.

Read the passage below and answer the questions that follow, each in one or
two sentences : 1x5=5
David was a very obedient child. One day, while coming back from school, he
found a wallet lying on the road. At first, he was hesitant but then he picked it up.
The wallet was full of money. It also had the owner’s picture and address. After
school, David went to the wallet owner’s house. It was a huge mansion with a
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beautiful lawn. David met the owner and returned his wallet to him. The wallet
owner was a very humbleman. He thanked David and rewarded him with a
beautiful pencil box. David reached home and narrated the incident to his mother.

She felt proud of her son and gave him a big hug.
() Whowas David ?

(i)  Whendid he find the wallet ?

(iii) How did he return the wallet to the owner ?
(iv) Who thanked David and why ?

(v) Whatdoes ‘it refer to in the third sentence of the passage ?

5. Translateinto English : 5x2 =10

FIAR AIFQANER 2R Qe VE AQRE | FRENEAER 6R0R AT A8 F1l AI[AE
QGBS | 6ATIRGE Yl GRQ F0 QB 1 6RICTMCISE FMIA] 1] 99 FQRE |
6ACIRE G094 ARG AQRIRQ A 6991 RFQ |

@

AR — QEAIE, Q67 FPTUR PRl SR ?
QeI — £ A9, RIS RIS |
J9e — Q67 @Ad dgm ?

Q6N — 2FQ P20 AP 68 2R | ¢] ALIR R 92 0PI AWIA FEA |

L
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Subject : Third Language Hindi (TLH)
Model Question Paper - 1

OBJECTIVE
Time : 1 Hour Full Marks : 50
1. el = fay @ 9 7
(A) s v (B) Hfeqan
(C) wrE=m (D) TE=R
2. gl Aa-ma & ¢
(A) I T H Ui (B) 3T =X I Bd W
(C) WA W H (D) 31U = |
3. Y W gE G R HA A ?
(A) Tarfa (B) afs
(C) wifa (D) Fewanfiz
4. gorH 4 78 mem o9 A e 2
(A) TEA (B) @A w &
(C) =i &= (D) TN g F
5 39 TER T B Y TE 7, T ...
(A) TR et 2 € (B) R T et £ |
(C) &at |y wiEm g | (D) " ST € |
6. ‘I U % U W — 39 T § 9 E 0 B |
(A) s (B) ==
(C) & feru (D) =
7. ‘= o fom fm il
(A) T (B) wfifer
(C) ga fem (D) e i whfem
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10.

11.

12.

13.

14.

15.

16.

TgaTE H3 g |

(A) wFE - (B) W
(C) wwhel (D) Afrs
TTE” o1 SgE W FT R 7

(A) wet (B) wferat
(C) mwferd (D) wferi
“Ig’ 1 for wfasa Hifse

(A) W (B) ¥t
(C) wfen (D) et
“wp fomept’ foar & Hid o 74 | Fan HE o1 7

(A)y oz (B) wmg
(C) ==t (D) TR
“=tg 1 T wiae § wh-H R AN 3N B 7
(A) i (B) 1w
(Cy =< (D) =i
TS 1 AU IS H o2k O & 7

(A) fergrm (B) WeER
(C) = (D) =fas
“Da’’ FEE T T aeE-Tean 8 ot ug = ov

(A) I e g (B) wiven wmer
(C) H=ft e (D) <@
ot R YT W qH ————— IR & e R
(A) F= (B) 3AeHE
(C) famai (D) e
ufvEesit 3 3= H fererenT TTRE qH ?

(A)y foerea (B) Torearm
(C) wwitet (D) ¥ FrwE
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17. 1 & S % ¢ F91 hgl €9 8 7
(A) g=rarg
(C) Imeftag

18. for8 u=E U Fa7 foea & 7
(A)  FIRTR
(C) waft Ssy =

19. T 3 firgrt #t sweE o |
Yiferd 9e & N H1-HrE Ghid a8 ¢
(A) FEH '
(C) wEH 1%k

(B) 3T Aot T =t
(D) ufvea =R 1

(B) WY FH
(D) 31fereRTvr R

20 H4wli=____ o qfed =9 = g 7
(A) T (B) T
(C) Wi (D) FHH
21 g = fatn fe-fe & forment smem f-f @ar 2 7
(A) & ® (B) s
(C) W (D) &gl &
22, ieft & T e off ?
(A) T (B) wreht
(C) sfef (D) 3l
23. @t foaeepH= &1 T9E har o 7
(A) et (B) fwm
(C) =m (D) hieft
24, ForH BWRT VRTINS T 8 7
(A) TemFTa (B) WA o ol &
(C) T Feaa & (D) WA % &aar |
25wt ub %l g8 ot 7
(A) STH (B) seett
(C) e (D) 3w
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26.

27.

28.

29.

30.

31.

32.

33.

34.

PW —-6/11

‘g wE WA | e e fra veR s wEam R 2

(A) I T (B) W T
(C) I TN (D) Tam=es e
®E+A=_ | T UEN Sgaed ¥ FE 7

(A) ®HEA (B) Trem

(C) Fr=lia (D) form

ST Uk AT 3oivg B TR o | 39 are § famiver sifen |

(A) iz (B) et

(C) == (D) TH

IEE WA B 2 | 39 IR O 37599 Ug=TU

(A) wm S (B) W H

(C) =mg (D) %

Tl < TG HeRT BT B | Wiieha 98 or ehT 1 3o 8 7

(Ay o fersteor g1 (B) TEFUEIUE
(C) W =EeIgeh e (D) Taeraieanaes =4
THYET YT ST BT SUATH F4T 8 7

(A) ®R3RM (B) fart

(C) == (D) farem

fircreiet & <am 6 smafy fras ad a o 7= 2t ¢

(A) (B) &

(C) <= (D) =W

TETeE Iui 1 TH-TAH FAq13C

(A) weH e (B) Alch

(C) ™ wew (D) T

gt & -3 fad=a T S 9w 30 ug ?

(A) TESTI (B) T

(C) wergTm™ (D) i@
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35.

36.

37.

38.

39.

40.

41.

42.

43.

o2 o TSl i1 SIaT9 ANl 2, IU T hed 8 ?

(A) I

(C) fopam

‘I’ IUET TN e BIfeT ;

(A) SgEm

(C) I

A=Y fashed T ‘3 TeagaTen e & 7
(A) <=

(C) SsmEm
‘foramae’ &2 # Yo YR

(A) =

(C) form

‘T&Y 1 mETef T #

(A) bl

(C) d=mE

‘grefi’ w1 wuTTeff e w2 7

(A B

(C) ™

frR e Ty IR aldEs W few g 7
(A) wfom =+ afwi 3

(C) i & AfFepi 4

H-T T ¥ ™6 hH g 9 welt ?
(A) T

(C) wrh

e ST @) | g aEE fRA wE H R 7
(A) wfgy TwH

(C) W= T=HH

29
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Y & HfTR A
g & Afehi 4

L |
ARG

T A

[ Lel
dlcenllodss d4dHlA




44.

45.

46.

47.

43.

49.

o0.

AT B 1 S 1 HEEE B 7

(A) F¥I@ ~(B) e wmh
(C) wg-z=A (D) =g Ert
‘g 1 U g ® -

(A) 3SIH (B) 3sH
(C) wu=H (D) ™H=

‘FREAT &1 faulid veg - weg 7 7
(A) W& (B) =TT

(C) marm (D) =R

= fopnan | @ r 1 oo weg Bifev -

(A) W (B) &IW
(C) A (D) ¥
Y T T R | 39 e O ferm wen S S R 7
(A) §IH (B) fax
(C) oFh (D) TR

f= A ¥ o wde TR ae SR

(A) T 7 =T | (B) s & |
(C) == T & | (D) 9 et & | |
fo ol § § G v R DI ;
(A) @ fan (B) fera feam
(C) =@ feran (D) =« wE

3%k
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Subject : Third Language Hindi (TLH)
Model Question Paper — 1

SUBJECTIVE

Time : 1 Hour 30 minutes Full Marks : 50

1. Frafafes v % 5o A 52 = 10
(i) Hfem g & 91g AHTE 2TMH T T MW ?
FYE
Tzt frareRan & uf do weR % WA § A gonwEg ot ?
(i) EETS ¥ e SN 'WRRE g S 7

YT
qet wTor’ H whg wredl 1 B % AN iR w wann 8 7
2. fefafeaa st & s @ 5%x2 =10
() T8l wW A GE, FE T A 39 Ulth B R T i |
YT

‘g Y FUEHT AU ¥ AT AT WeRl, 98 & I |7 §9 Uk B 9E T KAy |
(iy g = fwin” wfaar # sfd-qw™ % w0 TN THRAE a1 2, GUH HI |

YT
‘weh freRT” AT < e W A W STEET ) WIET R gL gs ¢ T R |
3. fTm=ffas srg=oe %1 veat I8 U Wi % S @i 2x5=10

AT | HE T HACT AH gl & | 3Ta: TH Aheml & [n Tee) 3T HAT 98T | 9@
i ot wfe fepelt s | weftorar wTe s <mEdn B, 91 38 A st s =g | s,
iges Fiat s 9 2 3rest s aiv o fora ue 8 | safere e 3qat o wfa,
F[etd & 1Y VAT 1 IHeT foka T 8 |

L I

(i) T 3= b w7 AR ?

(ily T =t B T T % T g e sevEs ? 7
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(iii) TaT 1 ¥ Hig 37 oiEgs F= U § 7
(iv) =reT gt § @ snfe fehen s =nfew 2
(v) R H Y Hyeral AH Bl 8 7

4. Tmafafes ¥ @ il aie ame & &= 5 srame Hifs 2x5=10
(i) <l GAAIER AGUICQ QP LIRS |
(i) 999 ANAIRE 26AREM |
(i) RNE6Q 6919 6T UARIE |
(iv) QRYQ 9IQ1 IgIEIe @ ?
(V) Q68 ARNER AASIQ g4l |
(vi) € 21981 od A1 3gIMNIRAR AFF |
(Vi) QDG ARG AVQ 96E AYRA ?

(viii) 69 FIPER PR 621N PRI |

5. frésrgen ffafae g=t % socafve . 2x5=10

(i) ‘el grht B @ 1 3| 9re Wi 319Ul e | seeret fafau |

(i) =99 ardied s e 98 & | — 39 99 &) Y ik [AEn |

(iiiy “wYd’ weg &% YAM H U wideh G ST |

(iv) “wefl ST § 351 87 | [Wifehd UG 1 = SeeTohl a1 i v fe
fi & ferfiam |

(v) “Hefisht faameada o |7 — TEifera ug 1 form Seetet are & 3TTavash giddd
ﬁﬂTﬁaﬁam

3
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Subject : Third Language Sanskrit (TLS)
Model Question Paper — 1

OBJECTIVE

Time : 1 Hour

EH, I Foga |

IUHA: A gft. TR ?

(A) WS (B)
Sal{=t=lnl{a]]

(C) oM (D)
IR

! IUS] T HSAG: ?

(A) CaTd (B)
699GqQ6e

(C) d= (D)
EINQEL

1y e fopq g 7

(A) Treaq (B)
@& 99

(C) forggam, (D)
990

e STt San: g wafd 7

(A) T (B)
Q18

(C) =gd: (D)
eQd

ferga: waa feget symer #t waa: 7

(A) fm (B)
deQee

(C) Tl (D)

AFARGEL

PW-7/13 33

F-2

Ry
QeIQIA
ST
PRI

el

6QQ90I1Q6L

LCIEEE]

6QR6QEL

hTedH

ARG

NALERE

9989at'q

9aH:
9h:19l

Q012

9996e

Ag999s

e

Full Marks : 50



10.

1.

af*ifa=8d $wa :

ufi=reg =

(A) ¥fi=m + =
Qaieyl + @

(C) wird + =
QGleay + @

R =

(A) 981 + W
Qe + 99

(C) &8 +wd
@ + 99

gfufaad $%a -

T+ 3gHY =
(A) e,
ERIQIRE

(C) Jerim

Salnlaila]

T + T =

(A) TSeH
i)

(C) deeH
(2loate]

ufe + 3fd =

(A) ufefa
AR

(C) weifa

910

FHET: IUCY T TEsiiad JTEiaar ?

(A) =g
a’'ex

(C) T
Q@R

PW-7/13

afi=: + =
Qa8 + @
g + =
Qaeatl + @

e + 39
A6e + Q9
He + 9

AD + @

i

6RQIRIA

e

671 QIR161

2la=la]

ORIRA

g

NS

TEIfa

SR)

afi=:
QRERN
HIATCEAT:
RN



12. 3 Benfed: fodsm<s %1 Teu AT ¢

(A) Ff (B) =heu
Qo QeS|
(C) Hfa: (D) fa:
90 [
13. gﬁQﬁaﬁ:SﬁW:Wﬁ: et ?
(A) THEE (B) 3mR&HN
QUAIEER 2IOIR6RITER
(C) W (D) fiaam,
QIVER QeIeR
14. T 9Y: ICUd 7
(A) 3 (B) SeTrq
2AQQ awe
(C) ¥aeTq, (D) TR
olelalo] 218G
15. YH: YQYUH &% I ?
(A) R (B) 3TN
RIGAER 2RRIRAG)2
(C) Tm: (D) yfererom:
6RUTG LR YFREAR
16. wad qdf e Ferw st =wufy |
(A)  foparmrt <ol (B) freweed wgeff
Qalgess eQdl aeQanled 9Qdf
(C) =rred =rgef (D) Tafemmel =geff
QIpleel 9Qa odauedl oqelt
17. & wHaisiy e faud ma: |
(A) IWwH (B) e wEl
6568 SQ Q6165 91
(C) 3rTet Wl (D) Fericor wii
AR I6R A FAIacs aa1
18. ¥ sEeiten wmT fesgam Taam |
(A)  wHHfor foea (B) I e
Qdd Goral *ad gaeal
(C) =areeget faefrn (D) fomanfersiaar feeftan
QuIgyed Qo1 QAFECAVES G
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19.

20.

21,

22.

23.

24.

3TH: STfeehTIith: TauYlE 9% A |

(A) 3<h T TemT
@68 [eld geael

(C) fue™ wem
gQeuen gl

Wed 11 shalfaae: Scaafipar fefsken 7

(A) ek i et

2Q6B FAQ Q1

(C) =l et

62601 @019l

(D)

“TergeTeEeT . 3fd ®Ueh’ HET AR TEIaH 7

(A) TR
AIRIRNG A
(C) Ao

YARIQSQIR
RENHATER: shigH: 7
(A) Zere:

gl
(C) 3mH:

2y
&: TATRUSSh TEidHesfd ?
(A) =T

Qe
(C) =

QRS

feremt: wrqat foem 2

(A) Srsp=edl
48R

(C) <HI=

QA1

PW-7/13
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(B)

(D)

ST TUHT

elQyaeslies gael
eI THT
a8 gaql

I e
RQ64 Q19

TR et

2069 Q19!

eeeh e
RN R

IEETIENIE LY

aqedladnas

I
2RIY
Hq:

QQ

=

EEFSIGFI:
SR

QU

gl

2mul



25.

26.

27.

28.

29.

30.

srqufsrar aiwfen: o e 7

(A) faarfiro
QgIiAgeQIQl

(C) afama
daaqial

e faugared uwEm a1 fuga

ST TR T |
(A) gHerafEiE:
AAQVRMITRS
(C) wHereTfm:
UAQIQYITRS
da o 99 =
(A) cEfEETH
eRI6QE0R
(C) cadfe™i=
QeI 6aI6AR
et =
(A) = 2ty
@ 661096
(C) =fea s
QI 6¢I1FLe1
feama =
(A) Teaae e afem
Q9AQy Q98 ga.
(C) feum e
@ [6L
ST =
(A) wETqqEes:
AV I8

(C) wgshife:

Q128

PW-7/13
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A
AIeRQIA
TR
AQUSSQIQ

g feTiE:
UAOANIG RS
T

A QUG

LEIECIUE
Q668

[CHERIME]

Qaa60I6aR

e 3rvma:
641394 AR
Trfe s ?I‘%F-[?I_CL
R4 6¢1598 IFR. 90,

T o
@AY Fos

QA YL

FHT:
RAUIQDS
e YTE:
QYIRS



31. : YucHT BANT ITeh HIg 7 Y9MTh 7

(A) ERU:
Qaxel

(C)
Q1o

32. &: THREVE WA ?
(A) =THE:
NIQERR
(C) whifergm:

Sl[lnlle]
33. gl 3fa &1 3= 7

(A) wIFren
=Ll

(C) herafl
6@ RN

34. A ¥Ed: Eﬁ'ﬁﬂ: af= 7
(A) weH
VITEQ
(C) =
QEER

35. &: A A 7
(A) Terdreor:
A&
(C) wa:
et
TpfaTcraTd YL
36. Sifagy =
(A) ifa
@M
(C) fa
A1)
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faga

+ g4 |

38

e

QIeIeQ

GATSTH:
dlaRIld
CIZIES

QY@

meI€l

@19

21



37.

38.

39.

40.

41.

42.

TeaeEEETy: oy ?
(A) <ar

QA
(C) wmf=i:

818

& T 7
(A) =TT
@R
(C) ==m:
2QId

PW-7/13

+ <gdc |

+ ol |

39

@-;J'Q\

Ao,

1)

999

B

A

1Y T
2121} SRS
HERHTE:

QB R



43.

44.

45.

46.

47.

48.

TR 1Y S=q 7
(A) G
Sl
(C) warfaHw@:
QAR
e 399 7Ta: 9 T wafa ¢
(A) fem
Qo9 G
(C) T,
vy
Ffufgegarg’ ®: anfet: ?
(A) e
Qs
(C) =prh:
AR

wycTd YeH S Tuda

qaedt A =

(A) e CI]
BRI
(C) Fr<af<:
]
JaT fafa: =
(A) FaT
AR
(C) FFAT!
gl
oelu; S = |
(A) sl
QIQEN
(C) et
Qelén
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AIGeDQ
FROFETH!
ARSI

ST
294198
9T
qlel

‘Tﬁ?ﬁ:
aéo

o

U]
3Tad]
2RPQ1

AR

A58

Qe

QIQ1



49. wITHq =
(A)
dIGe1

(C) s
al4de1

50. ¥ =

(A) ¥H
a1
(C) wat

ga1

PW-7/13
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Model Question Paper — 1
SUBJECTIVE

Time : 1 Hour 30 Minutes

1, v wEm; SR Tges I foaa |

(1)

ypmeters]: ey fopmef wewaEaTH A 7

2

AT
T T TR WAt 7
(i) TEITRUSH Ul o BT QA 7
HYCT
The Sfe T e 7
2 S AR wrra: SR forae
(iy o T T HIA G A/ 7
A9
FY TH; T I TG 1 I906 7
(i) TR g I "ied ?
YT
TER % FA TaT: wE= = |

=R TSN SRAHN, I R0 forEq |

Subject : Third Language Sanskrit (TLS)

Full Marks : 50

o%x2 =10

o%x2 =10

2x5=10

I TeehTve T G: T TS T6E: | 8 STy SO G 3T tda
ferveren: Tormemeig | f@isfu freg g samame = syeen gpet wiemAfa | wher o s
difeat mrened AnTesq. | ;W degiaEaed - WH Fd fRiag Wsad e gt | e

W =N awaal 9o, ot T | seamamaee @ e W grae | wY
e Tergamay Same g wsmneE Jsty 3fa @ fafmam | @@ 9 ey s -
Rt ATYAT SETAUISTE Ueh: TiE: 3MEvEE: | 76l WA U T A: | afg ge ma
TS HaW | §egFcl ad: =tea: | fafaaes: q@enm st favawa fagaenm men
WO e, - W1 | e afere; afagErTisen) | uerege fie: wueerd aRfaer | W

42

PW-7/13




IHY -~ ““IEvd BY Higacd o FEetsay, s ey smres’ | ety 1ew: ame
ey amresd | faEisfu ga-ae s ey fafwe w6 diean afgeresd | e
YT guEl gamens R femved | fie aferrer @ d mwe R sfa geame |
“gfg: frfy foed, méw: fefa: wafa, s o e 7@ ¢ sfa ymelisaea | fE@isfy

ST 99 |l HIHH] HiE @Ifeeal 3iRid | 37d: g5 99 Weid -

IE 1T T TS WA W= o |
ffdarerem T gEenTg wiesafs |
TIAT:
(i) ~ohfea: fe: e fom sweq ?
(i) =T TS T GEAM ?
(iii) TérmerepTet Tean wéw: Ry atEEd 7
(iv) e ffawd sprrer: e o s ¢
(v) @ o w7

4,  FUAAAEY NI ST TRRAHTSIT TG ;| 2x5=10
(i)  asQeIdy ARIeR JF oI IR QRS YRLI6R |
(i) QCIR QAUIHER FYRE 69V AR |
(i) S A2 RIQCER IRTIQE |
(iv) Q12 QYRART 6RANR S2g |
(V) 9219918 ARA6a ANRYR ULFE |
(vi) QITI QI 912 6aQ CIFE SIRGR |
(vii) gQ&0lea @419 @8 646 WOIq 2IFad |

(viil) g9 98 Q0eq Qg KQER |

5. sufeifaar ya saager @epaumaT yus yaemERT R 2x5=10
() =HFm =
(i femah =
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(iliy = =
(v) @ =
(v) =
(vi) ¥Hq =
(vi) @@ =

(viii) = =
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Subject : MATHEMATICS
MODEL QUESTION PAPER -1
OBJECTIVE

aqa : 1 8l 15 dd¢, qd Q@

1. 605N QHIQ @92 IR AT x B I9R IR AT y 626@ A°HIT 6260 ?
(A) xy (B) yx
(C) 10x+y (D) 10y +x
2. Q99 quq 6RAE 2x —y + 2 = 0 ANMLAERQ IR QAU ?
(A) (0,-2) (B) (-2,0)
(C) (2,0) (D) (0,2)

3. x-y=09919048Q 6nESQ @9 629 2

(A) x-2Q 92 470 ANEE (B) y-2Q 9L 47l 4@l

(C) 9@ QR AQREQSI (D) 02 @ Q4 diQ kIeQ @9

4. 9x%—11x+2 = 0 QVIIRER RO YA @6 629 ?

: 50

(A) 9990 I2Q 6 AAAR (B) 990 OG6S1S G AQAAR
(C) F1 Q< 26 G 2R (D) (Qe AVNLR
5 Q6% e AR 2 —x +t=0 §AS ANIQEQ FR9A IAEAL G AR 629 ?
A) -3 (B) 0
€) 3 (D) 2
6. 2x2-4x+2=0Q27190¢Q RS 0.8 p 626m o + B! @ ClIR 666 ?
A 2 (B) 1
€) 3 (D) -2

7. 52 +7x+6=0Q0R08Q R B 626R (a0 +1) (B +1) @ AR 6960 ?

(A) (B)

(C) (D)

alh oo
gl Klo
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10.

1.

12.

13.

14.

SCHOOL 989 69159 299 ‘O’ QIZIQ ARING] :

1

(A) (B)

ol win

3
1
© 3 (D)

661G QYIGER 5T AR AW B 7§ 22G2 QR 22 | QUIG A0] @ 69F AQgI 6915
AN FPEM 606Q 2R AN @ VAR ARG 6R69 ?

1 7
A 3 B 33

5 1
(C) 2 D) 35

4R e6915] AR AR FFIRER Y QRTR-CAIGTR 210 62919 ARING| 6R6Q ?

1 5
A 5 B) &
3 1
(C) 2 D) 7

@ AFIBR g9IS6R S, £ 4n? +3n 626@ t, QAR : —
(A) 119 (B) 945
(C) 826 (D) 232

a+b (-a-b =~ =
¢ U6 gl AAIBQ YRS @9 ?

2 2
(A) a+b (B) —a-b
a+b
(C) 0 D) —%
9,16,25, ........ 42 AQRTRX S, , Q FIR 6R6Q ?
(A) 650 (B) 645
(C) 570 (D) 1010

1x3+ 3x5+5x7 ... @ 2RRIQ galF 10 G 99Q 6QI9TR
(A) 1500 (B) 570
(C) 1010 (D) 750
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15. 1,8.8; 10; 15; v @ ARRAN L 6R6Q ?
n’ +n n —n
2

(C) 2n-1 (D) 2n+1

(A)

16. Q@G IR AQREAG C1IER ZAIJE Qa6 YRR 6IAYTAQ ARLAIR 1: 4 626M
62019=a 9F QAR 634K AP

(A) 1:2 (B) 1:4
() 1 (D) 2:1
17. AABC @ ADEF ¢1RI6@ m£A=m~sD, ms/B=m<E @ AB=564. . BC =7 64. 4.
BEF=146Q. ¢.626mDE=____ 6Q. 4.1
(A) 7 B) 12
(C) 10 (D) 14

18. 99 096 AB x BC = [

A

(A) BD xAC (B) BD xBC
(C) CDxAC (D) AD x DC

19. Qg9 ©g6@ m«BAC = m<EDF, 9@ Q@& QU 68U 2gdie 16 : 25 24, 6069

AX:DY=— |
A
B~ x  ©C
(A) 16:25 (B) 4:5
(C) 5:4 (D) 25:16
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20.

21.

22.

23.

24.

25.

Fe19 9966 mLAXY =m~ZABC | 9% AX =564. 9., BX =3 64.8 AY =10 64. 4.
6@6MAC=___  64.4.1

A

(A) 6 (B) 16

(C) 12 (D) 10

60115~ PAIRIRQ FIJIFIR (M), F12IEl (Md) 99° SRE@ (Mo) 626m 645lIee FI-IER &<
ARG @8 ?

(A) Md=3Mo-2M (B) M=2Md-3Mo

(C) Mo=3Md-2M (D) Mo =2Md-3M

56 QRITQ 909 7, Y601R R 4 QQIRER JRVR 6REQ 629 ?

(A) 9 (B) 4

(C) 12 (D) 11

10 96 TAFQ QLR Q9 14 Qd | @8 66159 TR 90A YRER 20 AF 2R 621Q
QIR | 696X 6AMIFTR YRV AIIAIR QAL 6R6Q ?

(A) 14 (B) 6

(C) 12 (D) 20

x<0,y<0626@ (-x,y) 290 689 90dI96q 2dQ ?

A) Q, (B) Q,

©) Q, (D) Q,

AABC 69 A(a—86, a), B(a, a+2), C(a+4, a+6)626m AABC Q 639U% 6960 96
QR ?

(A) 8 (B) 7

(C) 6 (D) 14
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26.

27.

28.

2.

30.

31.

32.

AABC Q @629 2191 (3, 2) | A(3,-4), B(x,7), C(1, y)626m x B y Q ¢lI? 660 ?
(A) x=3,y=2 (B) x=5y=3
(C) x=-1,y=-1 (D) x=2,y=1

A(0, 0), B(a, b), C(2a, 6) 3299 IR 60619 626m 691 ANRG 0K ? (a, b > 0)
(A) A-B-C (B) B-C-A
(C) A-C-B (D) C-A-B

6FIRIANER Rell 62IR G RINER 6RIANR| AT 6Q60 T 621 ?

(A) 500 (B) 1,000

(C) 5,000 (D) 10,000

8 64. §l. @@ 9@ QITS 6dI¥ QU6 691G CCTV Q1611 9AG ¢1& F2IAIRQ 64

43 QUQ MY @M 10 64. §. QACQE YUY PRI KR UIR-ULIR AQ QFEAIR
24 1 9IFR 6QIRA AIR6EQ) AN YR A6Q GIFR 2F66I9Q 29, O QG :

(A) 864Q. 4. (B) 664. q.
(C) 1064. &. (D) 1864. 4.
6@lEd 9@ ARG QULIRPEQ RITEQI FIRGER AR NUIFER Q@RS | 64D QUYIRPER

galel ol Cj}ﬁ@_ &R ¥R AQQ 0lg 3 4 98Q Qa@! 63 €. 8 ALa 0Ig 87 98a Qe
108 §1. 626@ A1QQ 019 11 B¢ FIEQ QAVI 6@6Q €. ?

(A) 1354. (B) 111
(C) 994. (D) 126

2

69159 Qe QAT 2478 @I’} ANFTUER AAQYH AANER 67Q FAYG OR a6e ?
(A) 9990Q ATFHS @2 (B) 9@ gd a8
(C) 9Q9Q Qe 6aK6x Ade 228 (D) IR ATILR

ABCD QRI2Rd0 099 e 626/ 56419 F1Ig 694 2Red 0 269 ?

(A) %mﬁﬁe+%m/—\DC = 90° (B) %mE\_B'C+%mI&BE = 180°
(C) mABC + mADC = 180° (D) mABC + mADC =90°
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33.

34.

35.

36.

37.

AXYZ Q 6R16919eQ AAG AR 1160 SRR 0aQ 926 P, Q 8 R 896 689
RQEUEA D79 699 L6 OR 26e ?

(A) mZQPR =90°—% m /XZY (B) m<QPR =90°—% m/ZXY

(C) m«QPR =90°—% m£XYZ (D) mZ£ZQPR=90°-mxYXZ

geoa 9960 AB @4l CD @419 990 Q918 | m~BOD =60° 626@m m~BAC @ 9Q¢1I&l
6@60 ?

(A) 60° (B) 100°
(G) 120° (D) 130°

gea 9g6a PAB’ 8 PCD 629@ Q4 Q81Q QaIg6A A, B, 3 C, D 3960 680 @04 |
BC 8 AD @ 6282 99 X 99° m«BXD = 40° @ m«BPD = 10° 626@ m BYD = ?

(A) 30° (B) 50°

(C) 60° (D) 100°

LRG 2U6E1 P2l IR 23Y QANIT ASIYR 6R6VIT B1TYIF AIRS IR g ?
(A) 1 (B) 2

(C) 3 (D) 4

Qe 6969 PT 4@ 94% @4, ‘PAB 682@ PT=12cm, PA =8 cm 6268 PB @
694 6Q60 ?

B
A
= B
(A) 4cm (B) 18cm
(C) 20cm (D) 24cm
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38.

39.

40.

41.

42.

QQ6 Qea AT AAIFEA r, B r,NAR | IQ IQ AR ARIQE R @
QR0Q CaIFET P B QIQ6Q Y4 298 | PQ Q 6344 76¢)I8 AIG 6R69 IGR 626/
QRQY IR RTA41 6269 ?

(A) ynn (B) 2y
(C) 3ynn (D) ryry
QRIBRYS ANRL A ARQAIFN 8 6Q. . 626M 20 QAR AARYS AL A Q ARG
6R6Q 629 ?
(A) 864. 4. (B) 1664. 4.
(C) 2464. 4. (D) 32e64. 4.
ge@ §96a ABCD 4@ Q@I8nde 99€%1'AB, BC, CD, AD Q89 22169 P, Q, R,
S 396 28 @922 | 99 BC=764. d.;, CR=36Q. 8. 99°AS =5 64. {. 249 6069
AB Q 6364 6@69 ?
R_C
D
Q
B
S
P
A
(A) 1064. €. (B) 964. 4.
(C) 8s64. 4. (D) 7e64. 4.
sin (30° +A) +sin (30°-A)=_______|
(A) cosA (B) sinA
1 V3
(C) 2 (D) >
tan(A+B)+tanC
ABCAGS, T oA tanB - ——— !
(A) 1 (B) O
(C) o (D) -1
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43.

44.

45.

46.

47.

48.

49.

50.

sin(A+B)=% Gsin(A—B)=% ceem B="?
(A) 30° (B) 60°
(C) 90° (D) 150°

tan 75° . tan 15°="?

(A) O (B) 1

(C) -1 (D) V3

JOR6R IR ARG 918 QGG ¥2IQ AGRId R0IQ 30 4. 9asa §dg 30°6x18 @&
Q4 AR | I8Q AV 6R6Q ?

(A) 20+/34. (B) 30+/34.

(C) 25+/34. (D) 15+/34.

691G\ 69INAR MIAITG 2 G4l F6R JAC TR R9R 6JINAR AIASFR AQAIS
6QR6Q ?

(A) 1:2 (B) 8:1

(C) 1:8 (D) 2:1

60T §RAQ, AIUFR CRGTR 144 T2, 6 210 483 F°. 1 9210 ARIQ AAIL
A 626R ZRIQQ J6NR AR AL Q 63y 6Q6Q ?

(A) 24. (B) 4.

(C) 64. (D) 34§.

60T QAARI A°YD Q@R 6AFYTR 41 Q. §. 6 A°gS FIIQ TY1 UGS 90° 626m
QIR 6QQTR 6960 ?

(A) 2nQ. 4. (B) 4nQ. .

(C) 3ra. 4. (D) =Q. d.

69115 69IRRR IAIF 100% Q& 626M AILFR 6969 JFII0 Q& 629 ?
(A) 100 (B) 300

(C) 400 (D) 700

QNI IS 6916 FFA QAT 6RIRA 9] APVIQ AFLUS X : y 626/ 6AFINTA FFORA
6RQUR Q AL 6R6Q ?

(A) x:y (B) x2:y?
(C) x:y? D) X2y
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Subject : MATHEMATICS
MODEL QUESTION PAPER -1

SUBJECTIVE
aqg : 1 ael 30 §de g4q Q@ : 50
1. (@) QYR ARG ALAIER AR | : 5
11x+15y+23=0
7x—2y—-20=0
@ Al

(b)

(b)

PW -3/16

- = 1
QAG QIR 6ANATR 25 B AT QIRY AUTQAR CLNTTR 7 626M AHYIQD
0QUé @Q |

qdad 6q 98€e AR AL AR ; 5
12 +x-6=0
@ Al
QR QR IQ 9R6R Q9L g0 696 8 @.41. | & 92| 69100 gonea 15 @.41.
8 6910Q UQQYRER 22 @. . JIQ 5 A4l AR G, 606Q 69100 ALl Y& 694
oda Qea |
60T QAR QAR 696 QA gF 30 &. §. 1 ga 12 A4l AR AR 696!

QA9Ig3 53.4. 21960 QFAINM 6 9’ 9Q 12 A9 AR AR 696 ALYF 8 3. 4.
21069 219 AN | 698 FR6Q 9 QIR 641l UTRFIS QB! 6REE ? 5

@ Al
99 22a9Q gaf ‘N’ AR J9Q 6T F4A A |
AXxT7+8x11+12%X 154 -eiviniininn.

QEC NQ6CITY IR JPINEM NREAITA QIR QNI A°HIQAR
64ISTR 4 0Ig Q28R @9 2 8 AILI0IY YLOA 6291 AANG Fda @l 5

@ Al
Ay, ¥), B(X,, ¥,) B C(X5, ¥5) G989 ABC @ 36215 41999 626m 9eII8 @9

X{+Xo +X3 Yq+Yo +Y3
6d AABC @ WVACPLRN DIl 3 ) 3 |

53



3. (a) Q¢ A€ 284S 2INRIR A FLY AR : 5
qQ°ele |5-10(10-15|15-20|20-25|25-30 |30-35|35-40 [40-45
QdQe
RIQAIAGI| 5 1 26 36 41 45 47 49
@ Al
3¢ ARG 22D PAYIINQ AR 54 626R 6L FRYS F4IR1 Y6AIGER
‘Faqm fda e :
aQ°wle | 0-20 |20-40 [40-60 |60-80 | 80-100
lealeel| 7 f 10 9 13
(b) g8 @R 64 69ITT GYER FF6RIE, AR IR FYLA LY 6Q16 A2 ASA
626M, QS PG AQE 223 | 5
@ Al
gaIdl AR 64 99 ReQ AR89 6T 6615 99 P 69@ Q@ g6 1@ 4R-49e
PT e 9@ 6890 PAB 2&0 6267, PAx PB =PT? |
4. (a) AABC 6a /BAC @ Q71@¢4aa, BC @ P 396a 62@ @69 99° LABC @

(b)

PW -3/16

AQ AB+ AC
QP BC

AN eER AP @ Q 396Q 689 @6Q | 9718l /R 64 5

@ al

AABC Y& Q8I8R¢0 99912 §g | BC &4l 92 9°gs §29I9 a96a P 9
Q1 gellsl @Q 60 PA=PB + PC |

eI Qa :

V3 + cot 50° + tan 80° = /3 cot 50° . tan 80°
@ Al

69115"g diwle 611‘8‘1‘61 YRIQ JID6QE AL 9@ AIORER &l 50 4. 29 9@ 2aq d1d

B QIR6QIQ 64 2ARE Q A FIK6s 30° 8 60° 626m TILIPR AT
Qa8 @Q |

54



5. (a)

(b)

PW -3/16

6 6Q. §. @1d QI TL IR AL TYPSA IR NI B AR AT 62197 |

Q@ Q8 FIY QAIFIQ ARUR QTR T AIIAER FD AR | 5
@ Al

9@ gRAR ARIR IR AAERIEN AAFAL FYE QILIQ A4 6Ty 12 6Q. &. |

geae @9ol 20 64. §. 626 AR ANFIIORR 69TR FLO

@l (V2 =1.4)

A ABC 2&% @@ @I12le BC = 5 64. é. msB = 30° 8 AD quqIQ

6Q4Y = 6 62.61. 13 62.81. QUAIE FTQ QREA IR IR AQY TS USRS
?Q | 5

@ al

AB =66Q. &, AB @ 2: 3 29060 X 3Q6Q U2ee B y I96Q 987e9
@R |

L7
°ne

55



Subject : GENERAL SCIENCE (GSC)
MODEL QUESTION PAPER -1
OBJECTIVE

cRlee 98IR

ana : 1 AS| gd Q°@ : 50

1.

AR ARG ER T26 @R |

(i) Mg+0O,—MgO

(i) NaCl+AgNO, — NaNO, +AgCI

(iii) NaOH +H,S0,— Na,SO, +H,0

(iv) BaCl,+H,S$0,— BaSO, +2HCI

(A) 6Q9% (i) @ (i) @8 0Q (B) 6@e® (i) 226 0Q

(C) 629R (i) 8 (iv) @8 O (D) 6@9f (i) 8 (iv) @@ O
26019 AMAQEQ 6aa o2l (98F9) da cead ?

MnO,, +4HCI=MnCl, +2H,0 +Cl,

(i) HCISRIQQ 62198 (i) HCI QAP 62198

(i) MnO, 9IRG 62108 (iv) 921 9Q FI0S-ARI08 gOFa gL
(A) 69 (iii) 6 (iv) (B) 6@9® (i)

(C) 6Qa@ (i) B (iv) (D) 6@ (i) @ (iii)

26718 6996 IR QIUAY91 QAR 9OFA Q6% ?

A) 9190 QYIAQ 227

(B) C1294Q §IQT <

(C) dReQ 6RAURLR AR AT NN 8 6QIARS AYR 629
(D) REQQ IYTR LT HO A FEAIVER UASIG 629
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10.

76918 A 68QF 9@ A1 g AR 221204 ?

(A) NaOH +HCl—— NaCl+H,0

(B) Zn+2HCI——ZnCl, +H,

(C) 2Fe+3Cl,— 2FeCl,

(D) NaCl+AgNO, —— NaNO, +AgClI

H,O" 2198 SIgel @@6R pH & (RI6a FaR a8ea R Q66 ?
(A) Q6@ (B) @6q

(C) Qa6E R6¢1 B QIR V6L (D) QAR Q6L
61590 9T66C RIER pH 6R6Q 629 7

(A) 0 (B) 7Qa4R
(C) 79 @9 (D) 7

629 2IQQ Q6CYI 876 F2ig Al aIeQl AI9 QAR 60 RIQ QWA ?
(A) @@l (B) 6QI@ae
(C) Qg (D) o9l

26919 609 IQYEY 6IITR 661:F YSIFER 68IMF FRIAIN ?

(i) Au (i) Cu

(i) Na (iv) K

(A) (i) B (ii) (B) (i) G (iii)
(C) (i) G (iii) (D) (i) G (iv)

76619 6906 6Q AR AR YR FAUER ARH 0T G IS JIHIYD G5P AAR ?
(A) C,H,, (B) C,Hg

(C) C,Hg (D) CgHg

AIRERI6T6ER 2 F0R AR 661IS 6260IT ACAYER ALNFS 29 ?

(A) 20 (B) 25

(C) 30 (D) 40
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11.

12.

13.

14.

15.

16.

17.

X & QIR 29 IR IRERQ 2¢] 6Q 6R6RIT AL ACAIFY @ &g ?

(A) 3x+1 (B) 2x+3

(C) 2x+2 (D) 3x-2

6QIRYQI 3 I 6915 AUIQ X B IR 2U6RIEFR 66T1RR Y QI 900 6415@a A°6Q0
@6 629 ?

(A) XY (B) XY

(C) 3XY (D) XY,

4@ 6100 ARFNE QAT 19 626, N2 2RYFF ALYIS ARGER 69R G 3 6RQ
AGYIN6Q QIR AR ?

(A) 929 g9 @ §o1g adyie (B) Q919 g9 6 Qo189 adyIg
(C) Qo2 ga 6 9gd adyie (D) gaq ga 6 9gd adiie

AQ9IgQ 2RI Q8Q 76418 62 28T OR 26e ?
(A) Na>Al>P>Cl (B) Na<Al<P<Cl
(C) Al<P<Cl<Na (D) P>Cl>Na>Al

56919 699 2R UIR 2R @UEIER JEIAT AR 621N ?

(A) I8 QR6QR (B) PG F qri6a

(C) colsa (D) Folsa

4G ARITQ JOAREIT 1.2 626M A AIRIFER UIBRIFR 699 6R6G 629 ?
(g2 FIRINER 2IERIFR 696 3 x 102 ms™)

(A) 2x108ms™! (B) 2.5x108ms

(C) 2.75x10%ms™ (D) 3.5x108ms

691G 6ARLR AIGIR +2.0D |1 IR 6TIAY YRG! 6960 3 12 624 YRR T 62IIR
RUVIR AR YLLG 29 ?

(A) 05¢. 9% @86l (B) 0.54. agna 986QI8
(C) 2.0d.9a Q86 (D) 2.04. aa1a QE6QIS
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18.

19.

20.

21.

216RIR F GF06a Y698 Q6R 69Q A4Q ZICAIR 9F AN 8 QR A4 ZIEAIR
PRI 9T ?

(A) QARAE B ARNR (B) @19 B AQW®
(C) Q9w 8 aadeal (D) RN G ARVE!

0F 6ARIA QG PR, 20 92Q IS UICAIR GR 9N 694 AN goan 9/
Q6Q ?

(A) €90 (B) QI9IQQQ
(C) 699 dgw! (D) YA
M@ JQIF6Q K64l 819 G6RIT ] gBsal R, R, 8 R, 983 0la 6aa 921q

V-1 gIT6a @dlash, /6918 R,, R, 6 R, A6 Q08 F6¢I8 Ag 69a6
Of 629 ?

M R3
R2
vl "
0 e >
(A) R,>R,>R, () R,>R,> R,
(C) R,=R,=R, (D) R,<R,<R,

69115 @QYQ QAIEQ gF6Ng AQ aF 6I'a 9I8 R 89 IRNIVRG 2l KEM,
6Q2/6Q gIDQ 6228Q1 T 69190 ARLIN6R & IRRER 629 ?

(A) QY0 69199 AR QARG Sl 629 |

(B) 3940 6919Q TASIIE AARIRG Q&R |

(C) QY 69109 AQLNE 2| 629 |

(D) @940 69199 AR IR-9Q8 1°8 629 |
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22.

23.

24.

25.

@ QAR 6YER 48R Qe gl 4@ ARG AL ABER Q‘Q‘JG geie A 9B

Q6I6Q 626/, Y2 AUER FITIRIQ FRR GG 6XQ g 699 ?

N[z

(A) 9919 UK (B) 6163 @F RITIFIQT 629RIE
(C) QIR R (D) N@ S aeq

Joa 9960 AB B (lIER Q10 IR 6R6E 629 ?

(A) 4V (B) 2.4V

(C) 8V (D) 96V

5626048 60 6Q6Q 916 JIFE 626m FQUE 67100 ARIE 2 1 ABRQ ?
(A) 10°C (B) 10°C

(C) 10C (D) 10°¢C

26619 FIQ 69N QAR 6VQ6SIQ §&l/2A] 24IRF ?
() 20C YAR1Y 6AFERT IAARY 682 A3 QIR |
(i) QAR 6VYERTIR TG AR VIR YFEIQ AR &I |

(i) QARIY YRG! IR 2AXER 8 90 624l |
(iv) 691Q 0l6Q VY6 IR ARQ 2@ &I |

(A) 6299 (i) (B) @@ (i) 8 (i)

(C) (i), (i) B (iv) (D) 6%9% (iv)
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26.

27.

28.

29.

30.

31.

19 98IQ

29Q RINER 69Q ILRIAF YUQ 64 7P FR 9 SIF GIF TR IAIRER 62 TR
4o om @l ?

(A) QIAIRR. (B) 69ade

(C) MASAR (D) Iegden
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3. (a)
(b)
(c)
(d)

4. (a)
(b)

5. (a)

PW —-4/27
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MODEL QUESTION PAPER - 2
SUBJECT — FIRST LANGUAGE - ODIA (FLO)

OBJECTIVE TYPE QUESTIONS

AqQ : € QG g4 Qg : o
Time : 1 Hour Full Marks : 50

(63491 AR QA 68Q IR ‘F6Q AR VAR A16T AR AR ARG
AR QG ?

(A) 9o0e€r (B) QMO (C). 9090 (D) €8

‘A2P 9RIA-a006 6921”7 - YR0I6Q AR QIR LG FIIYIAR ?

A) 6991 (B) Q8ow (C) 6RdIRIAE (D) g

‘IR GBI 64 UIAQ QT - YR0I6Q IS RQ @4 ?

A) QY (B) @1¢l (C) age (D) QL6

A9 gAlda 999l AQQI6Q 76%Ig 602 Q19T 291U YR Q6L ?

A)  6dlaNQIg (B) Q81 (C) QI (D) Q91T
AR89 Q8Q ORRI 699 IR RY ?
A) 6dQSR I]Y  (B) QLAY (C) HSRSY (D) QAHg Y

“4 QIR - QPB 6991 QAGAT - Y@ JLEQ ARG 2R AAIGQT @ ?

A) LR (B) QISGT © a4l (D) AAYG1
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10.

11.

12.

PIRNG RIGPR AU 68Q AT AFRIQ 661629 QA QLS ?

A) RFSYLGT (B) @4l (C) Qg1 (D) 9LAIY
QR AU @ APIF YA @R GORAG 62RARI ?

A) d8Q ageq gdiw goan ad (B) @64l @a16Q Ydiw g9Fen ad
(C) O9dl CAFEQ P9Q YA AR (D) K& FR6Q Yis 9o A
Q60IQ RIAIAT FUIQ 60 T A6AL AT QA AE 6% ?

(A) 699 QI (B) QQ@EqIR

(C) 6Q69218 IRIQ (D) QLR AR

ge A8 RILQ 6QRAY 61 A°CANRIQ FALE ?
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QEQYIQI @ gEm ?
(A) 627199 AAR IR (B) o9& Q213

(C) Sgale @ (D) QFILAAXS AIQ
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13.

14.

15.

16.

17.

Q619 6296 9EeR JI8gILIF QIAl Q96 R AAIA IR JIR 26T ?

(A) QICRYAQ YRLIPR A6 (B) 6¢l AAAQ GBS
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A) o4 A (B) 2R AHR (C) QR 68162 (D) Y@ QI
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18.

19.

20.

21.

22.

23.

‘AT 62969 RIT AUNNT 90 90699’ - Y0IEQ ‘FC AAFP’ 69 VS YIS
@Q® ?
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24.

25.

26.

27.

28.

29.

30.

QARYLRIEQ 67 QLA 2B FRE Q6 ?
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34.

35.

36.
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aml ?
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42.
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SUBJECTIVE TYPE QUESTIONS

AQQ : € A4l Mo §Ke g4 Q°gl : o

Time : 1 Hour 30 Minutes Full Marks : 50
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MODEL QUESTION PAPER - 2
SUBJECT — SECOND LANGUAGE ENGLISH ( SLE )

Time : 1 Hour Full Marks : 50

OBJECTIVE TYPE QUESTIONS

1. What is the theme of the poem ‘All Things Bright and Beautiful’ ?
(A) About our gratitude to God for his wonderful creation
(B) About beautiful plants and animals
(C) About beautiful birds and flowers
(D) About natural beauty
2. What is the rhyming scheme of the poem °‘All Things Bright and Beautiful’ in the
first stanza ?
(A) AABB (B) ABAB
(C) ABCB (D) Free verse
3. What matter put Gandhiji to shame ?
(A) Kindness of Sanskrit teacher
(B) Kindness of Persian teacher
(C) Kindness of the headmaster
(D) Kindness of his father
4. According to Krishnashankar Pandya, as a Vaishnava learning of ................
should not be ignored.
(A) Geography (B) Gymnastics
(C) Sanskrit (D) Persian

S. God, “Send me the rest since I need it very much,” wrote Lencho.

Here the underlined word ‘Test’ refers to ................ pesos.
(A) Thirty (B) Forty
(C) Seventy (D) Thirty-five
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10.

What thought reflects Lencho’s confidence in God when he received only seventy
pesos ?

(A) The help of God

(B) No one dies of hunger

(C) God could not have made a mistake

(D) ‘God.’ If you don’t help me and my family I will go hungry this year
Grandfather used to stop Timothy growl by .............

(A) stroking his forehead

(B) smacking him across the mouth

(C) patting his back

(D) ticking his ears

Which situation finally compelled grandfather to transfer Timothy to a zoo ?
(A) He grew steadily less friendly.

(B) He tried to steal away to stalk a cat or a pet pekinese.

(C) He entered the poultry house and killed the birds.

(D) He began to stalk Mahmoud with a villainous look.

What is the tone of the poem ‘The Solitary Reaper’ ?

(A) Happy (B) Sad

(C) Emotional (D) Soothing

The expression, ‘Breaking the silence of the seas’ in ‘The Solitary Reaper’ refers

to v .
(A) Arabian sands (B) The deep valley
(C) Mountain regions (D) Farthest Hebrides
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11.

12.

13.

14.

15.

16.

Suppose you were a flower in the poem ‘The Flower School’. What message would
you give to the world ?

(A) beauty and happiness (B) anger and frustration

(C) pain and pleasure (D) sorrows and sufferings

‘The flowers were hiding underground before they bloom.’ They teach us the value

of cevviiniennn. .
(A) Love (B) Patience
(C) Truthfulness (D) Sacrifice

Bihu, ‘a joyous dance of Assam’is marked with .............. .

(A) Dbrisk steps and hand movements (B) brisk steps and belly movements
(C) gentle steps and body movements (D) gentle steps and eye movements
People of Assam are blessed with the mighty river ............. .

(A) Ganga (B) Yamuna

(C) Godavari (D) Brahmaputra

The Hundred-Drum Festival is celebrated by the Garos in the villages of ....... .
(A) Meghalaya (B) Tripura

(C) Manipur (D) Assam

The phrases ‘bridal songs’ and ‘cradle songs’ suggest that ........... .

(A) life is full of pleasure

(B) life is full of pain and suffering

(C) life is filled with opportunities

(D) life is filled with customs and beliefs
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17.

18.

19.

20.

21.

22.

A mother sings ‘lullabies’ to make her baby go to sleep. Here, the word Tullabies’

refers to ............. .
(A) bridal songs (B) cradle songs
(C) folk songs (D) devotional songs

“Kind Sir, have pity ; turn your attention to the poor, hungry man !” The
statement is said by ................ .

(A) the advocate (B) the advocate’s driver

(C) the cook (D) the beggar

Sergie, the advocate, offered some other Cleaner employment to the beggar.

Here the underlined phrase means ...c......... .

(A) the work of a copying (B) the work of a cook

(C) the job of a wagoner (D) the job of a woodcutter

Olga, the cook, proved that a drunkard like Luskoff can be changed by .......... .
(A) money and gifts (B) noble deeds and words

(C) scolding and beating (D) giving him menial work

Which of the following is not a major cause of air pollution ?

(A) Automobile exhausts

(B) Emission of industrial smoke and ash

(C) Burning of fossil fuels

(D) Acid rain

Why is the Bhopal incident called a tragic industrial accident ?

(A) Because it emitted obnoxious gases, ash and dust particles

(B) Because a deadly gas escaped into the atmosphere and killed 4000 residents
(C) Because Bhopal is an industrial city

(D) Because a large number of people were rendered blind and crippled
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23.

24.

25.

26.

27.

What is the message conveyed by the poet through the poem ‘From the Formalin

Jar’ ?

(A) Age, fame, beauty or wisdom becomes meaningless unless a person is
careful about his safety.

(B) Life should be lived to its fullest, without fear of death.

(C) Humans should not worry about mundane tasks.

(D) Safety leads to eternal happiness.

What is insulting to Vicky’s brain ?

(A) Sitting in the formalin jar

(B) People staring at it again and again

(C) Being called a specimen

(D) Having no stroke, bugs or tumour

What should we avoid in our leisure hours ?

(A) Reading interesting books

(B) Mere idling

(C) Spending time with good companionships

(D) Making interesting hobbies

Which diet proved too rich for Timothy ?

(A) Cod liver oil (B) Raw mutton

(C) Milk (D) Pigeons and rabbits

According to Lord Eustace Percy, success in life depends largely on ............. .

(A) good health (B) good character

(C) leisure hours (D) sound mind
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28.

29.

30.

31.

32.

33.

“Money does not grow on trees here.” Who said this statement ?

(A) Jumman Sheikh (B) Algu Chaudhuri

(C) Samjhoo Sahu (D) Old aunt

The wise men went to the king and said : “It is a grain of corn.” when ........... .
(A) a traveller sold the thing to the king

(B) the old man recognised the thing

(C) the wise men pondered and recognised the thing

(D) a hen pecked at the thing and made a hole in it

What practical solution can people take to reduce air pollution in their daily
lives ?

(A) Depending more on private vehicles rather than public transportation

(B) Burning more sulphur coal and oil

(C) Using vehicles equipped with harmless devices

(D) Engaging in deforestation and making urbanisation

Dr. A.PJ. Kalam .........ccceeieniennenn. a lot of books.

(A) wrote (B) was writing
(C) has written (D) had written
The girl ..oooevvviiininnnt. more and more beautiful day by day.
(A) looks (B) is looking

(C) has looked (D) had looked

Which of the following imperative sentences expresses suggestion ?
(A) Respect your elders. (B) Please have another cup of coffee.

(C) Let’s go on an excursion. (D) Shut the window.
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34.

35.

36.

37.

38.

39.

40.

F-4

The boy did not go to school, ................. he was ill.

(A) so (B) for

(C) still (D) and

The number of students watching the cricket match .................. fifty.
(A) are (B) is

(C) has (D) have

What the students are studying these days ................. very important for their
examination.

(A) is (B) are

(C) have (D) had

I still remember .................. Puriwith my father last year.

(A) wvisit (B) visiting

(C) to visit (D) wvisited

The candidates should reach the examination hall ........... .

(A) at time (B) in time
(C) by time (D) for time
Have the factory workers ............ the strike ................ ?
(A) called, on (B) called, in
(C) called, out (D) called, off

Pick out the correct grammatical sentence having a defining relative clause.

(A)
(B)
(€)

(D)

A doctor, who treats the patients is a person.
A doctor who treated the patients, is a person.
A doctor is a person who treats the patients.

A doctor was a person who treats the patients.
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41.

42.

43.

44,

45.

46.

Pick out the sentence with a conditional clause :

(A) They studied hard although they were tired.

(B) Do it as your teacher showed you.

(C) Were I a bird, I would fly in the sky.

(D) I wrote in the diary so that I would not forget.

My dog is being taken to the garden.

The sentence iS in ........ccoceveeviinienienne. .

(A) Present progressive (B) Past progressive
(C) Present perfect progressive (D) Past perfect progressive
Pick out the correct grammatical sentence :

(A) He wanted to know if it is raining.

(B) He wanted to know if it was raining.

(C) He asked whether was it raining.

(D) He asked whether it is raining.

My friend visits me every year ...........c..c.eue.... the New Year.

(A) on (B) at

(C) by (D) in

There are many people ..........c.......... lives have been spoilt by this war.
(A) which (B) whose

(C) that (D) who

My shirt needs ironing.
The passive sentence of the sentence above : ......................
(A) My shirt is needed ironing. (B) My shirt needs to be ironed.

(C) My shirt needed to be ironed. (D) My shirt is to need ironing.
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47. He said to me, “Did you know him ?”
It can be changed into reported speech as .............. .
(A) He told me if [ know him
(B) He asked me if I knew him
(C) He asked me if I had known him
(D) He asked me if I have known him

48. But though I was none the worse for having neglected exercise, I am still paying

the penalty of another neglect.

The underlined word can be replaced by

(A) not so bad (B) not good
(C) not affected (D) not mind
49. The manager could not manage his work. He .................. his work.

Change the underlined word into a single word :

(A) unmanaged (B) mismanaged

(C) immanaged (D) ilmanaged
50. Gandhi was bad .............c.c....e. handwriting.

(A) at (B) to

(C) in (D) on
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SUBJECTIVE TYPE QUESTIONS

Time : 1 Hour 30 Minutes Full Marks : 50
1. Answer the question in about fifty words : 5x2=10
a) What made Lencho write the second letter ?

OR

What basic approaches need to be introduced to control air pollution ?

b)  What, according to the poet C.F. Alexander, are wise and wonderful things ?
Why ?
OR
How does the poet describe the rainy season in the poem The Flower
School’ ?
2. Answer the question in about thirty words : 2% x2=25
a) What happened to Lencho’s cornfield ?
OR
How should one utilise one’s leisure hours ?
b) Who are the people described in the poem “Solitary Reaper” and how are

they described ?
OR

How did Vicky meet his death ?

3.  You are Mr. Ayushman Dalai, a staff reporter of The New Indian Express’. There

was a road accident in front of Govt. Higher Secondary School, Kakiriguma,

Koraput. Draft a report in about 80 words to be published in the Newspaper. S

OR
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Write a summary in about 60 to 80 words of the following passage :

Chandrayaan-3 is India’s latest mission to the Moon. It was launched on July 14,
2023. The mission achieved a historic milestone on August 23, 2023, by
successfully soft-landing on the Moon’s South Pole. It made India feel proud in
doing so. The mission aimed to showcase India’s ability to soft land on the lunar

surface and study the atmosphere.

The spacecraft included the Vikram lander, Pragyan rover and the space booster.
The lander and rover conducted various scientific experiments to explore the
lunar surface. With this success, India became the fourth country to land on the
Moon, displaying its advanced capabilities in space exploration and future lunar
missions. The failure of Chandrayaan-2’s lander in 2019 taught valuable lessons
that made Chandrayaan-3 a success. ISRO studied the issues, improved the
design, and tested systems more thoroughly. These effects led to a smoother and
more reliable landing. It taught a great lesson that ‘mistake is a great teacher’. As
a result, Chandrayaan-3’s successful landing on the moon made every Indian
proud to be cherished forever:
Write an essay in about 200 words on any one of the following topics, keeping to
the outline given :
a) A Science Exhibition you visited :
( Location and time of exhibition — scene of exhibition — different projects
you explored — special attraction — what you learned )
b)  Your Village :
( Name and location — natural scenery — occupation — food and dress —
festivals and celebration )
c) Importance of Forest :
( Need of forest — different types of forests — medicinal plants — benefits —
harmful effects of deforestation — how to conserve forest )

Translate into English : 2x5=10
ATR 6CLNRA 68 @ YIFATR AGE | 62 JAINACA FPYLE FQARE | 64 F6RT

CHREQ Q00 G0 AN KARE | 62 AIGA AR Q6D AQGEG | 64 671Q AQOIQ.
Jo 69ai@ 268 |

OR
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QG - QF, I AT YN LIRANIFI IUQ 62 |

Qg - 9IS ? @9 FIPANIFIER UG8 Al @' ?

A

Qg — €, 69 URTQ UCHIIPIQN 6€9Q |

Qg - OR &g |

i)

Suppose you are Siddharth Sankar Sahu studying in Class-X Panchayat
High School, Tangi Khordha. Write an application to your Headmaster /
Headmistress requesting him / her to issue your Transfer Certificate ( T.C. )

for getting admitted in another school. S
OR

Imagine that you are Suhani Sahu living in Baseli Sahi Puri. Write a letter to
your father living at Bhawanipatna, Kalahandi describing how you are

preparing for the AHSC Examination, 2025. )

Read the passage below and answer the questions that follow, each in one of

two sentences :

Sarvapalli Radhakrishnan was born in Tirutani, Andhra Pradesh into a
Bramhin family on 5th September, 1888. He was an Indian politician,
philosopher and statesman. He started his Primary Education at K. V. High
School at Tirutani and Hermannsburg Evangelical Lutheran Mission School.
He also received his education at Christian College, Madras and went on
serving as a professor in several universities including the University of
Madras and the University of Calcutta. He was a remarkable person who
believed in the power of education. He believed that teachers played an
important role in shaping future of our students. He died on 17th April,
1975. He was the Second President of India from 1962 to 1967.

Questions : 1x5=5
a)  Which school did Radhakrishnan go for his Primary Education ?

b)  What was his belief about teachers ?

¢) Why was Radhakrishnan famous ?

d) How long did he serve as the President of India ?

e) At what age did he die ?
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MODEL QUESTION PAPER - 2
SUBJECT — THIRD LANGUAGE HINDI (TLH)

Time : 1 Hour Full Marks : 50

OBJECTIVE TYPE QUESTIONS

1. I AT TIPS T8 ?
(A) ™ (B) 9™
(C) A (D) M9

2. G % UG § fohe el foh qo Wi &t fofon w7 2

(A) oH A (B) F 3

(C) TETersTe | (D) 7w e A
3. afieRo o1 WA TR WhET T 7 P

(A) TE-TH (B) A o= i

(C) 3 a=d HI (D) BN AW =l
4. @M % Afthed o folt -4 fasheu ITRH gAM 2

() W& (B) THEN

() wfes (D) EfmE
5. Sfied W Tqed i ¥ et 7oy frerdt @ o

(A) 99d (B) $HAE

(C) @I gy (D) 3Tl G
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it © el TS A | 39 AT # @ S |3 Biku

(a) furfa (B) Th

(C) W (D) T

‘T@’ T IFaTEH G €9 R 7 ?

(a) @ (B) weT@

(€) wEa (D) TE

Tt 1 o aftExia s d a1 g ?

(a) sl B) selH

() st (D) st

‘Al 1 Sge= &9 H® 8 ?

() Ffdfa B) At
(C) ffer (D) AfaRE
. gfgT vTeg BT

(a) Tq (B) =™

(€ U D) =g
. ‘e =1 fErTien’” <hferdT o i &1 A w1 8 ?

() AU &g ferert (B) EREwN™ T=H
() Hfyeh swor g (D) THYER A ‘et
. ‘Ueh faept’ hidar # wid =l fore 9 feu ?

(&) I A (B) TuF I

(©) <l A (D) HEHHAT A
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13.

14.

15.

16.

17.

18.

FMUTHE HIH-H HTF-Hid I QU A& HL IR ?

() Fgefa (B) ORI-sd
(€ TT-ul (D) HreEl
fora® s it I 3T Ty Y @ Bt ® 2

A) TR g1 | (B) SRR ¥
(C) Wiud e d (D) W71 &

foh ANTI § BT WA I1d i & [T AT 8 & ?
(A) g TSt AT A B) f=i @
(C) «=i & (D) Uit &
Y’ HEH! § B IE-HAE B W@ o ?

(A)  pUTEIRT (B) 3L Hferret g
(©) HM sy (D) WI¥H TETRR
HTEF % HEH H el AT i hl dar g8 off ?

() HEI (B) 3wE

© fe&t (D) 3T

e T ST T |

{ETfehd ITET hIT-H hHeh hl @ ?
(A)  FAITEH B) HH

(C) B (D) 3TferhTor
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19.

20.

21.

22.

23.

24.

25.

(A) o (B) IR

© @ (D) i
ITYH T | b T it

qMTEd TZH v fig &l 318 |

(a) % fore B)

(C) oI (D) ¥
EEIRE S=F 61 Hfdar sH-H g 2

(a) g w1 fmi fR-fH (B) HISA
(€) u foreht (D) =g 1 fErmet
3T 6T GERE haft oft 2

(&) WIEH (B) wifef
(C) T4 HLAATe (D) 3Tt
STHY ToeehTrg oh 7% oh1 T &1 T ?

(4) TG (B) TEReE
(C) THHST THEH WEEELIEIR]
3rieRT <l edaT § wfisht i amft e oft 2

(a) ®g (B) Hebdt
(©) HE (D) e
TS 4 B AR ol 991 qHEAT ?

(a) W (B) Y

(C) a@l (D) ¥e=ll
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26.

27.

28.

29.

30.

31.

(C) =™

(D)

EL]

T8 987 39 g1 W 7 | I 99 § WYh qaAT bl UgETT

(A) d'd
(C) 38
T T ST B QU HET B |

34 9199 T T ToRIV0T i 3T HINT

(A) <M
(C) B
ﬁﬁtﬁﬁ@?ﬁﬂ@ﬁ@@%l

(B)

(D)

(B)

(D)

JEId ST H {@iTehd U¢ I [oRIyuT He &Sy |

(A) TUETER
(C) UNHETES

ST 99T 37 TS |

T 99§ Th TSI | TgEIT -
(A)  3TEFH

(©) 3T

ST Shl HTET T &Y HET 8 ?

(A) 3TTTH

(€) g™
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(D)
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32.

33.

34.

35.

36.

37.

38.

Y TURIeHT 1 HYX Howl ATl B @ ?

(A) TTRg (B) <hTh
(C) R (D) S
TorTent ToR T 3R dar 6 Gftr § o Site 9w gt ?
A) rfafa & (B) WA

(C) iiaent i (D) eI &
e hal, hid hl T hl G AH o S1¢ 99781 Hehdl | hIT 99 T8 Tehdl ?

A) (B) HR

(C) Tes (D) <THTI
‘I IeC B HIF-F IUH 2P

(A) 34 (B)
(c) (D) 3

‘31 ITEIYEH weg ! fashedi H A BifeT ¢

(A) 3R (B) 1IN
(©) Feid (D) 3R
fifa’ sTeg & WY ‘TH TS TH G R G P

(a) e B) fifee
(c) Hfeh D) Wi
Fd TIIATEAT G BT, :

(a) Tt (B) TR
©) fiem (D) WIS
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39.

40.

41.

42.

43.

44.

TTH W Hehy Teg T AuHTRS Ieg BIfeT -

(A)  =hg

(C) hle

g 1 FAaTE g fofau -
(a) g

(C) s

(B) hiel

(D) Steien

B) e

(D) ¥s

1936 | TopT Tew ! Wdaar sl A1=aan et ?

(A) 3nfssm
(C) I e
3NYfeh Tl HEf S T P

(A) AT
(C) TSTheT

(B) TY

(D) HEWZ

(B) UNIgH

(D) TR IR TuTA

TETE T ST T Sigqy fohteh ETUT ST TRT o7 ?

(A) Y o
(C) IRt &

= faemeal 9 9 St o Bifen -

(A) BE

(C) HHI
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45.

46.

47.

48.

49.

50.

‘T g 1 fgedi SRomees R 9w g 2

A) Raemr

(C) et

urq fehereht 4T w9 7

() I

(C) HH

forg T @ |

t@iferd g SiH-t fpa 2 2
(A) He fopa

(©) =g fopam

‘qUT A @R R

Ig o1 form T A B 2

(A) HHT A

(© ot

gAfa’ &1 foe vreg 71 8§ ?
(A) G

(€ gifa

T w1 T faem fafaw -
(A) 3T

) Tam
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SUBJECTIVE TYPE QUESTIONS

Time : 1 Hour 30 Minutes Full Marks : 50

1. FAfafiEd s % W T 5x2=10
%) S S fawe | e % 9R H 1 e T 7 P
Jrera
T @ ISR A Wl - Tfed TIReR 1 YA HEd Bl I 18 ?
@) gt 4 HE ey firg 1 3TE fha
Jvera
Ty AT fowy # R % 91§ 990 wE W™ 2

2. Trmfafad geai & s o - 5x2=10

%) TUYHR WH g9 7’ | AT Hiar & YR W 39 36 P a0 |
Jera
=i o1 fErmen’ wfaar § ®fa 3 aa-goaw frg =1 e fer 2 | 58 2
@) QU H AT HiEl, S8 Hug 1 Wiel 39 Uit 1 A T HN |
Jera
‘g wEst H gl T 39 i A= w56 uft 1 31 a1 wisgi # ferfaw |
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frefefaa =g ! TeHt I8 T Y1 & IW T 2x5=10
ST A AU ST ok WU W 3 3ed ITER feu B N ¥ Ug-UiY qe B |
Taga ¥ guR fore fopeft atem @ wu €l 8 | AR Sfied § 3 HEaqul WH B | U
T O & IR Y Al @ AN A e SEAFI3ES T8 Hleh g4 aESH o
213 g i mff I T TgT Tk 76 BRI UM B &7, AT A TIhHT & | 18
Bl ®el-|d, 39H, e, WS, Ahel, HITH ATMC ITY BId & | USi & AN b,
S, =ereEl, Ufied, WAt 3mfe SRt 3TAT TSR ohid & | 3Ad: BH SRl HL&u
HET MY |

W :

i) TSR A GEUl STA < STURIL Sl -1 &7 SUER fem 7 ?

ii) US F Ad & IR AT eI § ?

iii) USl 9 & FAT-FIT IS BId & ?

iv) Ul ¥ AN 319 HATE HE Hd 8 P

v) & ToReRT WX ST =R 2

fen=gl ufer amerdl o1 fe=l o 1gae ShIfT 2x5=10

F) ¢ 99l 65416 6F |

@) 212 Q¥ 691l QR JAYE 699 |

M Q0% 98¢ @ KM ATRGI F6R QIR |

) @4 QA QlF 939l Alge 1T @ ?

) 69l QITl 6 AIAl AN 2d &g ¢ 90 Q6% |
I) Qle e olw Q1 qd dIdaem |

B) 60l A RLG Jeaq d9 AIE ?

) QAg , PRI AVIGE QS a9l |
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THCITER el & ST T 2 x5=10
%) WBHATCE R |
@iferd g 1 form sgat o 9T i flt & ferflaw |
@) ¥ A AW G |
TR hI I[G ek AT |
M) ‘T e TANT ek Ueh Gk e SATST |
q) AR T H R
@iferd g T g9 dedt L ar Sl TR faRaw |
$) o T w1 ur |7 39 e @ ufasrd w1 ° St e 9H: faRau |
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MODEL QUESTION PAPER - 2

SUBJECT — THIRD LANGUAGE SANSKRIT (TLS)

e : R Q_l

Time : 1 Hour

OBJECTIVE TYPE QUESTIONS
gH 3 o -
1. 3U9: el MU 6 THITHR ?
() §EH (B) = © 3=F

~

ARYI6Q AIALER Qa6Q
2. FYHM v, d fersafa |

(a) = (B). quIHq (C) HIH

(a) e (B) TR (C) AP
galle ARSI §AINgS1T
4. SETAREN: @ 9 WA %: qEEE: ?
(A) T B) T (C) IHTIT:
Qo1 QIQ Qg2 2161
5. feprren warea €: 2
(A) TR (B) A (C) =gau

R JIPeR PEACIER
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(D)

(D)

(D)

(D)

(D)

Q4 Qs : 8o
Full Marks : 50
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g wirferese - foga -

r@a_

(a) TH + 39 (B)
Qe + KQ

feruToriy -

(a) fem+=dm ()
aq + ode

T + S -

(A) I (B)
962990y

ST+ d -

(a) e (B)

eg<ilied

10. Je¥: + 9 -

(A) TEuYE (B)

gede

(A)  ITHHTH: (B)

QI

T+ (O
@ + Q@

fpn + = mm ()
@6q + e1deq
™A (O)
9630
PRIG] (C)
65/6916@

e (C)
gese

11. HEMHET: $a: grEm sEdf< ?

HAARYId:  (C)

2RI
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THT + =d (D)
Al + QR

fepm + sy, (D)
Qe + 21849
IHHE (D)
f6a1ag Y

Bpre (D)
65964

CEERE] (D)
ge6ss)

TR (D)
2189

T + T

Ql6ar + NQ

fopm + wEmm

aq + Q199
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12.

13.

14.

15.

16.

17.

18.

Ya-vaRicd! higeft ?

(A) o (B)  TewTHl (©)
qsieQl QQaal

o afea: 3TmeRoT wRIteREy ?

(A) SBaH, (B) <M (©)
gee Q4

TEAY ST TEIAHT WA ?

(A) et (B) WP (©)
SRS gqe

frfer SoM fopy SRR wafq 2

(A) HEREH (B) . 31F: (©)
Qg 2198

oy T qea: e e |

A) T@: AN TS (B) HEY TS (Q)
JaGs 69166 A ARER VY1

RIS FHemE g =T ﬁ?_‘@ certd |

a) wueH =gef (B)  Tfmm =geff (o)

AgQIea 9Qell

H: THFHSITRAEE N1 el guar |
(A) =R et
QA& Qo1al
(C) Tsrarfersror feefian
RAFEHIVES LRI

adaledl ogell

(B)

(D)
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19.

20.

21.

22.

23.

24.

st ety A

(A) WS THH B) frufw gwft () ER wEdt (D) 3rfereRtor e
QU6Q Aga RAIR68 QYA ARIREQ AGA  AYRAEE AGA

e g | g d Ty |

(A) TEIYH JYHT (B) HUN YUHT  (C) Sth HHT YUHT(D)  STSAIANT T

A6ARIER alall *RQ galel Q6Q KAS gaal  ALEQIST gealell
gH I o -
Y TERTUSH fH dfcas T 2
() fagsmesfameiq (B) IFTIRITEehISHEI
J°@ENRAR CEIRQGI 629 FAIPIeRAL CEING! 629
(C) SATHITIhITHEI (D) TTRIEEhIaHE
QAT ILRAL TEIRGI 62] A019IeaQR SIRG! 689
T’ 3 HIsd: -
(a4 = B < (€ w D)
&k Q@Y 6Qd Q9 @Q

gdeH: T I AT ?

(A) F® B) T © == o)
29 A o8 Qe
FHEI GM TUIRG STe: o5id & ?
(A) TeR (B) HH € FFH D)  fésfrm:
AR QA Q99 Jeeglliq
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29.

30.
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gy (C)

Sl

3¢ Torgare | guem [/ gusaue fada -

TEfE: -
(A) AL (B)
P8EIYQDS

e
() HETi! =l (B)

gl16a] Q6al

(A)  TITITRY: (B)
ABeRYQIS

Al =

(A) 3T HH S (B)

2l AFBIQ QA9

AT BT =
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VY100 Q8
e ©)
QLI Q6
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SUBJECTIVE TYPE QUESTIONS

AaQ : € A4l Mo ARe g4 Q°gl : o
Time : 1 Hour 30 Minutes Full Marks : 50
1. ) ey e STeRERe I 3w e | 2 x5=10
I RN (h: shigell AT ?
JAYat
fodt fopmef st T fidadt 2

©) eI Jeon fHeRt & ?
Jrera
fererehTe % ATqeve: fore 3mmefiq »
2. AL IW TR IR0 e forad 2x5=10
%) HY o fafie 7 wdem sfa T Iwer 2
Jrera
SYHTT HIelT <hrge afoe 3w ?
@) I 749 &: 9w wald ?
Jera

qAqg: HS &g T = weonf sy af< ?
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FF=g Tisce IR fore - 5x2=10
YA WEHaEg™ 3 @ &aun: Id: SRy SRaE: a1 gl |
FEASIR drgrosay “Raver” gfa sHug 23. 01. 1809 fird ferg @ 3mm |
v & forem ARw o a1 SERMEE ufier: gaTq wen = HAY: gadtd & |
AR | N famevrigwen wfastfude, | facRmmes afeshd @ e
ey fogis: dafed: | Tuegg 9e WA JTaH, SLeT9meh: Sive i FHdaar |
1840 fird a¥ TERNSTUYT RGN - HRATR T STECAMUaa | 31 <3 ddd: 1857
frd a9 ARfaon ATEHA EIETT- SR o fateav, aa gis: qeh: O ISl
T Hied TR fagegdfiaan | g sreeh: a8 Yo S gEEem fgdmen
(1864 99 ) Gt MIRIAET. |, TROTHHRITI 3TS(Ta- HRIGUSHICR gt * Fgure”’
HRAMR UGN | oA GEfa IR afgstiay ifaaread gwiegq: 4
1884 fird o gaisfu s/ 31 | 31d: IHA -

“qURHT YIS IeMed Siefd’ |
T

i) 3 fguer SAue foea ?

i) JATSEATAT FLEH™: ITHM ohd WA JasTiuda™ ?
iif) % AleRd GLaa: ToEE e ?
iv) el HY EIAENT: HRATN: &i: P

v) el HISH HRATR GLEHME: Ja: ?
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YUY YA (5) TR FEhTHTRT STATE Hed -
) 66IQ9l 99Q V99Ieg 94 !Q |

i) QIAI IR GFAQ WA AIQAG |

iii) FVUAVNFAUER AT UG AFQ |

iv) QU@ A} AR LI |

v) J9Q@ 9L6 R19916R QI2Ig |

vi) QARYI6Q 2I6F RFIRILAFER U9 |

vii) QIR 986Q QIFAIT 6Q1QT |

viii) QUE 6QIR RIS Y0I6Q ARaUMI |
FTARGATH TGTH TS FRHAHTTAT G T -
i) sfeonfa =

i) IFASY: =
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MODEL QUESTION PAPER - 2
SUBJECT — MATHEMATICS (MTH)
QAqg : € A4l 08 A7 g4 Q°qyl : 8o

Time : 1 Hour 15 mins Full Marks : 50
OBJECTIVE TYPE QUESTIONS

1. QI AR ARAIRAGQ 6RHQ YIS QU @8l 629 ?
A) Q9 (B) 4% 6Q4ll (C) 9 6Qdll (D) GQe
2. 6QQ A2AMLAS QA AAIIS ARG Q6L ?
A x+y+1=0,x+y+3=0 B) 2x+y+8=0,-6x+3y+8=0
€ x+y+1=0,2x+2y+2=0 D) x+y+1=0,x-y+1=0
3. V2x-43y =048 J5x+/2y =0 626R x Q MY 6R6G ?
A) V2 B) -5 C) 1 (D) O

4. bx?-cx+a=0 ARAQ P LAQ YITR 6R6S ?

() (B) © = >

a
b

o

5. kx?—(2k+1)x+5=0 AR JRQAQ AAF 3 626 k Q AR 6960 ?

(A -2 (B) -1 € 1 (D) 2

6. x?-5x+6=0 ANRAQ JAYA o B B 626N a2 +p 2 Q FIR 6R6S ?

w B 13 © £ (D)

25
36

7. 5x?+2x-24=0 AFIRQAE6Q ASRE 68Q AU I R FYIIFEQ VIS @@

QAR AR AR ?

A) 1 (B) 3 (C) 5 (D) 7
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10.

11.

12.

13.

14.

15.

@ QUIQIR Q9g ASEIQ @6 QRIKINg ?

(A)

(C) 9RYALP WG4l

6dlGie Qo4

(B)

(D) YAAN FEYS A

6RR ASEI

6615 RRETITY 26 AGIRER TR 8 AUITQIQ ARG 6R6G ?

(A)

1
2

(B)

1
3

(€)

1

(D)

0

398 928 8 5 @d QA g YQg! 69IN-IRl QATEM, 64 IRIT 64T g QI

2? 621RYFNQA ARG 6RES ?

(A)

o n AR GG T8I QYR AAF 666G ?

(A)

0

n(n+1)
2

(B)

(B)

S
8

n2

(€)

(€)

o|w

n2+1

10 @ 50 ¢1U6Q gl AYQ Al AR 6HIGTR 6@6C ?

(A)

1225

(B)

625

(€)

600

(D)

(D)

(D)

661G 29K71Q S, = n? +3n 626M QILIQA ARIIAS AIQ 6R6S ?

(A)

1

(B)

3

(€)

2

(D)

oo| oo

1275

6

601G\ AAIBQ JUIGEQ &Rl 56 A°HIQ 6AIITR 55 626M QL1L A°HYIT 6@6Q ?

(&)

Qa¢1 15 G 9ER A°MIQ AR AT 698 A°HYl I AAFOIQ

(A)

11

3360

(B)

(B)

25

14280

126

(€)

(€)

35

14400

(D)

(D)

15



16.

17.

18.

19.

AABC 8 ADEF §12I6Q % =’g—1§ 626 B9g 699 AREQ AABC ~ ADEF 629 ?

(A) ZA=/D (B) ZA=/LF (C) £C=«D (D) ZA=z/E

ABC B DEF Q948 GQeQ9 71U6Q AB = 8 62.41., DE = 6 6Q.91., EF = 9 62.¢1. G

DF = 12 6Q.¢1. 626m ABC 8Q%Q dQQ1¢l 660 ?
(A) 36 64Q.4. (B) 45 69.41. (C) 27 69.4. (D) 42 69.4.

AABC ~ ADEF 8 Q@9 GQ6Q 921 AFIQEREM DY = .............. :

D
] ]
X C E v F
(A) 5 6Q.4. (B) 3 64Q.4. (C) 4 6Q.4. (D) 2 6Q.4.

Qa0 986 1 L, 1L, AB=56Q.8., AC= 15 6Q.61. 8 DF = 18 6.8. EF @ 6444

da @a |
A of
B\ E
N A
\
(A) 9 69.4. (B) 6 6<.9. (C) 54 69.4. (D) 12 69.4.
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20.

21.

22.

23.

24.

25.

AABC ~ AXYZ , AABC Q 9@Q1¢1l 40 6Q.6. 6 68T 60 @9 62.8. | AXYZ Q
AQQIal 80 6Q.81. B M2IQ YFQ 6@ 20 62.4. | g Y7 9T ARC AFS A

@ |

A) 12 6Q.4. (B) 24 64.4. (C) 10 64Q.4. (D) 18 64Q.4.

n PR AYSARFA ARIAIR m | J6RYQ AFIFY (a+b) TS FEA 909

AR :
A) m-a+b B) m-b+a () m-a-b (D) mn-(a+b)
10, 15, 5, 8, 17, 3 QANIQ@IQ 1IN 69266 ? (x e N)

(A) 10 (B) 8 (C) 9 (D) 11

Md:M=2:3€Q6§R Mgy =i

@A) 0 (B) 1 € 5 (D) 6

(0,cos0) B (sin6,0) TRYA FIUEQA QARG 6R6L ?

A) 1 (B) O C) 2 (D) V2

xB yQ 6aR gAY IR (6,6) 8 (2,4) QYA A°CLIFD 6ALIYE IS° (x, 7) 8

(-2, y) Q 6D 6QFSS JAIAQ ATZHE Q@QACR ?
(A) x=6y=2 B) x=-2,y=7 () x=8y=10 (D) x=10,y=3
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26.

27.

28.

29.

30.

31.

F-5

A(0,0),B(xy),C(zp),D( 3, 4)a93q 8¢ Q06809 68QTR 6R6C QG

Qe ?
A) 9 (B) 16 (C) 25 (D) z2+ p?
A( -2,83),B(8,3),C(6,7)ddeg 8¢ A06RI81 YFx AQQ
6RG coveeeeennn. |

13
@) (7,5) B) (2,5) © (3,3) o (42

2R ATOY 699 GIF CIRR AR 629! ¥G° dIRQ 697 69QI AU6A TG ATRE
QRS QUCIQ @8 QLRI ?

(A) 6999 QG (B) 90RY Q!

(C) dgl 23l Q8! (D) G 2Dl 9@l

€GN QIR YE0Iq 15 F9a QeI Y@ QIR QLT | FITFR Y46 QA 2Q
QIR6Q 45° 6@18 QYR W6Q | 6662 FITR YLA ARG 660 FoQ ?

15

v3

Q@ QIR QGIEa gel g, {olg 8 9019, QIde MKy JaIeed 5 dag,

A) 153 (B) (C) 15v2 (D) 15

10 3G 6 15 J066Q PR @Al | 9@ QA6 Jadq RQIed QITR RRG UGS

RAQITIA 6Q6C AT QTS ?

(A) 50 99 (B) 5509 (C) 24 99 (D) 12 AQ¢
QRLAYE AIFILER 08 @ IR g ?

A) @ag (B) 2I9G 69 (C) Q90Q (D) <Id@ad
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32.

33.

34.

35.

R 98Q 698 O | A QRQ QWY @ @Q I9° AB Q@ 9@ 96 1@ 90 H4a 626,

260IQ I 699 AAAT OF 629 ?

A@
B

(A) mZBOA +m/BAO = 90° (B) mZOAB +m/OBA = 90°
(C) mZOBA +mZBOA = 90° (D) mZBOA +2m/BAO = 180°

0 6@Q T3] 99 9AQ 16 6Q.7. 6BdY QTY 6QITN Q4l, ILIQ WIAIR OX QI

Y 9Q6Q A9QHE0 99 | 9aQ QUIAIR 10 69.51. 626@ 629019 FYIQ GAG! 6960 ?

X
(A) 4 69.9. (B) 5 69.4. (C) 669.9. (D) 8 6Q.4.

QR ©Q6Q AB 1 BC, AB = %AC 6R6M mZBMC Q QL8 6R6C 699 ?

A
M
(A) 30° (B) 60° (C) 120° (D) 150°

Q@ Qa9 @@ty T QRJIN 9RF 689@ Q@9 JIFET PO Ne° RS TQ6Q 689

O~

RQE | F69IQ F1IQ 689% O ?
Q
/PQT
T —
Rv S

TP _TR (o IP_IS
PQ RS TR ~ TQ

TP TR

TP _ PS

(B) TR~ OR

(D)
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36. QR0 AE3341 QAQ AR ARIAE TR AW 6REE ?
A 1 (B) 2 € 3 (D) 4
37. A@QQ @@ 9@ 9@ 266 94% @ PO B PRI mZQPR=120° 626R, G6QIg Aag

6906 OR ?

P
R

(A) 0Q=PQ (B) PR=OR (C) OP=PQ (D) OP =2PQ

38. QR 986Q PO L QO, P B Q I96Q UG 98 g0 4@ QO 99999 TIQ6R 689

@@ | PO B OT 9Q9QQ X960 682 96/, @67Ig FQ 6990 0 629 ?

T
0]
Q
(A) mZOXQ = msXQT (B) mZOXQ = m/XPO
(C) mZLOXQ =mZOQT (D) mZOXQ =mZOTQ

39. AB,AC,’PO” 9@ Q8 96 Q4@ | AB = 63 64.51. 626 APQA Q AQQICN 6Q6EG ?

(A) 189 6Q.9. (B) 18 64.4. (C) 12:66Q.8. (D) 1269.9.
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40. @€g 9Q6Q mLAPB =72°, mZAYB Q@ Q9§ 6Q6G 699 ?

41.

42.

43.

44.

45.

(&)

126°

(B)

A

Vi

B

108°

= r

(€)

168°

2sin 0.sec(90° +0).sin30°.tan135° Q ¢lI@ X6 ?

(&)

0

(B)

1

629014 JR6Q @' Y Q@AILIG-?

(A)

©)

601G 3 figq 67dYa AR K1AA GROIg 15 feQ 96 AY KRG 696 Qal

QI8 Q@O

A99a SR1QC!

(€)

(B)

(D)

-1

TR 699

(D)

(D)

144°

6RER QARG Q ALRG

ARl | AGQ O QF AL 6260 AREER ARG ?

(A)

30°

(B)

45°

(€)

60°

(D)

75°

@ G;@I@ﬁ%l@ @@L@QGQ tanA+tan B+tanC +tan D Q 9Q7I&l 6@6Q ?

(A)

1

(B)

2

cos (1°+2°+3°+...+9°) = 6@60C ?

(&)

cos 35°

(B)

sin 36°
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(€)

3

1
V2

(D)

(D)

0

1
V3



46.

47.

48.

49.

50.

6alIN AR Jena aRIeQ ARl p 62.8. 8 @90l g 62.8. 686R YLIQ AIg

QYR 6ASTR 6060 A4 62.8. 624 ?

(a) g B) p+q (C) pg D) p-gq

@ A96RI8T SR AFERIE ARG QAYRA 12 6Q.8. G 5 6.4, | 9@ G
Q2a¢ Q9] F9 A9 Q@ QI FIAUEE §YRY JAUNCA IR AT 62I] 9T 629

(ATRTA R ARG QAR ATE 6@6Q ?
A) 12 69.4. (B) 569.9. (C) 13 64.4. (D) 17 64.41.

6910 9RQ AR 690R 64.9., YL VTR 6AF@ Qd 62.8.l QeA QUK

6Q60 69.61. ?

@A) 4 (B) 3 (€) 2 (D) 1

691N 6R1RQ ARG QAGS FACIER YL KSR 6966 F 629 ?

A) 2 (B) 3 €) 4 (D) 8

6RI5N ARGQ AIRPR (HINIPER GOQ AIHQ AL 1 8. 40 62.8. 6 Qeel 1 4.

EL6M 26Q YD 6Q416Q 6960 QA FoQ AIS Q@ ?

A) 166 (B) 166 (C) 616 (D) 616
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SUBJECTIVE TYPE QUESTIONS

Qg : € A4l No ARG g4 Qeqyl : 8o
Time : 1 Hour 30 Minutes Full Marks : 50
L XY _6 XY _

1. (@) QQIMIQQQ.x+y_5,x_y 6 (x+y#0,x—y=0). 5
@al

50 @ Y9Q QA% A°HIQ ANF Q6U JRId @ 699Q A°HIFAQ YRR
ang % 623l
b) 94 9E6Q UAEG 9Q AANIS KRR 1 14x% +x-3=0. 5
@8l
9@ 6QR4IR 300 @.4. Q1d Qg J26Q AR 69696 I° KQaRI | 9@
JIRQ 699 Q4 985 @.8. NS 62ARUB, 6969 G FEY AU
2 A4l 9oq argieca aeBalal | 6069 JIRa A4l 90 699 QU8 9 |
2. (8 2.3.4+345+456+.. AQRAQ n S 99 ANF A4 /Q | 5
@l
69T QAAIBQ JUGEQ gael x AR AQQ 6QIFTR y B gaFl y AR
JdYQ 6LIFTR x 626M YIS 2Q 64 JAF (x+y) AR JQ 6AIITR
—(x+y) 699 |
b) ©6RIT QY 6915g IRl AT JFACA RQ 69T QLA AT AIFER &S
QA PR AAF 6 0l YO YR 6lRe Q¢ IR ARG
6@6Q ? 5
@l
QIfIE QUIFE AIRIYIEQ YAIS @A 69 NPT Y QG UAANG ANGHE

@S |
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(2)

(b)

()

6QITIE AQYT gIIRIEQ Ge AIAS 2AIYY AN ARIFIF A 8 1 5

mgla 25 50 75 100 125 150 175 200

QAU [ 24 10 33 28 30 22 16 7

2l

xQ 602 A8 AR 7¢ ARG UIYY CAISRIQ AU 24 689 ?

212109

0-10 10 - 20 20 - 30 30 -40 40 - 50

QARG 5 25 x 18 7

Jeldl @Q 69 9@ SRR 66T QIg AL AR IR AR Q6 9T TYRR
AN Q@ QIRY WG G2 TQEA 68Q W6Q, 606 AP AANEAT QIA ARY

9@ QI AAQUIGER FRQUTG QAT | 5
@l
galdl @Q 69 99 QRISAYE 99YFR UG 6RIA7IF IR ARG |

691 9QQ 9@ QY AB, @ Q@ Q9Ag 9@ Qg P OI6Q ARG Q49 AL

QAFBQ 626R YIS @A 6Q, PRY 0I6Q APB AAZHES 99 | 5
@Rl

- —_ —_ e J— —~
AABC 6@ AD @ ¢RI NS° AD Q ¢’ @Q E | BE AC 9 X G96Q 689

@6m, g6l 99 69 BE = 3EX .
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(b)

()

(b)

JAia 6@lda ARCQ ARAG 30° g 6969 69IGNY AA [AA QWY

6962, 9UYQ 6@18a ARCQ TR 45° 66R BIAQ @AY G 0Ig 80 4.

Q¢ | gA0Q 90l Aga 9 | 5
@fl

AABC 6Q g9l§l @Q 64d cot A.cot B+cotB.cotC+cotC.cotA=1.

QR0 QaQ QUIAQ AQAIG 4 : 5 | I&@ 9AT QLA 6AGTR 352 Q9 6.4

24, 6069 QOIATQ 68QTR Fda 9a | 5
@8l

8v3 J6Q Q@el Gdd 6615 AR Jene 9F 691G AaQIg 9 | 1@

Jene N 864 AG A0Q 626m, ILIQ ATY IY 6ASTR ¢ @ |

AABC6Q mZA=60°, b:c=2:3, BC=7 6Q.9.] 3ge5 e @ | 5
@fl

AABC &% @Q @IfIQ BC = 6 6Q.8. mZBAC =60° 99° AD Q@9

45 6Q.8.1 AABC 6@ 9@ QA8 BQe 25 6A.8. QAT Y QNEQ

JAARGE Q9 |
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MODEL QUESTION PAPER - 2
SUBJECT — GENERAL SCIENCE (GSC)

QG : © A&l Q4 Q§l : 8o
Time : 1 Hour Full Marks : 50

OBJECTIVE TYPE QUESTIONS

‘@ - QA6 (6QI0a QRIP)
Section - A (Physical Science)

a9 goBAIT Ye 699 gIaa AAIRAE ?

Ig
2KClO5 (s) —> 2KCl (s) + 30, (g)

MnO,

QAQ6YAR
A) QIU6HIV 8 AR LR (B) QIUQQIQT FQIAe LRl
(C) QIU68IVT B A°6gIE JTQQ (D) QIYAQIQT 8 YATR Y[

Zn + (x) AgNO,; — Zn (NO,), + (y) Ag

QUEAUR AAAFR ARG 9@ AR AANIRAE 6Q6M 126Q 'x' 6 'y ' Q INY
IR 6060 699 ?

A) 1,2 (B) 2,2 C) 2,1 (D) 3,2

Q6€IQ 699 ATEIT A°VIQEA IR AFILAE 6L ?
) 9919 2R Qer
i)y QLA ARG NFS
i) @R AFQ 2GRS AL QI
iv) QAIQ QAT Qe

(A4) (i) 8 (iv) B) (@) 8 (i) (©) (@) 8 (iv) (D) (i) G (iii)
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4. Q6gIQ 682 9918 9Fe IATAT RICNERTQ @ A7 AR Qd ?
) e
i)  QeQ AT A4Q
iii) °R 99
iv) Q8 92
(A) (i), () 8 (iv)  (B) (), ()G @v) () (@), ()G () (D) (), (i) G (iv)
5. 266 QISR FQARI QU] FFR ARIAIGS 699 9REQ ? YLl 2id ITQ 8%
QI gGRIQ @4 ¥aIg 98¢ agalNd ?
(A) NQE, VAL (B) K94, AL (C) Y, Q1L (D) VAL, AL
6. @679 699 JQIPQ 9IEQ pH 11 62IQTIER ?
(A) Na,CO, (B)~ NaCl (C) NH,CI (D) HNO,

7. Q6919 609 JIg 20 AY FINER 13e A2 9ERA @8 H, Q4 9§ @6Q ?

iy Mg i) Na iiiy Mn iv) K
(A) 6@9f (i) O (B) 6@Q% (i) 9L° (i) OR
(C) 6@aR (i) 9e° (i) OR (D) 6@QQR (i) 9L° (iv) OR

8. CJH,Ug6a xB8 ya gAY 6@60 62n 121 @ AIRRQ 69410 61d@ 629
(A) x=48y=10 B) x=48y=8
(C) x=48y=6 D) x=46y=4

9. 9€Q gg@ dIQ 76719 699 RI9e 6@ QAT 2AIRENR ?
(A) S6QITRR 9@ 8 ANILR (B) @I6QIAAR 3@ 8 F6LIR

(C) NI 8 AINGARNR (D) RIEQITRR 9IQ 8 NGRS
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10.

11.

12.

13.

14.

15.

RIFQ RIS ARGEQ 60F QY VAL AAAIN 1T ?

(A) Fe (B) Zn (C) Pb (D) Mn

Q60IQ 60X fg UIQER IR 2AIQ 2HIRIQ 64117 96d QRN ?

A) dee (B) 6<QI& (C) 6N (D) &m
@6QAIQ 62Q7

(A)  YINRLNEQA 50% - 60% YATR ITRQA Q6

(B) ZINRENEQA 5% - 8% YITR YIAQQ Q4

(C) FNEQ 5% - 8% IITR YIQQ QR4

(D) PREQ 50% - 60% AR YIRQ Q4

e 69179 ' X Ady9 AQENR 19 ALY 6 16 961 SR UM Na (6”1@ae)

Q@G 92IQ A°6RET 67 FUQ 6RAG 629 ?
(A) NayX, (B) X,Na (C) NaX (D) Na,X
ARG UGN GER Y 69AT AP V1Y 2T ?

(A) MgO (B) ALO, () sio, (D) CaO

AR 6 RIPQ A JGAQSlIE elIREe % G % 626M GF QARIEQ RIPQA YGAREIIE

660 699 ?

@A) 1 (B)

O |0

(€)

o' o] I\e)

(D) 2
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16.

17.

18.

19.

20.

Q@ QIg 2 Ao kI QI 6l4d agq 699aIg RYUSM QIR QF 69189 Q@

@A IR 6@60 TIGIA 39F 6ARA 2AIFHR ? (AT FIFQ FeT Q6! 25 64.8.)

(A) -3D (B) 35D (C) 2D (D) 1D

9@ Z90R Qdda AYHEQ 99 9g AYSR OI'Q ARQRS +2 @9 | 9gla ASFe

QYACQ Q'8 QRIFIRAIQAQS ?

(A) @g@ QdéQ 'P' B 'F A6 2T (B) @gﬁ 'C' B AR YA F1IEQ 2
(©) @g@ 'C' @ 'F A1IEQ AT (D) @gﬁ F QU6 28

9@ QJIQ JRQER +1 626R F6YIQ ABYER FUQ 6996 OF ?

(A) QDET 9 AeR QIE (B) Q&% 9@ AR Qddl

(C) QI4T Y@ Q@R QJd (D) 69 69183 @dé 6RIRUIER

4@ 6178 R Q 2YIRQQ ARG RO, 626 6FSRTT AL ARG 99

61AR0 699 gU6q 2GS ?
(a) g9a-1 (B) ga-II (C) ga-II (D) ga-1v

2006 4 Q Q38 QG g6l 9@ QYR JFUUEQ 6 V QUIETQI AR U°@ER

Q°6LIG 6TIRT | 6969 4 Q IFY JTEARIIER 5 6ACRYVER 6R6C 1Y QYR 6289 ?

(A) 25J (B) 10J (C) 20J (D) 30J

140



21. 36918 (@) 8 (&) T8 2 O YGEARI FTY P66 G QS UIRES

0LQ :
12 O
10 20 VVVWv
YWWAW———WAWV— 20
AMN—
A 6V v N 4V Y
+, - + . -
kL KL
(@) ()
A) 4W,6W (B) 8W,8W
(C) 20W, 24 W (D) 10W, 12 W

22. T6¢I8 QURYIEQ 205 QAR Y@ Tyl IREQ QU6 JLIR @8 ARG | g
QER16Q 2R JIR AQYE 9QI2 FAUIR | JIRNICATCA Jo16a '8 AAIRR

LQ ?

QaR1-© Qa1 -9

L

L (- — -®
K G

(A) QIRVICRITFAR YOT A6 Q&R

(B) Q10 9@ Algq 6800 62Ia 98 999 62Q 21

(C) QOIT QANIA QU7 B LIS F6AT 629

(D) @EVE YO1G F6QTC 62IR YLIQ FUQIC @66 F6VTC 629
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23. Q671 G6RIT TG6a Y9 ATER 60Q JGU6R QYR BIU AU ?

2Q '

2 Q 2 Q

12V 12V
+ - + -
I|_“ A |1

[

(A)

(©)

YWW— 20

2Q

—'V\/‘N‘—
A
Y 12V )

—+ —
K

(@) ()
‘@ 6 ‘G’ AR

‘Y ARQa6

(e
(B) ‘@ dQQaeq

(D). ‘@’ AR

24. 4@ ARG AARILIQ QARIL 6828 JG MR QA QY WLIQ T FQAURER, QB

JGQIF16Q QYR 696 GYQ gRIEa Q6 Gl IR 69% AT SRR QAL ?

(A)

6w QI 2g Fad

(C) <IJ& 2g QRIFH Fad

(B) 6gf°w QF& 2g @a¢

(D) 6&1€de Q62

25. 9@ Q@IIQ JAQIIEQ §QYe gl 64Ig JAQITIA 6Q0I6a I QARIA 699

AICElY 2R 629 AT

(A)

(C)

) QQYe 6910 ARAIS QF Al

i) 6AQ AWyl Ay 99

i) NIAQ ARSI Al
iv)  QUIAQ AQAAE Q& AN
(i), (ii) OR QG (iii) G (iv) QM

(i), (iv) OR €Ig (ii) B (iii) YR

B) (i), (i), (i) O] AIg (iv) @R

(D) (i), (i) OR AIS () 8 (iv) GR
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26.

27.

28.

29.

30.

31.

‘of - QaI6 (/1 ARIQ)
Section - B (Life Science)

AgeIq Iea YFerl ¥dea JAIe Q28 69IR 926R | 62 60 ¢y HIRsA IF6R!
¥3eQ 2Rle g4 629 ?

(A) AGIQ AR G (B) aLIQ 2RI 2°4

(C) mgan (D) TP

R2IQ QVYGEQ 6RITEQ FAR JRIAQ AUAINGR YRA AES ?

(A) 6§02 (B) 6929 €) 9 (D) S19QIQ
ERAEQ 2SI 26 6RERIT RISR AN 2l ?

A) 2 B) 3 c) 4 (D) 6
JNIg GRFL AFLER AR RIS FUEA JIIDEG 68T ARER F6CIQ UG 6RAT

Q6Q ?

(A) GLIFQ AILGI !¢ 8 CO, Q ALK AYS

(B) 0,2 AILKG! AYS 6 CO, Q ALG! !¢

(C) 0,8 CO,Q QLG AAIR

(D) 0,8 LEAIEQITaa ARSI AR

J8Q QI6A] 69Q0 QI ?

A) QY B FREQA  (B) QY B AGEQA (C) UG 8 FREQA (D) QY G TA6R
919l 8 ST QAT (AAL) B Q@ 96 S | A IR AAA6Q 1Yl '
Qg 9P 69 AT QAR }ILG ?

A) N9 JRIQ YIL6RR 2NQ (B) @@ 9IQQ 2Ig6xe Qg

(C) Y2 9RIQ YIEE aIg (D) @@ g 2IgQE 2NQ
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32.

33.

34.

35.

36.

37.

38.

39.

6Q90 AT R8QN JIS1Q Q1T 6 |

A)  EQl (B) QA& ©) QI (D) Q4@

QIRQ AR6M RAEAE QN @ 69 AAITEQ AR G 9B ARG | Y A6ANQ
62% 2°90 JUAIT 6291Q IoRI QR ?

(a) 909¢ (B) <G (C) Qe (D) 39

TR 6QIRIR1 QF ARG AMQIAYIER @F ATY FUEQ ANS TR U6ERR! AIN ¢
ARIYQ 69RETQ USTIQ FQARMI ?

A) R (B) Qe (C) @RS (D) QNELIRNATR
2QuIsD 92 689 6919 ARIAR VSR AIRIYY @RSl ?

(A) AT 6QIY  (B) 6@RI6RIT  (C) [ 6T (D) QAN 6RIT
F6AQ6Q QPG AIQERITQ 6R6SIT UG 6@IY Q& @9 ?

A) 82 (B) 9 (C) a0 (D) QIR

A4IF 9971 6641Q ARIG 6891 AQA0IQ 2016, FIA YNEQ FRIG IRIE AR | 4
6% 2671IR 641g AT ?

(A) 69I696]QAR  (B) 696RFAR  (C) R6/IERR (D) 9ERAQ

2391 Gle 99 AYe ABIQ | GIF 691R 692 U8 JARLR FEM AN TR
QG A1TQ Q@ IR ?

(A) QeI (B) @IEYIEAT  (C) QYeQ6QIA1 (D) 6@6alcaAd
Q2 629191 99 JRIFEQ 692 6QICAIERIE] AQI 2N ?

(A) 22+Y (B) 22+ XX (C) 22 +XY (D) 22 +X
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40.

41.

42.

43.

44.

45.

Q918 9@ 6dla QR GUIE RGQIg SRRl | F67IQ 6AR RURAET 64 g8 Qa9

QT ?
A) 2RI QI (B) 9694 QIQ
(C) YOTRR (D) QIU6HIV 2IQIQR

QUFY, QI91, 69IAIR, A FIFAR AIARE [IQF 6T Qe @2 AT TN 69AQ @
QAUNP QLA 624l 8 AEYQ QIQ

QF1Q JOFQ 624l B QAQEA 6@l

6919IRg K4IQ 98Q 2T G AR TR LR KL

Q° 209 6QIgIQ 6618 8 A89Q QUS|

6069 629 818 29qd! 2eg 0 AES QIR IS ?

A) 2Q (B). ) 69lCIR (C) QI¢ (D) QIFl

QRg1 QIAQ@ Gl 5 626M F, IPEQ @R1A UQAIG 6Q60 629 ?

(A) (1:3)5 (B) (3:1)5 (C) (1:3)% (D) (1:2:1)3
900 gIfl AAFING CRIARIER ASINR 6R6Q FIF AR ARAIRAQ ?

(A) 102 (B) 402 (C) 502 (D) 702
6QlICIR SIQG2I (rr), 69IM (RR), SIQal (yy) 8 2R8I (YY) 9% Q3 SQg!

RIS 19T 667 AR AAIAL AT KR, 6669 64 AQ0IA |F| AR 69Q
A8 Q94 98 AR ?

(A) 69l B 2R (B) 6Qlm G Sl

(C) ¢9%l B 2aGl (D) <lQgl 8 digall

ARY0 FER 60I8R gQ FIQ 69X YA TR 98 Feq ?

(A) QA6 (B) QQIQe@ (C) QIS (D) €19 Q¥
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46.

47.

48.

49.

50.

QQYQ 6960 AEAITSIQ AN AYAAR UITelg ?

(A)

460

(B)

604

(©)

640

SA6Q! 2I6RIRAA 92 9GAIT 689 gIFfQ 62IRARMI ?

(A)

‘CETLR AQFe 2ER RAIFE YO AR 6966Q 699 A°g QU AR

Q164 1M1

6RIRT ?

(A)

FIRIRQE YT ANACA 68Q 691 6AITIR FAIQAEA FAIQ AEQ ?

(A)
(€)

UNESCO

(B)

(B)

2010

WHO

I 91K 3199 dIlé

1. 29l 9194

. QAR AQAQ

IV. QQQI dUIE

V. QgIGe aa19é

LI, IV, V, Il
II, I, vV, IV, Il

(©)

©)

(B)
(D)

SlIS1 gl

SAARC

LI, V, IV, III
L 1, vV, IV, II

(D)

(D)

(D)

420

Q&

FAO

Qg QIgy L08R 62 Adelq GG 992 619 QTSI *RgE ?

(A)

1978

(B)

1980
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1990

(D)

1998



SUBJECTIVE TYPE QUESTIONS

Qg : € A4l No a7 g4 Qegyl ;8o
Time : 1 Hour 30 Minutes Full Marks : 50

(b)

‘@ - QQl6l (6QI6R RIA)
Section - A (Physical Science)

QIAIFE 0QU8 §9YQ 6F6REATAQA LI AgA! | | 4
QI

qe Q9ye JGCN6q JP6RIIgERA AR AT AAUAN QLR ?
QQG gGeald X B Y @ deele A°64Is 6896Q AFgmY gGeld IRl

AR LR GNP QA |

QINICRAR B 6QF° JEIRT Q@M @6 QY ? T UIQIEQ 6T IQ°
QNICRR JRAUQ QAYD ATRQE AL ACQS @A | QUCAY QR ARGY
ARaQl QY @UQ F& dIQ FIAR AL QUYD AAIAFR ANNRASIAR

ems! | 4
2

dedm @' ? AQR @AG QIIAGIER ] TARIQ AT REQ QI |
POACRY 697 6896Q PIIUNIQ AT FARIEQ NILQ FAIAN, RERS

@ |

3gIge 8 636-3gIae gTRAl @4 ? geeiaq 69T 6NN QQILad

6eR 9RIe | 3
212Ql

goadiias 68 64d16Q 641aa sl qeea 2NQ @A JARE

621218 ? 2IRIQ JANRRA 219 AVILAGIAL A |
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(b)

()

(2)

RN JOAAE QEEM Q'8 QRIY P  JoAQd {1 T 6nd I
ZIERRA JEOAAS! 6Q6R AR 6R18 Li=45 8 JGAQE 618l Lr =30°
626M n,, @49 @9 | 3
gl
4R AQeR Qdé AFYSEQ 20 69.5. Q6 661G eg Qg Qdée 2 94
JRQRe g0an Q¥ @6 | g6Rna Qg0 Ada @d golna get Juasa
6ad |
RGR @Q 69 63T 6RI0Q16Q Q6T @12Q J0 @Q 4L | QAA UE KIBQ
AFS Q2 LY QUAMAIZA VA Y@ ACRRLR YR 96 @Q IR QSR
QHR1D 698 QA QA VILIS AIFP YEAR VAR, 696% 3
() QASIY 6889 GOdIR 6RY FAg QTIQ FQITQ ?
(i) QAIY 6ICQ Gal @'l ?
(i) 99 QARY QA TF QIREY ANQ @I, 606 I6JAA @G @4l
62Q ?
g
3QYQ gOEAIUIS! RTER @4 QB ? FQYQ TG ARSIV IQ 6RS |
92IQ SI QR @4 6 Y2 689 R AUCA G K6 ?
det g 69ICIReel gaaQ1ead gQulg 66T QQILQd A6
QeI | 2
g
AP UGl Q@R @8 ? AQ AV VAR Q768 I AAGIeQ FA4ll

ARG ARG @€ QRIANG ?
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(b)

()

(d)

AURIE I AR} 1@ A2 9GRAl 96 @R ReFIe Y 9T A6Q

QT ? QI | 2
A

62690 49° AIRCRIELEFR UG AEARITR @F QPR 6AGH |

GO T AERS 2Q LA FISER I @ | 2
22Ql

120 V QRRIZA6Q A°Ye Y@ FNAGTR Qm@Q 100 W - 220 V 6mdl|

62198, Y2l 2 f706a 6060 GId QYR 95 Gga /q |

dele Qd 8 QoML Aeq QAR @68 QAQIYE 8Ig] AT, B QA YU

dILIdY @6 <l | 2
2aQl

Qe AT QYA Q@ YL AUYSB AUAINTR ARSI AL QI |
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(2)

(b)

()

(b)

‘of - QaI6 (/1 ARIQ)
Section - B (Life Science)

2IERIR 64846Q ARRIQ gRal Q4al e | 4
212Q|

FIAFAQ QISR AN 4RI 99 |

QE96Q JanNTe ARIAL gRL Q4R /Q | 4
ZolQl

062! 2IR60ITIRAAQ FIAG r 69T 2AEAIRQ 1A B QIFY 6 |

AARIG At 8 ALY AR A6 AIARY Q42 | 3
eIl

N-geIQ ARRQ 6 P gaIa ARRQ a6 a1day Q461 |

6a68nE JRIQ! 98l @199 AQILQE QI QBIY | 3

22l

@-01d8 939 @I 9Ye 98 QYR Y 9YLIg QIR QAT AUICRUG!

ems! |
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()

(2)

(b)

()

639 JR9RE Q26R 9’8 QU ? Y2l YN @ 9P QA ? 3
22l

FEM B QRAIRIR QA P68 IF 6QI6Q @'8 AQ AR MYl AEE ? 64

6@16Id B6RITQ ARG A |

6QQ QG¢l QI AR FIAR 6QIRAN ? 2
golQl
20d€a QUF GRa S Y AT ?

2GR 99 JIQAGEQ AR 16y 629Q AAAR! AN | ILIQ AQAE @& ?

Rl
CIR6Q FFIAC QUYL @8 @4l ?

“69 6@l9T HIMYHRERQ 5 T HIQY g &N 1”7 IRCeE @ Q@9 e

JoaIee @ | 2
22l

Qg F12191Q1 QEEM @8 QU ?
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(@ GI% 6 RIS AVITIR 692 R IR 6S19R ARG FAIAN ? 2
2R
QNG 691686 2ATCINER 602 699 2AQWIR QIAl AYEAIRE AT

2QQIEQ 61T R QAU ?
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MODEL QUESTION PAPER - 2
SUBJECT — SOCIAL SCIENCE (SSC)

OBJECTIVE TYPE QUESTIONS
aqQ : ¢ Qe Qe A&l : 8o

Time : 1 Hour Full Marks : 50

@ - GQId (RELIA 8 AURFE GRIR)
Section - A ( History and Political Science )

1x25=25
1. QIRQISIFIeE AR ATRIIS AR SHIQRA F68 IR0 NG IRV IS

QAR F6TIQ F1UQ 69T PFED @92
A) AN g (B) Q6w 9IQ
(C) QA ULYRI (D) QNN AIRR

2. 69RI6AQ1 8 *AIFIAE JILE 6991UIQ 9ER6Q AU 2GS 9OFl 6RIRAM | 69

AR QENYACA 26AQY N1LGIeFT 699G 9L Q0YQI UFRFINQ R @'&l ?
A) AR 2IGE (B) Qi@ 9%Q
(C) QAP 699@ A°Q (D) QAR A°GOR

3. 1919 QIAG 9I9R 2IARQ RITIFIAG! AR FER! IR Y@ @FQ €00 62IRAMI |

U2 QA9 QU @'l ?
A) 29 @dae (B) B@eam @dde

(C) ARAR AR (D) QAIYIR *FSR

153



QA BIF 2IERIRE ANAEQ GLHUIQ IR FIREQ ABRIREA JRAS JARIS

6RIRAR | 6@6Q 6RAYTA 6RIRAICE IS TRGEQ AR YA FQRUY

AIReEM ?
(A) 1942 QY 17 (B) 1942 2QI] 9
(C) 1942 QS 24 (D) 1942 2Qg 16

JeI8 9R 6919 UIRIQ @R 6TIRQ Q6T 6UIRI QALR1ER YRGB AR | 92 6QIR!

QILR16Q QI AERI GGl QIR R Q'&l M| ?

A) SIRAT QST T69IR (B) QUE 6UIRIFN F6QLR

(C) RN I6CL (D) QST AYIRIN F69Q

629 QIFIQ AIF ARG 62IQ AGITR 6RRE ?

A) QLI (B) 1219 ©) e (D) TR
R°6ARFIER BFHIQ 6QQ G6RIT ABRY Ge AIFIFIYY FA6R ?

(A) @9@, YA, A9 (B) I, 29, 6y

(C) 6RAYT, YA, SI&I¢ (D) QUERYQ, FCR, AGIE

QRR AARR1 ACLIACA 671G CRERIT SYECINR 62IRAMI ?

(A) 14 (B) 15 (C) 16 (D) 17

JIFIS KRl 8 gIIGIEa 9 62IR 6RR TIRIT 6FIl AVIAY! ASR IFQIFANQ
d9Q 69R6m ?
(A) @e Q9R (B) MG 66R2IaQ1

C) AN 96 (D) MG 698
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10.

11.

12.

13.

14.

(639IQ 69Q JAUIAFRT FFQ ARG 2 AFR FTFIMIRAY Q19 FAIER ?
(A) QYL 994G (B) 2699Q¢ A20IQ
(C) Qgelel QI (D) 636RQ RAULE QUHEQE

QAURIAQ B 6RAIRARICR 671G 6260 P8 ARY BLHIQ JLRYQF KA QG QLG ?

(A) 10 (B) 21 () 31 (D) 41
ARJIFQ 68Q UIACA QIS G B FART AIFFA ITAT IR 699Q Y

AYREQ PR AAVIQ QY| 6RIQG ?
(A) 330 dIQ (B) 360 dIQ (C) 345 dIQl (D) 395 dIQ

JPRIG AAQIQ AARIE IR VAR 699 AAAAIA G490 §ial 928 QAT

6RIM 9@ QQ A0 QI8 dIReMI ?
(A) AG 6eAAAT (B) @@ fe4l
(C) NG AIALIEER (D) @6 KR

Q°6ARFIEE QAAGY YRG! e @F AT U6 F6gIe g 69A6 NG

AR QAR @ Ml ?

(A) RUAAAIRE QRIFFIQ TR IR FQQ|

(B) Q6QI0A g @UQGG I9G KA

(C) YR 49151 IQ8ERIQ1 41dQ Gl R Q!

(D) 9 A6 A4PIS QAUYER ARG KA
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15. QUACA 68Q 6816 ALATY TAUAINER 6ATIFTA AURELIQ AYQ ALQAIRIER

QIR AQAM ?
(A) <162 (B) ©9RAR9A
(C) g6 (D) QIee

16. 699 YEAITR 6UIFAIFNNEA AARIAT REIITER 2R6GIT EMI-AQIS RAYIR!

Joq @QULIRERI ?
A) Q019 982189 QISR B) ©gd 98218« 62I19Q!
(C) Q1% AETR 6QIRS (D) gele 98QI8e 69IeQl
17. Q6RR0R I 8 498 JIFg 2R 6912128 QUL Q8T @' ?
(A) PR QUGEI 6QAIA 9 AT (B) @08 QLR I AId
(C) 9198 VIR ga Al (D) 9I9ea 6dedy QUERAITR A

18. QIQGQA 6962dR F10Q Y@ 6FAYY 6208 dIEYd ARYIR | 92l 2T 6QIQ 6RR

10Q A} AQELIL 62PN ?

(A) F6@ QB ARQ QB

(B) TR6UVR! LAY QS

(C) ‘Q@gede @eARr R1G6Q B¢Id @ASl

(D) 6L 694 QLG YAHS QIR QAQ!
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19. F2199 FIAFQ Q¢ ARG FARS [T AN BRI AARIAT QA 6969 AR

JIIAR 6QIRUMI ?
(A) 1949 RIQIQ1 (B) 1947 adel QI
(C) 1948 Qg (D) 1950 RIQAIQ!
20. (334l AARIAT QA ATIRIQT 62ARAG! 3¢ 6UIRAIYLS FUQ 60AG 2YIAGR ?
(A) 6QIURY FIFE QIR - IR, AR G UG gl
(B) S912Q gl 62181 - Q¢ 393 64IFIRS!
(C) S9a1 4l 64Iaal - AIFIGR-FQIRI 6QI9IAL
(D) 69 QF2l 6QIFRI - FAUIRY G2 FEIS ag

21. 6@Q dARIAw QA IR FAULIRAR! QRIS AIJAS QI AR (2Q. 99, 94Q.

4.) Q QY @4 Rl ?

(A) g9Iag YIRS I6 QY KAQ

(B) 14 Q 18 99Q ARIAISE IAX 6 a8l gele

(C) 14 QY Q@2Q 92 g B FESIANER 69T FIRA @ BIFER
(D) QOR YNNG JIIe @QRI

22. @OQIQAIRE 0l @F A°Ge @@ 2 R4S R CRRAIRE IR FALIQAS]

ICRINRY @'§l QRIIQAMI ?
(A) 691G AR 9ol QERT IERRe (B) QORI ICLRRR

(C) [IID 2ACAIR (D) WG ZICRAR

157



23.

24.

25.

26.

27.

28.

(63491 AARIQ 68Q KA1 AUFVTYA0IEQ J6F1E AR FIIL 768 98 I

gl gIR Q86 ?

A)  QIedl (B) @IS

() dem D) @eR

Q619 CAIYER FUQ 6990 ‘ARYFQ TRIG'Q AU Q6L ?

(A) 9@ 699 (B) 69@U2Q IS

(C) QPR AR A4l (D) Qe AR QIS

ARYC 6999ER A 68Q 6QEQ 17l 2IFl 699Q AAA-YS AIFIQ U6 FQAT ?

A) ARGl (B) ZIFAGYIR (C) 6@ (D) QoI

¢l - SQUG ( QETIR B AART )
Section - B ( Geography and Economics )

1x25=25
QOIS QSR 2QACQ TIRFER AFRAUIA 6999 AR AR JOREG!

6260 QG YF AQNAIR AAJC Q2] AILER ?

(A) 33 Q4 (B) 24 @I4l (C) 60 QI (D) 20 QU4

G0R a1 QEQ a1, |IY, FIRIL QGUIQ AR JALE 621 FJ0S 62U
ReIQ '8 QI ?

(A) AFY A@el  (B) AR @el () ¥AYe gael (D) 69l el
27RY 8 Q@ UGG 65416Q 69HIFIRAAG! 6Q1ALM ABIYLS 67Q 65419 26T ?

(A) 6Q8@ (B) Q6949a (C) ageaIQ D) Qg1
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29.

30.

31.

32.

33.

QUYD 6QIR QA QAVIGER AURGIFEQ  ARQ I 6dIAdFY LU
RAULIAVIAR, 921 ANRA F9IE FQ QA 68Q AAR 2ACE ?

A) AR QEIQ (B) 9@2 Q@ (C) Q@de e (D) LT AR
QAG6A AR YR RIQd 69Ig g G Gl G QAR 2g AAY FUER
39 6210JRIQ ARIGR QEE | ARG F67IQ 699 FCA QIR T6RVR! *AIDS ?
A) QY G (B) QU99g <&

(C) QUQ ged |16 (D) QAR I

21671 2INQ YRR 2dQ NIAUACA HGIAFIAL AR 2 YYITTQ Gl QFalR |
Jeq goRe alae A8C IRl F6LIQ FIQ 69K IS ?

(A) 42N TFE (B) 2°8RIQ Q@I

(C) AQIRR Y (D) QAT

QUG FIRQE UBREQ TR IO HAF F6R FIXR ?

(A) 92 9@ QAL 6NN

(B) @ 28k 2AQTY JRIeQ 90

(C) Y% 28R 26D IR 6 26D IRIQ & QUI8AG dRI6Q 106
(D) Y@ 28R R QA dRI6q 90e

0AIq RILE S9YQ ACARELIAG JFEQ LR IR/ KA ?

(A) Gl QU] AL (B) Gl Q199 QUAQIL1

(C) S8l 2 99 (D) el LRS!
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34.

35.

36.

37.

1QQQ : FILIFQT 6QATAR 6919R  ivvrrrennne
(A) QG| (B) 661Q19Q1 € Qs (D) RIEQQ1
93 Q19 98Q 76919 699 69T ARY B6RIT 0Ig @R 26T ?
(A) QIERAR : A1l (B) RI6QIAI : RRQ Y64
(C) @gf : QIANRIQ (D) C8QQE : LAIR Y6Q4
Q90Q Aeq 2V Y0 AFYE QA6 0K 941 QATY Q42
A) @dQl, 0IF, 691QIa1, Qg B) ©I1F, 6912191, QFl, A4l
(C) 691Q19Q1, Qal, AL, I D) ©IF, adQl, 6911, QS
FER QY AQIYR 6VP6Q 2P AR AYINFRQAT &em
I 6498 69696 JGeIFS TG 99
I. QQIPARIAI 9RIQ 99 ARIQCIR IRVITYl SIagl gad adeld
1. QFIAEQ YA AP Q6L
IV. SIRGCI6R dR@ RIeQ Q4 AI2IZ
QU6RIQY UG AU 68AYER OF ?

(A) I I, I, IV (B) I, II, III

(C) L1II, IV (D) I, 1I, IV
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38.

39.

40.

41.

42.

F-6

MIRIAG 6PN FRYR I8 QYILY AL | I2IQ RQAS @&l ?

(A) €86Q RISRQ AR 2R

(B) 92l Q@EIAQ 6RIQM

(C) 92 AYAIRA 6RAQAMI

(D) Y% 6QAM Y JRNIAEQ 69IG 62IR QLI

QAUFIQ G191 6 FIFI2AE QTR IR TQ 699 A°CAITT 8R 26T ?

A) FA6xIUN - gA (B) &IYYEQd — 694

(C) R4l - 6dIg (D) QIPHEY - 6QUR

Q6¢l 699 UEREQ QL 697 USRQ FRSIY A 6 G | QITAIG 21° 6ARTLAY
27° 6AR3AQ 8 QFAIG 75 6AA Q 100 627 26T | G6qIg AR VT Q7 AL
IR QALY 689 ?

A) AR (B) &Iy (C) <L (D) QI

QAR ML ADIC QIR KT 62U VIS @&l ?

A) 2P QISR (B) QK¢ A1eQ 9IS

(C) 9@ A°@Q (D) QUYD 6RANIA IRV

Q661 Y@ RIGR QAR JOFI REQIg UIAR | F67IQ RITIQ ISHIRG! QAR 99
62Q ?

(A) QUYR 99ING S&ie T8

(B) @%@l AIQ, 9Q¢ @10 @& QBIAIR

(C) QA 6QILI, IT° QA VR AUAATS QY

D) 999 AYQ 8F
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43. Q¢ QUERY A°G0R 69Q JAT QA6 QS IR Q@GN ?

44,

45.

46.

(A) 6QEAIRT FUEQ FARG B AICAY QLY FIAFIAQ JORR

(B) 6Q499G@ 6Q &<l QU QERY QAT QR YUIFR AUFRIAIR
gees

(C) 6997Ie& FIEQ Y9 JORe ZINQIR 8 QYR FATA 6RI2R Sl AR

(D) QIR 697 212 2FQI6Q YR 2GS

Q66 GIRGQ FAg T AN 6 NPT 690 @' AR 62R | G AR
Q18RI AR 69, P19 F1TRJIAE IR 6€11R! AV 6 ANAS A28 | 6069

6 QIPREP 692 ATQIQ FRN 6QRAIQAE ?
A) 9ER QAAQY (B) Q¢ QQQY
(C) IAFR QUAQY (D) QCAFR QUAQY

6299 IR 2P 49Q AR ARIND 62Q3R! AAY ARG ARIAR A°QASR
QLI | D6¢IQ I 68AG ARE ARIAD QPR AP Q6L ?
A) QAL PRIOR (B) 24Q62<

(C) VA HIGIER D) Q@¢ IR &R QIS

‘YUYl AYPIRe ABE PIN6A GeIn @Al 63Y5R 6aR AGR FIdIea Ral JIA

RS @@ ?
A) QY 0FQI 2 ARG (B) 9996 21 QIR
(C) QUGdl 98 AIRg (D) 9984 Q& AIRE
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47. 691G AINQE RARF16Q 30 I FFR RS | 9T AQ KHIFIEQ 50 I AR
6UUFG 621R21E, 6069 AQ RN §ieg @ JRIQ 69RIAQ YR KA ?

A) 9QRINIR 6LRIA (B) QG 956 6991A
(C) 9a% 69eIql (D) QGIRL 6aRIQ1

48. QIR0 UPINAFFRQ T QA AALIRAIER N YR LR FQAUI FART TFE

X |
(A) AYLR QUG B) 9-99¢ Y
(C) 9-99¢ QId (D) Q99 99 QY FRAUS

49. @6QY1TR IRIF6Q IRND QIRAYLR g AACRHIC RILYEY 996 @9 :
(A) QY9I 6JAdl B JRIEIX
(B) ®I1Q, 2QI2 8 3980l
(C) BFYSIQI, -2 G 698l
(D) 2ge 95gQ, 2gde 218 68 A°gIee QIS
50. QAQIQ QIAAIGI @& IARIQ Y QT O |
A) QRN (B) 9@l I

C) QIYALRER UTIQARIE, §F (D) QIYALRER AR Q&
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SUBJECTIVE TYPE QUESTIONS

Qg : € A4l No a7 g4 Qegyl ;8o
Time : 1 Hour 30 Minutes Full Marks : 50

1 (@)
(b)
2 ()

@ - QIS (RELIQA 8 ARG IRIR)
Section - A ( History and Political Science )

4x2=8
QRS BIP CRIFE ATACA GLHIEQ @69 IVQY LIS 6Rdl JFIAAY

ARIQGER 4R SALIRAR | 6926Q 699 AQ RILIGAQ ol gl
QAUAIR3AR! ?

A
2ARELIG I6RINE FIe AW U6Q QAR YIRS A°G TR @83 QIge!
2R | 60 6INLI6Y 9@ FIgel JAAG AR ? @ 6AIFIRIAIER
@8 AQ QERS! AR ?
(6391 g6Qd 09 UO1C AR AFRRT AR 69 A9 ACKXEY 67a QY
QAR ?

A
(1699 -697196TIe TG 6aa A32I6Q 9ge 62IRUMI ? YER ]I 64

6Q161d PRI T QRS @9 |

3x3=9
QRIS 6Q 2QYe0 FIBFAIRTA Q14 AR B4l AARIQ 69RAR! T6RIT

J6JY Q6 29 |
22l
AR gRsa QIRIFS! gIF6eng 9] 6541019 NRIGE 6541 Adis d8Iq

6QQ G6RIT AGEA FAD SRR ?
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(b)

()

(2)

(b)

6R6Q BEEI6Q ‘@Rl JIafe 69199’ (DPEP) QIdILIQl 621Q2M 8 LI
QRG e QY @' Ml ?
A
‘AN R6RY AIRY 6969 FITIRIQT 2RI ? YD A} IREA AR
60Q2Q1 64 62l61d QRACTIT U6 ARG A |
Q019 GYYR U6Q 699 07 YRQ AR 62IRAYRMI ? YUEA 68Q QR AUY
3g6Q F12195 621R26M N8° 692 9@ AUY R IF6Q UREIG 6ARAEA ?
g
AP8 JQ92@ YAPIEQ 6aR 0T Y Afe QTS KARIA USRS

QEE B Y2IQ LR ALY @AG 6QIR YRAIQAL ?

2x4=8
1022 6@ @2 699Q6Q QR1EQ ARIASE] JEFG 62RI B 640Iq 6Q9

YA Q6D 6QRAMI ?

2
6% 2IRRg T6alM Q4 CIFR! ABYIGR IR KRR ? LI JACE F9
Q6N RQZYER ?
golel 69IMETIR 6T0R 668 B 6RR0ICA AUQYFE 6RIRAURI ? IR
3291Q @4 oy @Ggem ?

gl
(63916Q gas o8 99 68Q FdeI6a FIIe RAULIRIR ? LI FIF @'§

Q@I QIRARI ?
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()

(d)

()

2EFAI6A GIYR 6R6S G 69Q QR 66IF! FIEQ A°AE 62RARI ?
229!

QR 9@l Y ULTIQ RQAG! PIRRAIRE TR 62R QAT FAT FRIGINAR

FAYIRG ?

1991 Q1dLl U6Q RAACA 68Q YAG RIAIFAQ YIAUY 2AICAARI 67IAILR

JaIe @Q L6 2P QIR ?
22Q!

FYIRL BIGRIQIE Q68 dgR AURIA AId QI6q QUYl A 6291 IR

692 gRIa AQIFd QIR QARG ?

¢l - SQua (QeTIR B AART )
Section - B ( Geography and Economics )

4x2=8

AAR QRS QALY QAL ? AR A°QAVEIQ Y 6T QAL *'8 @4l

ems |

2aQl

Q°6QF IR AAAEQ JIIAFR QEERIEQ VAR AAEY 6R6L QAICE

Q0@ ? 629ER VN6 ¢RI AQ |
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(b)

(2)

(b)

()

(2)

\,

QAUAGER IR QA PLFEQ QTR G FUQ AR 6QGIAN, ICRASR!
QQ |

A
QLM RYIRR 6KIFRIA RANIQA AR YBI FPFEA IR AICLIRR G

RAEYGR Q'8 ? UICRIFF Q|

3x3=9
Q8 JIIFY QI A6Q QRAC AUFAIFE YRAICA IF 6046Q 98 AQIQ!

@ QG ?
AR
HIQY gagl @'dl ? 921 QRS RILR QTR ?
QA UQIEY IFEVQQ 2ARIS ¢RI 9Q |
AR
J3108 AR gIF FQUIQ FARGER AICAIGR! KA |
QUAGQ 6QRIQ! ANAYIQ 6R6REAIG QTFERIGQ QIR QAL ? AR
AARER 6AS |
IR
2IFl 6949 RUAG IQ IRNIFIR QAULYLRA 6QRIQA AR IR @G

MR @ |

2x4=8
ZAQE AR G QG AR FUEQ AT Q@9 |

2l

A76R §F6a QERIDY YR NVRER 6212 QLR ?
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(b) QAR 99 B ANAIAHAR 93 AU6Q QIR Q42 |
eIl
Fee’ YVA6Q A°VY TG8I1 6nd |
(€ QLIRS 68RIA1 B JIFYR 69R1Q1 FRIER ALY Q412 |
2ol
e 69RIQ1 Y96 A°TY TFS1 MG |
(d QYReI YEAITAR! FLER K8 QY ?
2ol

ANFAE & Qe Q'8 Q€ ?
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MODEL QUESTION PAPER - 3
SUBJECT — FIRST LANGUAGE - ODIA (FLO)

OBJECTIVE TYPE QUESTIONS

AqQ : € QG g4 Q°¢l : o
Time : 1 Hour Full Marks : 50

3R9IQ FATFACQ 696 IATC ‘AQUQ EG QA AFRITA RIS @ ?

(A) FFRIQ 67162 (B) QQyegdel 6991

(C) RY1RS ALAIQ (D). UGS JLRILR

‘60 AP AR RAGI6Q @Y AR IQ 645IRMIAE RAAR| K2 QLIYIAG ?
A) KNP A9Q (B) 99 @41 (C) @9 99 (D) Qagd
QI A6QAILAEA AINETIIR FERNAIR ALIAIRT QETURIAT B AUCTE 6QRAEA ?
(A) OAUY B) @I € @9 (D) QeIQl
‘S T°ARIQ AF *GOIT AR FLNNCA 68Q QA Y°FR6EY ?

A) 99 99 (B) <@l 99 € @Ig ae (D) QQIe 9
Q21069 F2Q AIFQ FEAIR” - YOIEQ @9 A GFSGER QM FALIAT ?
A) AFQ (B) QIR (C) 991 (D) 9% AIAE
6% F1GQ 9d Q4 98 J7I¢' AL G *FQ JIY 62RYEM ?

@A) 9196l 98 B) Q9] C) QFGIAR A8 (D) ARIGeYEA A
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10.

11.

12.

TRRNEQ AABE IV FFRIEQ KA ARIIRIY QUL AR FHQA QAR ASRY
QLI RRUIR IO LR QAR }QARE ?

A) A (B) 2L (C) I (D) @I
JRIeRIRIe J906q ¢e@ 6aa QIdica g9@ afl QR ‘AdeR AR gl
RICI6Q ¢RI FAUAIQE ?

A) CIARERQ (B) @@96Q (C). YIA6R (D) gémoe@
RTQ QRIIFIE QL 6RAAIRG ‘FYa IR €A 9283 ?

A) QAR (B) Q@QI&rR (C) QYIS (D) QAR

QY RI2IQ Y°A P6Q 6RIA IFIRIQ 671620 QA QTG RRRIEQ FRIYIAT ?

A) 2R (B) GAQ (C) Q2 (D) <9

AQIRIB A2IAIg 9GS F67I9 689 AR 26T FUCAA B A6Q YNTAER ARES

ceIReMI ?
A) SO QRS (B) Q8% APy QAR
(C) 69IgIfIg 2916 A D) ARl QEFAIS

QY AFGY QIR AW QA QERAIRE A6AR F6eR AIQASI T ¢
QI ?

A) 9@ (B) YRI@R| (C) QR (D) AGRIGY
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13.

14.

15.

16.

17.

18.

Q601 Q1219 QYL dIGgIL FgYL JON6a F6QI21Q Il 6QR8S ?

A) QA AIRQA1T (B) 6918QI QR (C) @ A4l (D) Q2 QAR
MER-6QIRIEQ 6QIRIANR QP JYIRIER IR EMLIAQ JISFR RIEl ARe
QA QRS ?

(A) ey (B) dURL (C) @ (D) Q&

AI9Q QU0 AR ARCARIA VAR 68R ANISIA AIQE 26T ?

A) G919 ARG (B) QALY AQYS|

(C) 6QUNY ARYG| (D) Qa1 ARYS!

692 4lY IREQ FFARIFQ FORE AAAIFAIR ARIAIAEA ARG 62IQ JIQE, G121
Qe Rl ?

A) IS 4 (B) <8¢ €19 (C) 9@Ql €19 (D) QIR 4Ig

QS QIR AAQIUIR FIT IFALA RFBIEQ K] ALANF0IQ }'S S FALES ?

A) 2RLR 9 (B) Q°81 4 (C) &6 9 (D) Q18I 9

Q00 QI 0QUMIER ALER UAIYQ JRIAg 69 0K, 998 G QA @& UL
RAEQ 6RIM ARS JIFRINR QLEE ?

(A) Q8¢ (B) &Qqle (C) @& (D) <]

171



19.

20.

21.

22.

23.

Q6qIe AUg @Y AAgE AR AR AERIAS IS G 63IR FQYRYR 691

QAS°QAL! AT RIGIEQ FLRD ?

A) Qg (B) Q& (C) Q@ (D) &RAS

AIGQ FOICIE 8 U1Q AR FRYLYAI 6QR1T 6Q26Q @'§l QAT ?

(A) &l (B) Q4 ©) < (D) Q@

632 QG AR 9B 2SI MG AIFIQ TAQ 67leee A 6FU WG QI
ARIQAIAIRG @8 QRIdIQAMI ?

(A) Q@Y 6991 (B) Q& AR (C) QUK (D) @IV A°AQR

S%1 Y0 60Q QAR TRl AFY KT AAYAECR RIFIQ AQ VA YRR 6N

RGEEM ?
A) Q69491 QIFI Y (B) Qe U SR
(C) QIeRISl d1g (D) QAR VUV VP

QR CRIRE JIR @8 /4 @ AIR, QIS 8 6]1U6a LA AIFIA 6291 IR 6NN
PN FINAIRER ?

—~

A) A (B) UYL ©) @°eq D) SN
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24.

25.

26.

27.

28.

29.

11D AR QAUBEA F6ALRIY AU FLR 62IR 69R ALIYYIR Sl FLYEM ?
A) 91U (B) 919¢ (C) 6dlea Q& (D) 99

RIFQ QRIIRIY QAULE QA ATV BREQ QPG AAFY ALIRINTA FIF |’ ?
(A) QSO (B) @168gQl  (C) QLIQIQI (D) °9Ral

(622 ATIQ FRI-6RIGIR LUIRAG! F6FIQ 68RG 69IUIR 09 JLAUIT IR UV

XN@ 2UCE ?
A) FFF QIT (B) Il 4 LURIIN
(C) @IG FFeQ ARY| (D) 94109 632 ANIERIY

600% QI0RCIRY 6RRARL QS QTQ QIF 6REG 629 6QIM JIge FLYEM ?

A) Q14 (B) 204l (C) QG (D) 9@ o

JIge Q68 §@ 6 SRl G QA 2AGY IFINEAR 69 RI0F AN }F U@
6QISIREAAIQ FLEM ?

A) 98 Q0 (B) IR QIO

(C) 69RI69AIAl K0 (D) ¥4 R0

TS 691y Y 2F6Q QIEPlE gl @1a A& F0IQ TR 60R AFEQ ARG
6Qml ?

A) e (B) RN (C) AR (D) @Rl
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30.

31.

32.

33.

34.

Al QAP eHIR ATG FRE QAR FFA RN YT R XA ALe QLA

22°Q| F196Q Q1IC CL6R 6RIM 6QIVSI FEM ?
(A) Qe (B) QIS (C) QLI (D) Qg

QA SO QIRd QP R4IAR QA R9YEe Qg QWAg AFUEd F9Q

6QHICIRRS ?
A) Qe 9Q (B) @& 9Q
(C) 60&f AQ (D) QIR AIFH AR

& AIC0IR 69G1 AG6Q AGEQ VARG 621 QLS AAQ AYI] 641TANER QIE ?
(A) 6R9ISQ ¥l (B) QAAAQ WA (C) RIGA A (D) AAAULR R
A6RIAGR QA Q90 ‘TRY’ IRIFRI 699 IARIAQ TG 2R FAF ?

A) QA2 (B) Q1 (C) RISR (D) 9AQ

“QIQ FEIAUG | OR @1 6Q1Q AR - Y& QET QL RERHYER QLILIAT ?

(A) 69Q (B) 916

(C) QARSNIA QY (D) Qa1
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35.

36.

37.

38.

39.

40.

Q2 ALE RYERE 6CITNY AR 6ATIEQ ARAIQE 6QIM U FY ARSI

Q@M ?
(A) 69ARA P4 (B) 6907 @2
(C) 69ARA AFERQ (D) 6Q20Q g2l

“62IQ 626m gJIg 98Q 601o¢ 60U A8 - QITIQ ARISEAIY YLIQ IR AUR ARY

QeI QL ?
A) IR (B) <IRYI°S (C) 699G (D) 2IAR

“080 JUAIRE AU6RE 69617 - 1B QIRYER FIILE YUY KT @9 ?

A) QU6Q4 (B). SRR C) <4e (D) 6Q6m
“QAagIg AT @& 1”7 - gRIdiee dQ Y2l 689 91 ARY ?

(A) Q96Q9e (B) 9499@

(C) QYo (D) 2I6Q4E APEAIRIYOR

‘Ag8’ R 9R6Q ‘@ QLG ‘€ 621R8 ?

A) @ 9A6Q @ AN (B) €196Q @ aQIq
(C) QAU6Q @ AN (D) 2 <U6Q @ QY
Q619 629 JI6Q YNIRNI6R ‘Y’ IILE 621G ?

A) F9e (B) @gId (C) QI (D) &FFIQ
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41.

42.

43.

44,

45.

‘AP’ - (@ 9906 60 JRIQ AYR 2T ?

A)  ‘§'Q QIS (B) ‘¥'Q QOIS

(C) Q6HYY FEEVSG (D) QARVIS

2R - JRQAT @'l AT ?

(A)  ATYRL (B) QRN (O] AR (D) QSR

‘Se QI 99’ 989 dd /' 2

(A) AGOL VAEREEQ Qe (B) @e6]ld / @l

(C) 9OQR JAJGea JoRIGAs (D) OR

goe°al A6QIRIQ 61T AAQI AR FETIP 699 R UG 99

&) 228 QYS! B) 2 9eIQQl  (C) Y QYS! (D) 2AlY 6QQ

‘0 AREA FF AT’ - Y2 CAIRIIGIT 681 2 gRIF 9B ?

A)  ARYa Q8 ARG (B) QINIIF 62IR T KA

(C) QE6AIR6R @ AdQ (D) 2RAY ASRIE 96Q
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46.

47.

48.

49.

50.

YUY ATRIQ QIFRID’ - I& 2 RIS FQAUS ERIKIALT @& ?

A) IRl 9al, 98662Ig Al

(C)

Jodieq 9g, QIQd, WIQd YQ° 699 FQ QUEQ Lo 626m Il 699

AQ M QR F6R

80 99 ?

(A)

A QU QQESI

(B)

QEFRIg1

(B)

1] QIS Q2R RI6C

(D) 691890 IRl QLY R

(€)

@8 F9R18 QAT NG 60R A6 QDG ?

(A)

699 ARRNQAEA ‘@', A6eR, IR, A6, 2RI, @I, A, 6116, JYE IR NILS

QAN /<

(B)

QLS 8%

621R21, GI2IQ 68X ARRIQ LA ?

(A)

a9 ¢86 621 @R1d gRI9 K6, SIFIQ @' QLI ?

(A)

dei@

QoM Q% 69

(B)

(B)

Qaell

e’ 699

177

(C) QI89®@ / 80 (D) QAUNERA! 82

(€)

(€)

6019

ala

6q

D) QUACRQT

D) Q@e6gsl

(D) €4 99



SUBJECTIVE TYPE QUESTIONS
AQQ : € A4l Mo §K/e g4 Qg : o

Time : 1 Hour 30 Minutes Full Marks : 50

1. QAR MG :

(@  ‘URIGNC! QUACA 659QY — 900 YR ANARER ZIERIFR! @ | 5
229l

FEARQ FEARNRRER YAGG 6291Q IGI @AQ gl A0 YR ARARER
QBIR 6 |

(b) ‘96R AER A1 &0 ASNAREA AR 6JedY B ARG YRTe
@ | 5

gl
A°ARGQ 64T B 95 ANREQ BF AV AT |
2. QAQAF AR 6 :
(a) QPG 6QI06Q P3ALI S Q4 9@ ¢ T AR | 5
QI
QURFO0IQ YR6Q AR 699 T 62869 AFF FI® & 62IR AR AT |
(b) QAR IHEQ ARYICIAI 6QF 5
2198 A9R F162IRI6Q 65@ |
g
ARG C1Y6Q FER

Q0 421 QAUR-QS, QAG AL |
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g9 900 FR6Q 69 66T 6QlIGT JAFER YD 6RY : 10

(i)

(i)

(iii)

Q8 BIQ 199

( QUQE - IRFIRG! — RINFEART — 676 I — QAAL°RUQ )

GS9IQ 1A &ig

(QUKA - VAR - 69609 1A dg - 2d IRYIEQ RIS - AAA°LAAR )
QA gl

(QUQA - IQMNRGI — AU ~ VLRG| 6D - QAR )

g A9 :

()

(b)

JQIIT6Q QF A9g 9R APAAIR AFRE A YT 2R6] UG 6 | 5
el

Qf SIRAEA ARG 62AYRI JQ @9 FTACA YAl G ARAR FREY,

g 6nd |

Qe USREQ 9@ GIATR QIQIERR 6HINGI Q7628 FNAIY FQAVT PR

QQGlgd ems | 5
2aQl

Qf 2HREQ QAU AFAUS! 60109 AR AR AAYIY 2R AURAIR

296Q QasIg 6RS |
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Je@ dQERes dI0Rd F¢eq GlIKIRQl JY9e9 2@ 6nd : 2 x5=10
2R J96Q ARG 690 AGCD 62Q8, QY 6AGR €U0 QU 6=IR
dQf | IFQ QISR AAFER QG F19Q AR TR Q1 66IFT F19Q I YR
JQQ QeIKIRAR | 6L F1d BI'Q 6@6eR ABR 2lF A6 2T | RAILAS 9
- Age JAQIQ, FIBAIG gall B8 FIFY F19R 6aIF! 1A IR IR Fede | &g
qQQ 60 GUaAlfl 621Q JFeE 69 6926Q 691F! F19RQ ARl /1T | AR
@R, @9 69969 I IE FRI 9l @@ AL | gIF A28 A J6RIR gIF6a 9
Jiey 1999 9980 @4 JRIAE | 91T ¢ @1 QU IR ITIQ FAUYIRE | AT
6 Q10QY6alg 60IY 197 @80 62N UPE | AIYIGY ANS! & MG ARSI |
6Q0/6Q J60Y6R 79 JIN AT QA% JIR AQYF 98 | AIGl, AIT 6 AINIILEQ
UG YD QARG 62AT, AT JAIQ FTLEQ 6ACR AP ARLIR 62IR ALY |
Jeq ANIQ Neeq Y 290 AId AIY AIFAR | 6] F6& 09 / N QLR
AAFEQ dIR JLE AIQE | @g 9@ JI6Q Y60 QR4 64 Al A QA 60/ @
PR ARl AEe JIUIR AR Fg AF | 6l QU6 FQ dYI, ARG G
A°Ye AP AFIFD F6LIAIQ 9B @ 98 Y PR FAANAR | Wel
Q°g 01T ANBIQ AQ0IQ /% 621N |

() JUUeR AMIREQR QI RUEQ YR Y] FUILIQEAMI ?

() QAR QI QR FILF AN 621Q UGE ?

(i) QI IR FUQA ARTG 2R ARG ?

(iv) 699 ARSI 4G ARSI 26T ?

v) 8 90191 AQSIQ AQ0Iq 9% 6QIT @4l ?
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MODEL QUESTION PAPER - 3
SUBJECT — SECOND LANGUAGE ENGLISH ( SLE )

Time : 1 Hour Full Marks : 50

OBJECTIVE TYPE QUESTIONS

1. Grandfather had the distinction of being the only member of the party ........ .
(A) to have bagged any game dead or alive
(B) to have killed a jackal
(C) to have spotted a deer and wild boar
(D) to have brought home a monkey
2. Grandfather made straight for the particular cage in which Timothy had

been ............. .
(A) placed (B) caged
(C) kept (D) locked up

3.  What tempted Gandhi to sit in the Persian class ?
(A) Popularity of Persian language
(B) Rigid nature of his Sanskrit teacher
(C) His love for the Persian language

(D) The easiness of Persian language

4. As a student Gandhiwas .....c............ in Arithmetic.
(A) good (B) fair
(C) weak (D) bad

S. Lencho looked at the north-east sky and foretold about the ensuing rainfall.

( Replace the underlined word with another word of same meaning )

(A) guessed (B) imagined
(C) predicted (D) thought
6. Apart from the crest of a low hill, Lencho’s house stood ............... .
(A) in the middle of the valley (B) in the middle of the low valley
(C) in the middle of a low hill (D) in the middle of the low valleys
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10.

11.

12.

13.

The setting of the poem “The Solitary Reaper” is

(A) the Hebrides (B) the British Isles

(C) the Arabian deserts (D) the mountain region of Scotland
What makes William Wordsworth motionless and still ?

(A) His weariness caused due to climbing up the hill

(B) His interest for learning the words and rhythm of the song

(C) His attraction to the thrilling voice of the girl

(D) His emotional feeling for the melodious voice of the girl

The poet considers the ‘Summer Sun’ pleasant because ............... .
(A) she belongs to Ireland, a cold country

(B) in summer many kinds of flowers bloom

(C) in summer streams flow and nature looks lively

(D) her favourite season is summer

Dorabji Edulji Gimi was a lenient, popular, good and disciplinarian teacher.

( Find the odd one out in the underlined part. )
(A) lenient (B) popular
(C) good (D) disciplinarian

In the poem %Village Song’ the child desires more than the comforts of home. It

IS ceivininienen, .
(A) arich life in the city (B) a peaceful life in nature
(C) alife full of pleasure (D) alife of art and creativity

The flowers mentioned in the poem “Village Song’ are ............... .
(A) rose and lily (B) champak and lily
(C) marigold and lily (D) lotus and lily
The river-isle is haunted by ............... .

(A) Koils (B) Mynahs

(C) Nightingales (D) Parrots
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Which state is separated from the Northeast India by ‘Siliguri Corridor’ ?

(A) Assam (B) Sikkim

(C) Meghalaya (D) Manipur

Ningol Chakouba, a festival of Manipur ............... .

(A) binds and revives the relationship between married girls and their parents
(B) preserves and passes down their oral history

(C) encourages their cultural and artistic activities

(D) represents hunting and food gathering activities

The North-East India is a collective name forthe ..................... of India.
(A) Western-most parts (B) Southern-most parts
(C) Eastern-most parts (D) Northern-most parts

The flowers in the poem ‘The Flower School’ are compared to the ............... .
(A) School children (B) School teacher

(C) Raindrops (D) Thunder-clouds

‘The storm-clouds rumble in the sky.’ Here the word rumble’ means ............... .
(A) to make a loud harsh sound (B) to make a long deep sound
(C) to make a pleasant sound (D) to make a soft sound

The beggar agreed to chop wood because ............... .

(A) he was hungry and wanted work

(B) he had been trapped by his own words

(C) he was strong and stout

(D) he was in need of money for vodka

Sergei, the advocate, suddenly remembered about the beggar when his eyes fell

on the man’s ............... .
(A) overshoes (B) overcoat

(C) drunken eyes (D) red spot on the cheek
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21.

22.

23.

24.

25.

Day by day, the amounts of harmful gases are increasing in our atmosphere. It

would eventually lead to ............... .
(A) respiratory disorder (B) global warming
(C) lesions (D) irritations

Which of the following diseases in the box are caused by air pollution ?

L Eye irritations
II. Scratchy throats
III. Malaria

IV. Respiratory illness

(A) 1,1 and III (B) I, IlandIV
(C) L IIandIV (D) 1III, I andI
Brain : I'm Vicky’s brain !

Ammu : Where are you ?

( Complete the dialogue from the given options. )

(A) In the art museum (B) In the formalin jar

(C) In the hospital (D) In the college

Vicky rode his bike without wearing his helmet to his friend for .............. .
(A) an ordinary work (B) enjoying a wet monsoon day

(C) sparing time with Lorraine (D) visiting the nearby lane

Which one of Vicky’s characteristics is not displayed in the poem, “From the

Formalin Jar” ?

(A) Vicky was a strong and stout young man.

(B) Vicky believed in taking pain to succeed in life.
(C) Vicky was careful.

(D) Vicky was good at maths and computer.
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26.

27.

28.

29.

30.

31.

Lord Eustace Percy advised the students not to ............... .

(A)
(B)
(©)

(D)

choose a trade or profession carefully
work hard and continue learning
hesitate to ask advice from teachers

maintain an untarnished character

What is the priceless possession of an individual ?

(A)
(€)

During which trip did the bullock make.a last effort, but fell down on the

Sound mind (B) Character

Sound body (D) Loyalty towards duties

ground ?
(A) third (B) fourth
(C) fifth (D) sixth

Who has all the following characteristics in the story Village Judge’ ?

(A)
(€)

“Labour was the only thing men called their own.” Who said this statement ?

(A)

(€)

o He / She had a small piece of property.
o He / She threatened to call a Panchayat.

. He / she was neglected at old age.

o He / She had deep faith in God.

Algu Chaudhury (B) Kariman

Jumman Sheikh (D) Old aunt

The old man (B) The old man’s father

The old man’s grandfather (D) The writer

Pick out the correct grammatical sentence :

(A)
(B)
(€)
(D)

Muna does not neither eat fish nor meat.
Muna neither does not eat fish nor meat.
Muna neither eats fish nor meat.

Muna eats neither fish nor meat.
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32.

33.

34.

35.

36.

37.

38.

39.

Idli and chutney .................. my favourite breakfast.

(A) has (B) is

(C) are (D) were
My family ......ccocoeenennene. divided on the property issue.
(A) has (B) have
(C) is (D) are

My grandmother is .............ceeeueenen. the doctor’s clinic.
(A) in (B) at

(C) on (D). under

This answer was written ............... .

(A) in a pencil (B) with pencil
(C) in pencil (D) on pencil
My family visited me last week.

The underlined word can be replaced by ............... .

(A) called up (B) called off
(C) called on (D) called out

Suhani asked her mother ............... .

(A) why unhappy she was (B) why was she unhappy
(C) why she was unhappy (D) why unhappy was she
My grandfather set ................. a new school for poor children.

(A) in (B) off

(C) out (D) up

Tell me if Smruti would go there.

The underlined clauseis a / an ............... .
(A) noun clause (B) adjective clause

(C) adverb clause (D) conditional clause
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40.

41.

42.

43.

44.

45.

I have already read the story book you gave me.

The underlined subordinate clause is a / an ............... .

(A) noun clause (B) relative clause

(C) adverb clause (D) independent clause
The boy danced ...........c.c........ he were a film hero.

(A) so that (B) asif

(C) because (D) since

How did you work out the sum ?

It can be changed into Passive voice as : .iiiveuvenienenn.. .
(A) How was the sum worked out ?

(B) How the sum was worked out ?

(C) How is the sum worked out ?

(D) The sum was worked out by you

The students laboured hard .................. they were tired.
(A) as (B) although
(C) since (D) if

He said, “Good evening”.

It can be changed into indirect speech as : ........cccceveienienn.n. .

(A) He said me good evening. (B) He asked me good evening.
(C) He wished a good evening. (D) He wished me a good evening.
Pick out the correct grammatical sentence :

(A) There was no news nevertheless she went out.

(B) There was no news, nevertheless she went out.

(C) There was no news, nevertheless, she went out.

(D) There was no news ; nevertheless, she went out.
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46.

47.

48.

49.

50.

Character is a priceless possession. Keep it, therefore, untarnished.
The underlined word can be substituted by ............... .

(A) free (B) without any black spot
(C) without any problem (D) without any criticism
She said, “When I left home, it began to rain”.

Choose the correct reported speech of the above sentence.

(A) She said that when I left home, it began to rain.

(B) She said that when she left home, it began to rain.

(C) She said that when she had left home, it had begun to rain.

(D) She told that when she had left home, it would begin to rain.

The house .......ccocceenennne. two bedrooms, a kitchen and a living room.
(A) comprising (B) comprisal
(C) comprise (D) comprises

A violent tropical storm with very strong winds is called ............... .
(A) cyclone (B) tornado

(C) typhoon (D) hurricane

There is almost no sugar at home.

The underlined words can be replaced by ............... .

(A) hardly (B) never

(C) barely (D) hardly any
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SUBJECTIVE TYPE QUESTIONS

Time : 1 Hour 30 Minutes Full Marks : 50
1. Answer the question in about fifty words : 5x2=10
a) Give an account of Hundred Drum Festival.
OR
Give a short note on Lencho.
b) The poem “Village Song’ is based on the sweet and soft argument between a
mother and her daughter. Who do you like to support and why ?
OR
How does Wordsworth describe the girl in the poem, ‘The Solitary Reaper’ ?
Who does the poet compare the farmer girl with ?
2. Answer the question in about thirty words : 2% x2=25
a) How should the school leavers pass their Leisure hours as advised by
Eustace Percy.
OR
How did Gandhi react when he was ordered to pay a fine of one or two
annas ?
b)  What do the Flower Children do when the rain comes ?

OR

What sorts of attractions does the honey child find in the wild forest ?
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Suppose you are Jiban Kumar Das, a reporter of ‘The Times of India’. You have
visited different places of Cuttack and found the excessive use of plastic at public
places. Write a report to the Editor describing the issue of Plastic Waste

Management in Cuttack City. S
OR
Read the following passage and write a summary of it :

Budhia Singh, a child prodigy, ran 65 km at the age of four, gaining national
attention. Born in 2002 in Bhubaneswar, Odisha, he was trained by coach
Biranchi Das. His amazing running talent brought him name and fame but also
raised concerns about his health and well-being. Despite these challenges,
Budhia continued to run, participating in national marathons, winning awards
and inspiring many. His passion for running made him a child celebrity in India.
His story shows the importance of supporting young talent while keeping them
safe and healthy. Currently, Budhia is in Delhi pursuing his dream of winning an

Olympic gold medal and leads a quieter life away from the spotlight.

Write an essay, in about 200 words, on any one of the following topics, keeping to

the outlines given : 10
a) Your Headmaster :

[ Name, age and appearance — qualification — his relation with students,
staff and guardians — his duty, discipline and responsibility — your attitude

towards him / her |
b) A Visit to a Zoo :

[ Location — description of the zoo — animals and birds you saw —

memorable moments — Did you like ? Why ? |
c) Importance of Technology :

[ What is technology ? — Why is it essential ? — role of technology in daily

life — role in education — benefits of it — disadvantage |
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Translate into English : 2x5=10
asiel Q4 6968116Q d6Q | 64 69616Q daF 99 | -1 696 dIq PR 69N

6 21l @Q8 | Ag IR 6 [ILBIFIAIER QI AAIZIZ | 64 671Q AQ0IQ o

dler 26T |

OR

AIFIN - 9QQ @8 ? FRY R FRANIRI ?

AGIR — YRG! A 2AIF YR |

AR - QA YRQ 691U |

AQIR - 2P YIRS AA 5T 6Q IAEG RIS |

AR - AGEQ ?

i)

Suppose you are Priti / Faresh Nanda, studying in Class X Govt. BJB High
School, Khordha. Write an application to your Headmaster requesting him to

lend you some books from the Book Bank. S
OR

Imagine that you are Rajiv Mahapatra, Nayagarh. Write a letter to your
younger brother studying in Class VIII in Govt. High School, IRC Village.

Bhubaneswar, advising him to take part in games and sports. S

Read the passage below and answer the questions that follow, each in one or

two sentences :

Once there lived a family in a town. The family members had a bad habit of
throwing garbage here and there on the street. The people of their locality
tried to pursuade them, but all in vain. The whole atmosphere was getting
polluted. Tired of their behaviour, the people of that locality complained to
the Sanitation Department of the town. One day, one child of the family fell
sick. At that time, a sanitation officer came there. Looking at the garbage all

around, he decided to educate the family on the value of cleanliness. He told
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them “Your son has malaria. It is a disease that is spread by mosquitoes. If
you throw garbage on the streets, it will spread diseases all around”. All the
family members now understood their mistake and promised to throw

garbage into dustbins.

Questions : 1x5=5
a) What was the habit of the family members ?

b)  What did the people pursuade the family ?

c¢) What did the sanitation officer decide ?

d) What does ‘it’ refer to in the passage ?

e) What message does the writer wish to convey through this passage ?
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MODEL QUESTION PAPER - 3
SUBJECT — THIRD LANGUAGE HINDI (TLH)

QG : ¢ A&l Q4 Qs : 8o
Time : 1 Hour Full Marks : 50

OBJECTIVE TYPE QUESTIONS

1. BN fohdeh T T A FHT AR ?

(A) R Thehd ITA b (B) hITS STH oA

(C) T T I (D) <hic §I4 91 &

2. Fw HI QM % 7 & Fehl T9TRt 78d B & ?
(A) TTIE ST ST (B) TETS ST
(C) <& (D) "<

3. T % THY FAT §¢ Wl A g ?
(A)  defdlR (B) =M
(C) s (D) "4

4. I U BA TE @ral ?
(A) TTRR B) T
(©) g (D) TR

5. ‘TIAT Hiadr H R A9 TGS ! FIT hal T § ?
(a) ddsfier (B) W
(©) & (D) T
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10.

11.

12.

Tl SaTen weg g

(A) ¥9d

(€ 8IY

wTereT=eh 1 BT

(A) T

(C) HE

faehedt § 9 gfg weg w1 v -
(A) =

(C) «ma

‘Sfa’ &1 forr afteds ¢ 9 =1 8 ?
(A) i
(@) Shierl

R T I ggde &9 (AT

(A) B &=

(©) &=

w4 % fore vl @it = 2 2

(A) <FdRN

(C) e
fremr-faam & Sa-afg fras augea 2 2
(A) -

(C) HE 6T Wet
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(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

3 5= |
2 &=l |

TRieT-farey
HEM I AR



13.

14.

15.

16.

17.

18.

19.

TIF-TI 4 T3t STy 1 BTt ¢@eht fohd TehR hl STl &1 3T=gST o ?

(A) TH (B)
(C) (D)

gl gaTet 3 3 faeet g o1 et i 2

(A) R W (B)
(C) wACHH & &I (D)
TR = fopdeh WY Tt TR T ?

(A) Tt (B)
(c) RrE=m (D)

foenT gl 9 It T AT

A) FRE (B)
(C) HE FE (D)
=i A friien faeee § seme | 2

(A) g o Fel-FelH €I & BRI (B)
(C) =i h g & Hrw D)
g1 3R | 918 | I form wRe o fawfe-Tag 8 2
(A) HEEIE (B)
(C) WISH D)
“mer o’ freey foeaa foman @

(A) weTeet ot (B)
(C) Al TF (D)
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20.

21.

22.

23.

24.

25.

26.

e 3Tfeem i TgH # |
JEd ITeRT H hIH-H Heh T T TIH © ?

(A) (B) =Y

(C) ®IGH (D) fereRTr

fafen forar = feardt 2 2

(a) 3R = (B) I WS

(C) T T i (D) g Y9 % Soiedl ol
forereh wTe T o1 T gATS <1 § ?

(A) It hi Freqsuar & g (B) hY < §IG

(C) T % &g (D) T & &E

ol 7 3ot arieneff arft & ferment wewa gfewrfea femam 2

(A) ST TR (B) HBNU-FHAT o foaa= w1
(C) WA % & (D) ¥ OR faehed Tel &
TSl 9 30 ST AT i fhw wm # & @ 2

() wiger-Har | (B) HHeE-Tar d

(C) FH-SER H (D) “H-J=R A

WISt 3 CIETTERT i 991 9TH i o fIT hat ?

(A) STTEhAT (B) Tadl

(©) ferr (D) RaT

‘Y’ FEAW fohE T o ST I & P

@) TreegamEs, sfvEEeEs B) T, TEvaTas® (3T9)

(C) TIdTEh, HEUdTEh (D) TeraTeh, TEvaTas (Ae)
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27.

28.

29.

30.

31.

32.

fre gl @ qEvaTas qaAT 1 T HINT

(A) M, T (B) 15, TO

(© S, =8 (O) I, 9

T3 ST B [T HA & |

ITE areR B T ug & wgentae

@) T (B) YW

(€ FM (D). T &M

Eleh HATGHI 1 Ig HH HEAT =T |

JEd ITeRT o L@Tfehd U | Shi—H1 fomIvor ¥ 3R g 2

(A) @I B) Fived germEmE
(©) FfTea HeaTe () Tifvea ufmmmEs

‘T fore YRR T 37T B P

INERERIRCEL (B) HeUsIu®
(C) TS (D) forernfesias
i FHGTAl o T T gH T 41 3 gm 2

(A) et (B) &

© I (D) g

fere a1a ek fretgft <t 3y €ifta &t 3 2

(&) TH B) &

(© (D) =R
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. ifgert 4 firg =1 el s foamn »
(A) AT OS * I™ (B) 37U uTeft o U™

(C) 3ol HEl & 9TE (D) 3o @fean & g

34.

35.

36.

37.

38.

TiTg TererehT =l SRt B STT T IWel-hg shidl AT ?

() TS g H
() Tre=ia & gg

‘gela’ Ieg | -1 UL 8 ?

A) s
(€ =

“IreArreh’ wiee | I9E BN
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(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

&t & g @i
THICT h IS I

g2l
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39.

40.

41.

42.

43.

44.

T g giETiesr’ &1 gameff sree sars

() e (B) e

(C) wfereht (D) HTIeRT
ERLILEEIRDIDEI Gl TG

(A) IHR B) Tumr

(C)  SIASTIDN (D) bl
HIF-T1 ST T4 Tl hl =T 58 ?

(A) (B) WIS
(C) BTNIET (D) &l
................. Ikl -AeH] 1 foems Fle 7 |

(A) WA (B) WEW
(C) 3Ty (D) Terfersht sfet
TATE BT o Gid fohdd @g o feu ?

(A)  ShieHT BT A (B) W &A1
(©) T (D) Tl & A
T A 97 for@n 2 |

Y 1 § A Y¢ ¥qrsy :

() @A B) foa

© T (D) ®
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45.

46.

46.

48.

49.

50.

TR1erer 3 B I 3fa8™ ggm |

TG 919 ° fohad 4 2 ?
(A) TH (B) oM
© (D) =R

= foeredi @ @ gt fspan ifeT -

(A) FATT (B) 3

(©) & (D). T

e foepedt ® & -1 foshen fgedta Jwomeis &9 § foran mn g 2
(a) (B) SHTETHT

(©) gsiHI (D) feterm

T A UG TR |

IE AT IAHM hTed BT HIH-91 €Y & ?

() HTH FAHH (B) dTchifereh SdH
(€) @iy I (D) HWTeA FdEH
IR 1eq T HE T fafau

(A) T B)

(C) SN D) Frm

Hi-wt fspam 1 womess w9 faesgat 7@ grar ?
(A) TSAMT (B) SATAT

(C) =pledT (D) QS
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SUBJECTIVE TYPE QUESTIONS

Qg : € Al No aFe g4 Q°qyl : 8o
Time : 1 Hour 30 Minutes Full Marks : 50
1. Tr=fafgd geai & 3w dfSu - 5x2=10

®) S el M A W, Fft @ ME W - WY HEAT b MYR W 3
HATRT |
e
TUR & U1 9¢aAdl & | b ? - Sl S T o STER W T i |
@) @t fodesre 3 319 AR 1 foRd STt | SerRn ?
e
firg b1 wreoerer feufa sheft oft »
2. FfafEd wei % W T 5x2=10
%) ‘TR HeA &I @Id 7, TR T & T um,
3HH W A1 HEl =8 8, A wegl 7 fafa |
Jera
g 1 frior’ wfaar w1 ger 389 Ty FHifu |
@) ‘g@ i 3w afen @ S S w98 8 =9 |

39 Ufth o1 Wa1Y 83 el § §d18T |

A

TSI i H i, T H FT FEN AT =R 7 2 fafaw |
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e forg a=ae & et I8 7T Tl o I I - 2x5=10
T I g@ o fE 2, 3o fawdia we & stfée g @ | w9, 9=a it e |,
TEU I HY A UGAMI AGHT § | WRAeW H 9gd © €W &, 3 99 ° 3w H
Tl TIH & | 39 G9R § *i5 vAn v T8, e sifgen 1 wew w&er 1 fomn
TR | At e HEd B oAfEEn W vH ® | AR 96 3R HEhid 1 JATaR
Jfedn B | HeTen et wew 3R AfEEn & U & | W AEE % wE A WA B

IS Teets | WM g, HeER, TuTe 379 3 fE|r %1 y=9R fh | 3 @ER
1 T o4 o fou |t s S1fEET A1 uTeE T 3TavEes ®

i) SAfEET A I T2

i)  TEoT 3t AfEE ° IR R ?

iijy Gt ST § T 3P ' ?

iv) Teregia atféEm o1 y=m fomam o 2

v)  IEd T ST Uk 3UIH IYes fofgu |

fehgl Utal el ol fe=al § 3TATE HIIT 2x5=10
+)  2l6¢ AT 6N UG QAL K |

W) QR QUPEq ¥l 96 621R8R |

T) Q66 QR @' &I AIRE ?

) ¢ AIRceal AR Q9SE 98 @] |

§) 20IQ Q6F Qe 6 21dm ?

I) Q91 9RQ J984¢e QYS! AT QIAQ |

T) Qla dIF6Q @96 @@ 2RIQ & 6RI 2T |

) 2eAE 8 R2IQd6Q A8Y eRIede 99 |
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freemgar f=fafaa st & 3@ s - 2x5=10
%) T@Ifha UE 1 oI 9gat L I i T2 &9 § fafau |

3T h1 T Blell & |
@) @ifehd U¢ W1 = sea L are i e 8§ fafm |
TH TUH T g TR
T)  UE Fgl ST hl I Terdt off |
59 A1 I g Hlh TR |
) T wee % TN ¥ Tk giedeR 9 ST |
g) 3ud et foreht 2t |
39 919 ! AT IAAH it H gt L I4: fefau |
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MODEL QUESTION PAPER - 3
SUBJECT — THIRD LANGUAGE SANSKRIT (TLS)

QG : © A&l Q4 Qs : 8o
Time : 1 Hour Full Marks : 50

OBJECTIVE TYPE QUESTIONS

g I foga -
1. 3I9HY: & 99 W =JdgIq ?
(A) ® T (©) TE o) fiem
nell=g a[=¢ 9% des

2. AU gHRITET 9 Tfavrf= sfd & 318 ?
(A) U (B) - ARt () dreHiTh: (D) =HEE:
99 dPQAQQe QRPIR QAR
3. T Gferdsty f T ey 2
(A) IS (B) IESH ~ (C) P D)  3fem

2leel 21y 2RIy ag e

4. @ SUBEHTR UgIq HecaTEar T ?

(A) TR (B) A () Fegd (D) AT
QI0182IQ6% €g2IQ6% A°2galgeL QAGRIGES
5. VISATHEHAT: SIEgd: IRuge $3 fHfera: »
(A) TS (B) T@EFYAd  (C) WEUNERY (D) TSI
FRenIa QAL 0F QINeE A2 0% JRQIAER o8 FIG6Q
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10.

11.

qgsiier
(A) FES + I@ (B

AQ6G + 2I6S]

el

(A) 9T + Tt (B)
Qe + o2l

 + T,

(A) THH (B)

QAIRA,

M+ 1

() EH: (B)
6QulRs

T + Teh:

(A) (B)

[N ala}]

oS + AE (C)

AR + 2IESG]

T+ A (C)
6eg! + gall
[ELECY ©)
Q69R¢

- (C)
6QYI8

I (C)
6Qa8

foreehTe: B STTASIIISHEU TIHTId ?

(A) TR (B)

ALIR1N6Q

RUICAN (C)

OISR
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12.

13.

14.

15.

16.

17.

THFSITIHEY el qUifavaTd: Sa: ?
INRCEEIRL= (B) WM™ () IW(I<H (D)

QEARFLTR ARRREQ Jlatalal=ga

TEhd %: Ve [EUAIIATEh: ?

(a) T (B) o9 (€ (D)
ol 60% 694!

T SfiaTa: I oF: 9 Wad:, dq 5 yafq.?
(&) =M B) 3 (©) v (D)
Y aq R

i o 3 % ferfaam e 2

() Fydag (B) HG (C) TR (D)
8181@6@@6@ QAL ERLER ALIQNACER
ST g I T -

I = 3 T TE: A FrsrHaeq |

(A) AR EHt  (B) W HEH () FuRw mwedt (D)

2URAES AQA1 @U6Q A AIa68 Aga
FAaferee o fprfy T = wHTETieay |
(A) IR ST (B) FSRAN WYl

@ed gl 2AUA6QI64 galell
(C) 3o SHHfOT T (D) SRS gem
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18.

19.

20.

21.

22.

23.

gyt faveer 3% gar fshaa |

(A) heam wEl (B) SERXWE (C)
QQ6Qles a1 ARIG6Q I
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24.

25.

26.

27.

28.

29.

30.

AL HE U9d ?
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QURIG,

(B)

HENST
ALIQURIG

TR 3t vrege vty weg fed -

(A) 3IHIT

2l

(B)

gfea

nalal

3¢ TorgaTeRt S gHEade a1 faga -

pRDINIS)
(A) HHYURE:

QAN

A) wHIdqgey:

AYRYQDs
T e I 9
(A) AR

QIFEMISER

TR

(a) e
A2163] Q6Ql

EliCE

(A) =i =fd sfa
QA& 96 QG

(©) aifor =rfa sfa
QIRE 9QC AL

(B)

(B)

(B)

dqqey:
eagQs

e
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NIERIEEE
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QIFERISRE

g, '
AL1e Q6Ql
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(D)
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31.

32.

33.

34.

35.

36.

37.

“wamn: g 3fa v $a: ;2

(A) HETHILATG B) TR (C) AT
A2AUAGY. QY-S QN2

#e faftR 7 e 3fa T o 2

(A) RTEH (B) WdH (C) IEHIA
QAU QAT AJIFRQ

FaTaerT & Urgesrn fafirerd sfa diar shadt ?

() fog: (B) Wg: (©) ¥Tg:
doleq AlRIEQ QAU

(U= USh hid AN TEqe) ?

() G (B) - UG (ORI
PVQ QLA 6EQ

Rrrenfet = stfe »

(A) bl (B)  hivred (C) Hrar
66 elsmyl Q1!

9 S S a1 3 o -

TR =TT + v, |

() @0 (B) I (€ o=
Ql ye 2110
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(D)

(D)
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39.
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41.

42.

43.

44.
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(A) a1 B ¥
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W= 4+ |
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. 9¢ ¥ 9gl: TR 9 Sicc:ll

(A) T9M: (B) ST (C) IE: (D) e
QURIER QQelleR 6@lQQe6R QUYAGE]
g B ®9 ~ga -
- YIS AT =
(A) fdeeft (B) Tl (©) ThUA (D)  dfemfer:
AGY1 AGAGT NQRAR1 AGASs
. We: ufd: I =
(a) Fuef (B) FHEER () THI (D)  Tehufed:
Qa1 QAR QAT N@RAG8
. YgSIdrEn &t =
(A) WA B) W (© W& D)
4l Q1 99! a1
. TS =
() gt (B) AT (© Wt (D) AT
Qg1 QY1 gyl AR
a7 -
(A) Oy (B) iU (C) T (D) YT

Qg1 QIR [ls] IR
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SUBJECTIVE TYPE QUESTIONS

QAg : @ Q&I Mo AFe

Time : 1 Hour 30 Minutes
1. I: I T Teege 3w forad |
%) g fepmef g¥ sraq ?
Jrera
faerepme: mrg: fawd fo et »
@) ohd T AIGHU A ?

AYS

“TeE | T ST gea | 3 SET aTaE] U Shad! P

2.  IId: I gAr: 3w ey forea -

&) hehdl TINY whel foh sRgIHIA=T ?

JAYa
S 1 i b % ¥ W T 2
@) w3 i e w2
JAYa

UfUEd 7@~ —HeEUN I AL |l ?
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g4 Qs : 8o
Full Marks : 50

2x5=10

2x5=10



FfIREAH 3= dfSe TeHTY ST Fa0 forad - 5x2=10

I SITUE: STEvpel A1d:, 9: IA<HgEl | 3eUd o gehdal: fdar: Tdiaar |

JERAT], W TORYE Rl T IHIRIH 37U | Tehel SIERa: a9 WO Idaigri

feoramaent =My 319w | |1 Teedvd STeeh, SEaad! | 3T AT GrerEmeeimaui

Tt QAT SRATHeAT A9 | AT SEERE: TT: STpetal Fiea Fafeada™ - g |

Ste gy | 31 @ %: qAfd P @ fo =i aisafd @ | 9w 3eq, A

R gur wiesafd | 3@ 99 IR0 =@mEn: Ssfed ety sfa fftae @ wgem

refiEHd T | ST I @ T JET ST | T W g6 Saar) g0 JIom

[RECCICl

TR - ST Sfifad =9 w0 I 3 |
gl =X @ foemt fara a1

AT

i) AP W SifgEd: by atepiq ?

ii) =M gscan SifEE: fopq st 2

iii) TRt fowd Siftrerae wraaT %1 3mEg ?

iv) AT Y @TE FUEIH STl A ?

v) 3T HUTAT: I e A ?
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HIEHY TAH (5) IR TEBTHTTT TG Ho&d - 5x2=10
i)  SIGFIEL AQIFITIR AGFT TRl Q0 |

i) QRIS AQ 9Q 64U |

iii) QURT 7R BFAQ VISY AN |

iv) d99 JAUARDIQ 219] F198 QLS |

V) QIRQ R19R6Q 269e @ aI1deld |

vi) QQQaId gqbea il des |

vil) Q6¢ g6Qlidl QIR @ ?

viii) Q6C171168 RIAICIF Q@ Q-

FUARGAT TSI HTEH G U2 eI T - 5x2=10
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MODEL QUESTION PAPER - 3
SUBJECT — MATHEMATICS (MTH)

QAqg : € A4l 08 A7 g4 Q°qyl : 8o
Time : 1 Hour 15 mins Full Marks : 50

OBJECTIVE TYPE QUESTIONS
ARYE FIQ 69RG x = 0 ANAASTA EAYFG 629 ?

A) x-2Y (B) y-as (C) ARQQQIAT (D) 6@l8d

)
o
K¢

AQ x+y=0 B y<0 DY, 6069 FIRYS AU 6]V YR ?

X 2 1 1
A <o B) xy<O Q" xy? <0 D) %=>0
32%+Y _g1 @ 2% =é 626 x B y'Q QIR
A (1,1) (B) (0,0) € (2,1) D) (1,2)

4x% —2x+5=0 QaIO ANRAEQ JRYVQ QU @& 629 ?
(A) AL G AR (B) <AL G QAR

C) QIge 6 AR D) 2QIYQ
JoR Q718Qd Fg 69Q QA0 ANRAEQ 1L % ¢ -% 629 ?

(A) 6x2+x+15=0 (B) 6x2-x+15=0
(C) 6x2-x-15=0 (D) 6x2+x-15=0

x? —x=P(2x-1) RS ANRANQ FJRQAQ AT 0 686M PQ MY 666 ?

(A) B) - € 2 (D) -2

N~

1
2

a(b-c)x?+b(c-a)x+c(a-b)=0 QUG ANRANQA 6GITI Fa 1 6T6M ARY

ARG 6@63 ?
b(c-a) a(b-c) a(b-c) c(a-Db)
(A) a(b-c) (B) c(a-Db) © b(c—a) (D) a(b-c)
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56 (QIg YRIA6E 9 F6m U& IQ AIMM 6D S @9, 66G6Q | S| 6960 ?

(A) 25 (B) 10 (C) 32 (D) 5
206 QIS RAYIRIR | 648Q 85 QIANE QBRI G AEY AR | F Q<

QIANLR QAN -

w 2 ® < © 3 D) +

200 gelIg @ A6er 26Q 9 RAUIARNI | IR G KAEQ 66N T AITAQ ARG

6Q6Q ?

@ % ® = © 2 D) +
1,-1, 1, -1, ... AQRAQ S,; 6@6G ?

(A) 2500 B) 1 (C) 5000 D) ©
4@ AAIBQ GOPER ¢, = 18, ¢, = 9 62EM 69 ILT g7 629 ?

(A) 9 (B) 10 (C) 11 (D) 12
69115 AABQ YOIGQ S, =512 —6n €I6M t, —t,_, 6RECG 629 ?

(a) 5 B) 6 (C) 10 (D) 20
1x5+2x6+... AQYAQ S, Q MY 6Q6Q ?

(A) 605 (B) 140 (C) 585 (D) 1375

@ AR JUP6R &Rl G6RIT A°HIQ QEITR 693 | F-UF ARG 9 626m AIRIIQE

ABR 6RCE ?

A) 3 (B) 2 C) 7 (D) 5
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16.

17.

18.

209 896a L | L i , 42 -0-6 626 £EQ Ry 6a6E ?

AN

N

v
o~
iy

AN
X
N

(A) 06 (B) 04 (C) 0-6 (D) 0-4

o9g 996Q DE Q 6644 Age @a |

] c
E
«— 4 6.8, ——
5.0 & 3
@ 2ead. ® 2 ead
©) 2 62.d. (D) % 6.8

ABC @9@6Q AD, /BACQ Q7QHER | ABD 3999 699TR 12 96 6Q.8. 626,

ADC GQ8Q 6R8TR 6960 ?

B D C
(A) 20 Q9 6Q.8. (B) % Qq 6Q.4.
(€) 1596 62.4. (D) 2596 62.4.
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19.

20.

21.

22.

23.

24.

AABCQ €880%
-2 626m QY : BX 6060 629 ?

AABC ~APOR, por @ emgds ~ 4

P

B C Q

A 4:9 B) 9:4 (C) 2:3 (D) 3:2

QRG A GYEQ AR QIS 5 : 6 | U§ 6QAAREA QYA QAR
5:9 94, 6069 697 QA 96 ARG AAQ 6T6IR QUG 6960 ?

A) 6:5 (B) 25:36 (C) 9:5 (D) 5:4

5,6,7,7,5,8,9, 6,9, 8GR J0qR @63 ?

A) 5 (B) 7 C) 2 (D) 909e Q@
n
X1, X5, X5,... Q0 n AR QYT AR M 626R, D (x,-7) @ AIQ
i=1
A M-7 (B) Mn-7 (C) Mn-Tn (D) M-7
Q@ 21, 23, 25, 26, 27, 28, 29, 30 RGYIFYLR UQ NGl 28 Q QP FAIAN, 606
qRIC 6@60 @F de ?
A) 2 (B) 15 (C) 1 (D) 05
(3,4)6(1,-2) 09Q0Q A°6UIRR 6QHIE] 2 : 1 AQUIGER LTRAFE KQAS

399 QIRIT FIRYS AUQ 699% ?

(A) (é o) B) (-1,-8) () (2,1) (D) (—%’—%)
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25.

26.

27.

28.

29.

30.

31.

601G QRQ UIAQ JI8FLeYa IRIE (4,3) B (2,- 1) 626M, QAQ XL
JIRIET 6R6Q ?

(A) (3, 1) B) (2,4) (€) (6,2) (D) (3,95)

A(0,0),B(5,4), C(-2,8)d180Q 344 Q0 689QTR 660 96 YK ?

(A) 11 (B) 24 (C) 20 (D) 32

—~

A(1,2),B(2, 4), C(3,5)d180909¢ 39a6Q AB B AC QI299Q ALY

6916 9Q2S! 6QHIHEQ 684N ............ 9ee |

J3 1
A 3 B) — c) — D 2
a) 3 B) 3 ©r - D) +2

JoRA 9Q0l, 6999% QG 8 ol AR @Al AU 2RI AHRT :

(A) 9oRY QAC! + ool 2IJ el = 699 JL QG|

(B) 696 Q9 @Q@I + gQel 2Rl Qe = Joag Q|

(C) d8I @QQl @@l + gG@al el = ool dIdl QA

(D) 9oRY QQQI + 620 VY YRG! = Aol 21dQ YRG!

6910\ ALQA6Q 2013 AITLIEQ AGR UGEIEQ €J3Y A°HYI 400 G 2015 AILIER @
€]0Y Q°HYI 450 626M, 2013 § 2015 FRIERA QUG GRG 70y A°HIIEQ 96@G! &
6@6Q ?

(A) 12% B) 12 (©) 11% (D) 50

@ AdRY QYR RAIQAEQ 69ISI 6RIRYQ! @ERNACQ YL 9L (0,0), (4, 0),

(8,0), ... 4IIF QU6Q QAGILIN 6062 8 ¢ YA FIRIT 6R6Q ?

(&) (32,0) (B) (28,0) (C) (0,32) (D) (0,28)
691N 6QHING ASIYR ........... ¢ QaQ QI 62IRAIAS |
a) 1 B) 2 (C) 3 (D) QY
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32.

33.

34.

35.

36.

R Q2Q OIU AIRNYS 614 :
(A) GRERIE (B) QC6RIE] (C) 9Y6RI& (D) AAYAR 6QI&l
Q79 996@ PQRS Y@ QRISRWE 9QYFl A B B Y@ 9@ QUdg Qe g |

—~
m PAQ = 52°, m SBP=78° 626@ MmZORS Q Qe 6260 ?

B
P S

A °

0 R
(A) 60° (B) 65° (C) 68° (D) 75°
QR QAQ 6@KeQ O | mLOXY =35° 6@6m ms/XZY =

z

(A) 95° (B) 100° (C) 120° (D) 125°
6QlICN QR6Q KL 8 MN QYIQQ 99999 Q@9 23y 1@ @9 P OI6Q 68Q @93 |

KP=462.9., PL=669.8. 8 PN =8 6Q.7l. 626m PM Q 6844 6960 629 ?

M
N
) "
N
(A) 4 69.9. (B) 6 69.9. (C) 369.9. (D) 10 69.4.
6OIGN QeQ QU3g IR @RQ Q@ 9@ ge G 62416Q 66T AR AR

RIS ?

A) 1 (B) 2 (C) 3 (D) 2§y
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37.

38.

39.

Q8 596Q 0 9RQ 6@RQ | BC 9@ 96 UG 1@ Q4@ 94 | OP,AQ Q AAQHE

QR6M, Q6QIQ AU 60R AAAT 0K 26E ?

A
0O Q
B C
(A) AAPO ~ AAOQ (B) APOQ ~ AAOQ
(C) AAPO ~ AABC (D) APOQ ~ AABC

601G QAQ QWsE A TR QRT 689 Qag KIFET P,Q B RS TQ6Q 689

@Q3 | AP=469.9., PO=169.8. 8 AR =2 6Q.71. 626@ RS 696Q ?

Q
P
A
R
S
A) 569.9. (B) 66<.9. (C) 869.9. (D) 10 64.41.

Qg 9Q96Q Q@ QA Uy Y@ IQ Pk QR IR 689@ Q@ Q@Q M B N TQ6Q

68Q @6Q | PQ Q? 9AGQ T IQ6Q F§ @6Q | mLNTQ =2m LMTP 626@

Q6qIQ FRIQ 6996 OR ?

(A) MT=MP (B) MT = MN (C) MT=TP (D) TP=MN
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40. 9Q9Q QR3¢ 9AG 9AQ AAF ARG TR U9 PO G Q1AYRQ ARIAS FFTRHUS PR

41.

42.

43.

44,

45.

| QRQAQ 69992 O, B 0, FIEQ QG| d 686M, Q6P AU 692 ARG 0]
26e ?

R

(A) PQ=PR (B) PQ< PR (C) PQ> PR (D) PQ<PR
tan®+cotf =2 6R6M tan20+cot?0= 6Q6Q ?

A) 1 (B) 0 C) 2 (D) -2

AABC 69 sin(B;C) Q 719 6969 ?

(A) tang (B) sin% (@] cosg (D) cos—=

A+B=45° 626M (1+tan20°)(1 +tan25°) Q QY 6060 ?

A) 5 (B) 2 (C) 3 (D) O
6915 gI9g IR FIRAIAQ 919Q 6918 ARCQ AAE 6960 626R AQ AFIRIQ

419q 642 QIeQ 6Q18Q 2LREQ AQAS 15° 62Q ?

(A) 15° (B) 30° (C) 45° (D) 60°
QR 9Q6Q PQ QIGIQQ VIFEQHAL Y@ AR 6GIEQ &Rl Qa6 @9 R B S 0Ig

FIGIAQ §19Q @189 ARG AR AFLYAR 626M FIGIAR ARG| 696G IAR ?
P

e— A aq =

“— Hh YR —>

(A) ab (B) Yab (C) (D)

o
o
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46.

47.

48.

49.

50.

dane AAg9e RSTR 6Q66 ?

A) QFQ AR x QPG

(B) Q9 9QQ1IAl x Q20! + 2 x IAQ /TR

(C) QFQ 6QTR x LG + 2 x YAQ AQAQ1IE|

(D) 2 x Q] 6F8TR + @ia alQiel

691N 6QINRQA IR 690R A9 6QFTTR FITIA ANFYYR 6AGTR 646w QT

62.8.1 60IRSQ QUIAIF 6@60 6Q.4. ?

(A) 3 (B) 2 € 1 (D) 4
601G 6RIQ 99° 695N JRGQ AT ARSI 9G° AT QA NIAIS FHYL 6T6R,

64R@QR AR AQUIC 6060 6¥Q ?

A) 1:2 (B) 1723 (C) 3:1 (D) 2:3
44 0Q Q14 910Q 7 62.8. UIAIF TG 6@60IT QR FUR FALIRAIRS ?

(A) 100 (B) 10 (€)

\1|ﬁ

(D) 1

)

e gora 9f A09I1g 39F | 9AQ aRQITl 690R oQ, §Iia cATR 696 Q4
Aol R @26l 243 0 626m, JFNQ KR 6960 U A9 ?

(A) 24 (B) 12V3 (C) 2443 (D) 72
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SUBJECTIVE TYPE QUESTIONS

QAQE : € Al No a7 g4 a°qyl : 8o
Time : 1 Hour 30 Minutes Full Marks : 50
1. (@) Q@RYSR delIMEQ AARII? @R : 5

(b)

(b)

4x -9y =0, 3x+2y-35=0

@l
A B BNGRQ QIfl 9Q 665N Q11 8 Q6 649 @Q AIQB | 6Q716R IRQ
QIdY 2102 97 3 &9 QY FARI UCQ A SRR 6 B AETY DI 2R
15 @260 6918 @Rl | J62YR YRR QI RER 6R60 @76Q A1LIQ 699 @F
AIRER ?

QG 2x2 -6x+3 =0 AAIRAEQ JRYA o 8 B @4, 6668 YIS 99 64

%+%+3&+%}+2aﬁ=13. 5
@l

6QlITN 2INe6IQR 694y, gg 26aal 8 e NS | 6I9Q VTR

240 96 F6Q 626m 6IQTQ AR 6963 ?

BRCIA ARSI ARG 11 § 189 AUYS 89 A°HIQ AT Qe @ | 5
@l

P6QIT Al a b B ¢ 9@ QA JOUGEQ A@ER YIS FQ 64

b2(c+a),a?(b+c) 8 c2(a+b) QIR AAIBQ YR 629 |

QIACTIT 2AYRE F9Ig YR A6 9 @6 AL QAR QPG 'H' dIQRIQ

QA Fge Q| 5
@l

JIfIe UTGQ gels @Q gl @Q 64, 6915 GYRA QR LA UL

6919 RQARN CAHIHLR 6T, QO QYR 6TAIR ACKR |
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(2)

(b)

(2)

a9 Q91 ALY FAISRIR AUl FQ R 5

Ldwl%l 4-7 | 811 | 12-15| 16-19 | 20-23 | 24-27 | 28-31 | 32-35

QARSI [ 4 11 25 47 56 29 20 8

2R
X, Xy, X, QG n CHIR AFYIFQ ARJAIR M |

n n
9@ ) (x;-5)=60 99 D (x;-8)=24 46669 n' B M Q Al? FQ
i=1 i=1

@ |

gelldl @Q 64, 69IcN YRR IR 6RIIQ ANYHAR 64F 6QATIQ AFSHR
QIgQ 699 QAT 6QHIHE6A AT F6Q 6ATIFFA 6GAIQ 2, 29D

ARG ALLAR 6TWIQ AQAIG AT AR | 5
@l

galdl @Q 64, 695N QaQ AR 694y Y Y AI6e 6@Q0Iq AF

Qe |

ABCD gIT0F6Q AB|DC 49° AD @ ¢dg P | AB 92 Q1809169

d@® PQ ,BC @ Q GQ6Q 689 @6m, J7I8l @Q 64 BC Q FISQ O |

@Al

6915 QREQ AB U@ I | B 969 9agl ARG 4@ QWEQ C 8 D

)

@

QG Qg 6UUQ C-B-D| 9@ CA 8 DA Q@ J2IR67 PGB Q QL6Q 689

@G, YISl @Q 69 ACx AP = ADx AQ.
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(b)

(2)

(b)

199 - °=00318°+sin18°-
gelisl @Ql : tan 63 cos18° —sin18° S

@l
QRG ga dQ0Iq 12 J9Q QRQ 9@ AFCREQ AXYS | 60159 QLG
AT Q@ J4 | gAQAA JIRFRY 6919 @909l 6adIdaq i TQQ
6RYEN FAQUQ F1SRQQAA 6R18R ARG UAAA AYYAR 9, YAQAA
Q90! A4a 9 |
6910\ QR QIS 7V2 6Q.8. | 9LIQ 9@ QUL 6296Q 90° 618 QR
Q8 | 90YEQ 699TR ¢l 9Q | 5
@l
4 F6Q Q4 8 9 J9a IR QAT 6HIRIKIR 6] AV AITY
12 J6Q Q4IAQ 9@ ARAQ QRS {8 ga6q aQIeeR, g%@ QARG 6R6C
629 ?
AB = 8 62.01. 334 6Q9IHE AF? QA | A 3QQ 699ad 3 64.8. QUAIT
QTQ IR 9Q RS 9Q | BRAYQ 28 9@ 90 9a% 249 AFS A9 | 5
@l
2:5 62.8. QAT Y Y@ 9V AFY XA 0F6Q YR ANGAI YL

JARNR @9, AILIQ 1Y 62I& 45° 689 |
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MODEL QUESTION PAPER - 3
SUBJECT — GENERAL SCIENCE (GSC)
QG : © A&l Q4 Qs : 8o

Time : 1 Hour Full Marks : 50
OBJECTIVE TYPE QUESTIONS

‘@ - QG (6QI0a QRIP)
Section - A (Physical Science)

1. Q@G 69% QYe 'A' B 'B' 6Q QaIREE g HCl 994 8 g NaOH Q96 QHIQIQE |
QRA 669 GYI6Q AT ARG Y 6ARBAT RIERIERT LI ARIRI | &8 AN
J6Q ATICITE FEM @' AYY KQQ ?

(A) 69 QYS 'A' Q YR QN g qYIq FAUG 629
(B) 69Q 9YS 'B' @ IR QIR Qga quIq F46 689
(C) 69F QYe 'A' Q IR S421e QuIq 60 629
(D) 69% QYS 'B' Q 9@ Q4@1a 94 390 689

2. QRI-dR F6QI RIS QJIEQ ARG 66R JRIA AAYFR JER UL
RAQAIREIN ?

A) SQIAR, SIAEHIY1T
(B) QATR, QIU6HII1
(C) 640 gI9R, JIaRIRQd

D) QA64IE, BI9 QQIQT
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3. QF goGIT e 699 gLIa gORIa Q124 Qe FUILIRUIGS ?
Na,SO, + BaCl » BaSO, + 2NaCl
i)  ACIAE
i)  Q°6HIS

i) gI9IRQd

v) QIU6sIg1
(A) 6K (i) (B) Q@ (i) 8 (iii)
(C) Q& (i) 8 (iv) (D) Q@& (i) 8 (iii)

4. Q¢ 6AGRAINE C1IQ 69966 FTR OF I ?
A) SRR 621! (B) @999
(C) YRR 6QI! (D) Qe AT AI[AY

5. Q46930 QRLRANR 628

i ag
i) QI
i) ge-aq),
iv) @6
(A) Q9 (i) G (i) (B) €[ (iii) (C) QU (i) G (ili) (D) 6RYR (iv)
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6.

@ 29 P19 Q8 AL YR QIR Q48 ASIRsR
) QA FAAIGI Q& Al
i) QA UG Y A
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(iv)  5a80150 AR G MIegly Sadc a9a6em?

(v) DAI569 Ga 9y, 6 6 eUIR 9686 cTIRUING?
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Subject - ENGLISH (SLE)
MODEL QUESTION PAPER - 4

Objective Paper
Full Marks :- 50

Time:- 1 hour

1. The zoo authorities received Timothy 4. The postman went to his boss (Postmaster)

gladly because it was...............ovvevens, . ]aughing heartlly and showed him the...... .

(A grown up and civilized. (A) letter addressed to postmaster

B 11-ft fairly civilized.
(B)  well-fed and fairly civilized {B) envelop addressed to God

(C) only of six months and civilized.
(C) envelop to God

(D) domesticated and civilized.
(D) letter to God

2. As per the second keeper of Lucknow: zoo,
5. Gregorio Lopez Fuentes was awarded

Timothy died............ .
(A) twomonthsago | e in 1935,
(B) three months ago (A) National Award on Arts
(C)  six months ago (B) National Prize of Arts and Science
(D) last month {C) State Award in Literature
3. One’s inner sense of right are wrong helps (D) State Award of Arts and Science
one to give justice to other. 6. In the poem “The Solitary Reaper” the line
(The underlined part refers to ... ) “plaintive numbers flow" refers to......... .
(A} honesty (A) Sorrow of far-off things.
(B) judicious nature (B} Joy and sorrow of far-off things.
(C)  conscience (C) Old. unhappy, far-off things.
(D) righteousness (D) Loss or pain of far-off things.
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7. What does the poet mean to say in the line

“As if here song could have no ending”?
{A) The song contains an everlasting

effect.

{B) The poet doesn’t want the song to

end.

(C) The girl keeps on singing and

seems not to end it.

(D) Her song is too long to end.

8. Gandhi requested Mr. Gimi to exempt him
from gymnastics so that he might be

to serve his father.

(A) free

(B) comfortable
(C) able

(D) obliged

9. The underlined word in the line “He made

their glowing colours refers to............. .

(A) Mountain
{B) Thesky
(C) Little birds

(D) Little flowers
10. “Lencho was an ox of a man”, what does the
line mean?
(A)
(B)
(C
(D)

Works hard like an ox
Hardworking
dedicated worker

Willing worker

11. During the 10-day long Hornbill Festival

and sporting events, men, clad in warrior

COSTUME. ... .

(A) display their musical ability

(B) show off their hunting skills

(C) showcase their agricultural talents

(D) display their religions knowledge

12. Losar, the Tibetan New Year, is marked

with.................. .

(A) joy, merriment and extensive
meals

(B) prayer, offerings and devotional
music

(Cy Archery contests and warring
skills

(D) harvesting and gratitude

13. The festival Saga Dawa reminds people

of .ooiii
(A) the birth and death of Lord Buddha
(B) the death of Lord Buddha
(C) the birth and death of Lord
Mahaveer
(D) the birth, enlightenment and death

of Lord Buddha
14. If you were Sergie, how would you describe
the beggar Lushkoff, when you first met

him?

(A) aragged man with drunken eyes
(B) an old man with sunken eyes

(C) alazy man with low confidence
(D) an honest man with immense

ability
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15. The beggar confessed lying when.......... :
(A) Sergie cried bitterly with an
expression of disbelief.
(B) Sergie cried in excitement with an
expression of joy.
(C) Sergie ¢cried angrily and threatened
to send for police.
(D) Sergie cried severely and
threatened to beat him.

16. The mother has fed the child on golden
rain. Here, the underlined phrase

(A) the grain given on a golden plate
(B) the grain that looks golden in
colour
(C) delicate dishes
(D) expensive dishes
17. ..., of the following jtells about

“worldly happiness.”

(A) The blooming Champa buds

(B) Scandal scented leisure

(C) The forest notes

(D) The voices of the fairies

18. In the poem ‘The Flower School’. Branches

.......... together in the forest and the leaves
““““““““ in the wind. (the appropriate

words will be............ )
(A) clash, rustle

(B) rustle, clash
(C) clash, clap
(D) clap, rustle

19. During their holidays. the flower children

rush out in dresses of ............... .
(A) white, pink and orange.
(B) pink, yellow and orange.
(C) pink, yellow and white.
(D) white, yellow and orange.

20. The flower children are in a hurry to go to
their home............... )

(A) in the earth.
(B) in the sky.
(C)  in the moon.
(D) underground.

21. Glebal warming is an impact of greenhouse
gases. Which of the following is not a
greenhouse gas?

(A) Methane

(B) Carbon Dioxide
(C) Nitrous Oxide
(D)  Oxygen

22. Which of the following phrases, in ‘From
The Formalin Jar’ says that it is necessary to

work hard in order to gain success in life?
(A) Live and let live

(B) Honesty is the best policy

(C) No pain, No gain
(D) Drive safe, Save life
23. ‘Drive safe- let your precious life not be in
vain!’ the underlined word refers to........
(A) Vicky
(By Poet
(C) Readers
(DY Vicky's Parents
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24. Raising the height of the chimney is a

25. .......

....measure to control air pollution.

preventive
dispersal
collection

Both (A) and (B)

.......... is the deadly enemy of health

and efficiency.

(A)
(B)
(©
(D)

Smoking
Drinking
Gambling
Idling

26. According to Lord Eustace Percy, why is it

necessary to continue your education even

29. Which of the following was true before the

first Panchayat was held?

(A)

(B)

©

(D)

Jumman and Algu become the
enemy of each other.

Algu had bought a beautiful pair of
bullocks from the fair at Batesar.
Samjhoo Sahu bought the bullock
from Algu.

Jumman Sheikh was the panch.

30. If you were Vicky, which of the following

traffic symbols would you follow to avoid

such road accident that happened in the

poem ‘From The Formalin Jar’?

after leaving school? (A) .
(A) To succeed in your trade or @
profession.
(B) To lead a luxurious life.
(C) To choose a trade or profession.
(D) To get success easily in life. (B) ®
27. “Buying or selling bread is a sin.” Who said
this?
(A) The learned men
(B) The old man ©
(C) The old man’s father v
(D) The old man’s grandfather
28 . was the only thing men called their
own.
(A) Labour ®) 2
(B) Land
(C) Money
(D) Both (A) and (B)
SLE - P-1
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31. Shall I extinguish the flames? 38. I gotmy mobile...............
The underlined word can be replaced by the (A) break
two-word verb ....... (B) broke
(A) Putup (C) broken
({B) Puton (D} breaks
(C) Putout 39. My mother said, T took it home with me”.
(D) Put off It can be changed into indirect speech
32, Mr. Sudhakar Sahoo set off ....... Russia. AS. i )
(A) to (A} My mother said that she took it
(B) at home with her.
(C) for (B) My mother said that she had taken
(D} into it home with her.
33, This is the first time I .......... acar. (C) My mother said that she has taken
(A) drive it home with her.
(B) drove (D} My mother said that she would
(C) hasdriven have taken it home with her.
(D) have driven 40. The students persnaded the teacher
M. Look! ............. .. with them.
(A) An accident will happen. (A) go
(B)  Anaccident happens.
(C)  Anaccident is happening (B) going
(D) Anaccident is going to-happen. ) togo
35, Tll;le youth ............ more serious than the D) went
0( AS will 41. Father said to me, “Don’t waste your time”.
(B) has It can be changed into indirect speech as -
(C) s (A) Father advised me to not waste my
(D) are time.
36. Do youmind ............. the window? (B) Father ordered me not to waste my
(A) 1o open .
E?; Egs:mg (C) Father advised me not to waste my
(D} opened tme.
37. Whether you join the picnic or not, you have (D)  Father requested me not (o waste
to pay the money. my time.
The underlined part refers to............... : 42. Two-Third of cold drink ........ been used.
(A}  Adverb Clause of Condition (A) can
(B) Adverb Clause of Con¢ession (B)  will
(C)  Adverb Clause of Comparison (C) have
(D) Adverb Clause of Time (D) has
SLE - P-1
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43.

44.

45,

46,

Air pollution has...... effect on building.
Complete the sentence with an appropriate
Participle.
(A) damage
(B) damaged
(C) damaging
(D) damages
Jharana has put on a very beautiful dress.
It can be changed into an exclamatory
sentence as -
(A) How beautiful dress JTharana has
put on!
(B) 'What a beautiful dress has Jharana
put on!
(C) What a beautiful dress Jharana has
put on!
(D) Why a beautiful dress Jharana has
put on!
Mr. Gimi was a person, who makes others

obey his orders.
The underlined part can be replaced by -

(A) lenient

(B) considerate

(C) disciplinarian

(D) aman of method
On this occasion, people clean their homes
and discard the old to bring in the new year.
Pick out the non-finite clause in the above
sentence -

(A)  On this occasion

(B) People clean their home

(C) People discard the old

(D) To bring in the new year

47.

48.

49.

50.

Imadea............. with the Bank Manager.
(A) Currespondance
(B} Correspondance
(C) Corespondence
(D) Correspondence
Rice ............ {grow) all over Odisha.
(A) grow
(B} has grown
(C) grown
(D) is grown
Waste not, want not,
What type of sentence it is?
(A) Simple
(B) Compound
(C) Complex
(D)  Interrogative
In which of the following sentence the
relative pronoun can be dropped.
(A) Mr. Pallai, who teaches us English,
is our Scout Master.
(B) Tt is the best possible explanation
that gives about Socrates.
(C) Kailash, whom everybody likes.
works in our school.
(D) 1 have already read the story book
which my English teacher gave

me.
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Subject : ENGLISH SLE -X
MODEL QUESTION PAPER -4

Subjective Paper

Full Marks : 50
Time : 1 Hour 30 Min.

1 {a)  What does Gandhi say about Dorabji Edulji Gimi and his steps towards the
physical growth of the students? 5]
OR
What is acid rain and how does it affect land and water?
{b)  "The Solitary Reaper’s song is more enchanting than that of the cuckoo.” How? [51
OR
How does the poet in the poem ‘From the Formalin Jar’ highlight road accidents
as a leading cause of death among the youth?
2 {a)  The flower children’s master is strict or lenient, give your view in light of the
poem, “The Flowers School”. [2"2]
OR
What sorts of bridal preparations are going on for honey child as described by
her mother?
{(b) How can one keep one’s body fit as advised by Eustace Percy? [214]
OR
Why does Gandhi say. “a man of truth must also be a man of care™?
{c) Suppose you are Mrunali, the Cultural Secretary of ¢lass — X, Govt. Girls’ High
School, Bhawanipatna, Kalahandi. Your School celebrated the Bharatiya
Bhasha Utsav in memory of the great poet Subramania Bharati, Write a brief
report to be published in the school magazine. [5]
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OR

Read the passage below and write a summary of it.

Bhitarkanika, a beautiful Wildlife Sanctuary in Odisha, is often called
the ‘Amazon of India’. It is full of lush mangroves, rivers and calm coastal waters,
making it a paradise for nature lovers. The sanctuary is famous for having the largest
number of saltwater crocodiles in India. some reaching over 20 feet in length. It has
also a wide variety of animals, including spotted deer, wild boars, king cobras and
200 species of birds, like the rare black-necked stark. The mangrove forests are among
the largest in India and help protect the area from cyclones. While supporting marine
life, visitors can enjoy boat rides and see crocodiles sunbathing or birds flying above.
Bhitarkanika is a hidden treasure showcasing the beauty and balance of nature.

3. Write an essay in about 200 words on any one of the following topics. keeping to the
outline given. [10]
(a) The Annual Day in your School
(when it started — preparations and chief guests — cultural events and prize
distribution — how you enjoyed the day — your feelings)
(b) Your English Teacher
(Name, age and qualification — duties and responsibilities — his/her methods of
teaching — relation with Headmaster, staff and students - why do you like
him/her)
(c) The Cricket Match you enjoyed
{(Where and when the match tock place — name the teams playing — audience

excitement — Match highlights — how you enjoyed)
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4, Translate into English. [2x5=10]

dalel @991 6gaNea agh| 62 6SIER FAR T A-1 69068 I @S 63IR 62 2

Qe8| 401g A0 8 SISRIGIICT GIg 996 GR JIREE 64 661R AGOIQ an AIF 266!

@

¢IRI- 1918IEL, SF1IQ SFIRER FHN! 620G

PI9Q- 6R60A7 6eml §F1 @ GQR?

(al- AU GaQ 2R

GI80- 98 Ag2G0g 954 IRA9 IRl 960 NG| YR 919 Om TR

n

(i} Suppose you are Sukanti/Sukanta Mahapatra a student of Class X Govt. Zilla
School, Khordha. Write an application to your Headmaster to allow you to go
home from School hostel to look after your ailing mother who is at AIIMS,
Bhubaneswar. [5]
OR
Imagine that you are Manasi/Mahesh Tripathi residing at Plot No — 502, Kanan
Vihar, Bhubaneswar. Write a letter to your friend Soumya/ Sumit Mishra of
Kendrapada congratulating him/her on winning a prize in the District Level

Surabhi Programme.
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(i)

Read the passage below and answer the questions that follow each in one or two

sentences.

Galileo was born on 15™ February, 1564, Italy, near Pisa. His father’s name was
Vincenzo Galileo and his mother’s name was Giulia di Cosimo Ammannati.
His father was a musician. He had educated at University of Pisa from 1581 to
1585. From the seventeenth century onward Galileo had been seen by many as
the “hero” of Modern Science. He was renowned for his discoveries. He was
tirst to report telescopic observations of mountains on the moons of Jupiter, the
phases of Venus and the rings of Saturn. He influenced Isaac Newton, Albert
Einstein, Robert Boyle and Christion Huygens. Galileo had been called the
father of modem astronomy. He died on8™ January, 1642 at the age of 77 years.
(a) Who was Galileo?

i(b) Which country did he belong to?

(c) What was his contribution to astronomy?

(d)  Hew did people compliment him?

(e) Which other Scientists were influenced by Galileo?

[3]
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Subject — Third Language Hindi (TLH)
MODEL QUESTION PAPER - 4
Objective Paper

Full Marks:- 50
Time:= 1 hour

[

. BIR [FY GEd &P FHed 8 6 UUd

T FR—iY e 27

(A)
(B)
©)
(D)

[

(A)
(B)
©)
D)

tad

A B
el &7
a1
Fq @I

. REN & UF | B g% W A8 G’

g
qf FeneT
T Iqifer Al
MY qifera

. foam yeR € g1U @R W9 @7 @i

Ugrdn 87

(A)
(B)
(€}
(D)

4. “SEl B T S HET Y qAdIN’ — AT

S To B
TAAR H]
Bl B

Ufdd fbae! va-T & i 87

tn

. B B gog 9 TR S AR, e —
(A) B9 "drel &
(B) BHAWRE
(C) &9 ®=1 F&1 grsd
(D) B WA &
. 9 ga- 91l e gy —
(A) Uil
(B) HgTl
(©) wgR
(D) T
. forgE—ugrg @ a8 Sfg = & — @il
Ug 59 UBR P Gel 87
(A)  afdarad
(B) Silfcdrh

=2l

=1

(Cy agsIE®

(D) EaTa®

TR BT f uRdaed &d | @7 BE1?

@

(A) T
(A) FINRE B "
(B) e @
©) qerdiara & (C)y R
(D) W (D) Tl
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9. ‘BT BT IgTIT B T 87
(A) B
(B) ®ET
(C) BRI
(D) BER
10. Eifelt Tee Bifey —
(A) T
(B) \MH
(C) #HBH
D) 7P
1. & fFaT Siaar 4 S 7 fFas! 4o
HEl 57
(A) 3iRg &l
(B) Us @I
(C) w531 Bl

(D) faeT B

12. 59 {54 29 | A<t fo=er T2, 399 g’

BT FIT 32 52

13. '<ife &7 ST Hiad ¥ =i &9 &1 Sl
STt Argell 87
(A) TER
(B) el
(C) udel
(D) deT
14. =g %9 fo@rE e 87
(A) femd
(B} I Bl
€) g8
D) TOR B
15. BIF 41 B WRE 9 eleled oy 31 &
er?
(A) PUIER
(B) UuMSd TeR
(©) i
(D) TRIATA

16. 9foST TR AR FURIER & §a AT Tae

e
(A) TR (A) wZHH BT
(B} RS (B) =l &l
(Cy =2 (©) o &
D) uds D) fudar—g= &1
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17. w91 i ad J =T &,

TAH N B0 3 i B grell e
T BT
(A) ifers

21. g 9 -, T fomnd 2 87

(A) Y1 I A gepH
(B) QAHTET ® eAlferdl
(C) amen ®i fafsan

(B)
()

(D)

EES
EEE]

G

18. fba® forv fAQRT &1 ARFA-YIH ATa®

87
(A)
(B)
(€

D)

AN @WAER

GHITE Fd8R
gl AR
i iaPp TIER

19. f3U U fAEdl § § HU-FBRE BT GG
BIfcy —

(A)
(B)
(€

(D)

T ENI
A

@ fom

N

20. 39H W DI A I Bd—BHRE BT 87

(A)
(B)
(€

D)

M A ) W |
Us 9 g fiRT)
T BT e a1

I Bd RN 937 8 |

(D) 7@ AT
22. pIfErT BT B <R fHas wHE 87
(A) WH F F9F
(B) ¥ B GAN
(C) Udd % THH
(D) «® & TN
23. WIS < MRA <61 FIT F3] 27

(A) ATi BT fEeren

(B) 91T &I Sl

(C) MU &I 4533

(D) fagml &1 AaT®
24. WS & ATHR, SART WRU-UNU] &R
gl B 27
(A) =TT
(By <¥ERI
C) T[WR

(D) ¥9Rd $ <adl
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25, MRA (FHY eF7 IR SEpan 87
(A) faart 7 fRigs #
(B) ferftseam

€y I H

(D) TBH

27. ¥ 3R 89 69 9dam & <arid g &7

(A) 7w go9
(B) TH TeN
(C) 3Fg goy
() IRENEIEE

28. 71 TrsEl ® 9 fO9mOT I Bifeu —

29. B9 W fbarg @ TE &7
Wifhd g @71 fagmor ¥ q918U |

(A)
(B)
(©)

(D)

fAfeerd wemaras
iR aRmToErES
e wRaTed
IR

30. fo1 famei ® | far—faemor gifer —

(A)
(B)
()

(D)

FUAAD
& uB

cifdne

ae!

31, HHaT & ¥ad BT H [BaET IHT WY 81

AT B2

(A
(B)
(©)

(D)

Hodl Bl
HISEGINGA
BT BT

U &1

32 g s S I 9 9sd % = @

(A) H 5o foeman wirer 87
B) Ed (A) FUS H
© B) w9
(€ fo7e 4
(D) - dicrerer (D) oF ¥
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33. w19 forwe i @ or? 3. gfgT JT Tl TR @ fOdedt ® W

(A) gul wiiee -
B) P (A) femmE
B) umdmEn
©€) freg w
(C)  Gelran
(D) &6
(DY 9930
34, i W SO B T ¥ gEE © forv fie 3.5 O W ww P wimaE we
P9 U ol orar ar? Bifev —
(A) TS W (A) e
B) W W (B) TR
(C) A W (© @
(D) e W Ly g
35, B weg § ®F A1 SUYTET &7 40 T S ™ B
(A)
(A) & - mﬁ.
B) w9 ©)
© D) <R
(D) 3@ 4. fre fasa | oifSe e, T3 3R
36. 7 Suwige e @ fwel d o4 Mg & an ® Farn Tan 87
Bifey — (A) HER 4T
(A) e (B)
(B) Maa ©) fireg
(C) forea (D) S SR
D) free 42. BT 3 0 o & S T TS T 87
37. ‘TH'WWWW‘JW— (A BHd
(A) ¥R B) W
(B) TRI® S
C) T ©
I (D) IR
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43. =R Hfvea w8l & aya 87

47. TVET: G Hel FEb TR |

281

(A) BTG 39 1 H A9 $Tdd & S 91 7 87
(B) wRES (A) HM
(Cy e (B) wwr
D) g ©) =TI

44, 1 et ¥ ¥ s fbar sifer — (D) die
(A) g 48. T 7 SIS |
(B) TR Te1 fhame gTax arad B I St |
(Cy W (A) Yer
(D) <@ B) U

45. foe famett & 9 B9 O wgE fhar T €y wdl
87 (D) W
(A) YW BT 49. UeT T P A e AT BY?
(B) Hedr (Ay W&l
€) R g B) fame
(D ERCICERNIL| (Cy =

46, f= fapedl ® @ @ A fear uom Dy =&
RO T 27 50. "AME I W faelm wifey
(A) T (A) W
®) firar ®) W=
©) W () =T
@) g @) i<
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Subject : Third Language Hindi (TLH)
MODEL QUESTION PAPER - 4
Subjective Paper

Full Marks : 50
Time : 1 Hour 30 Min.

1. | Frefotad weet & SR QRTT — [5%2=10]

@) Corifa @1 Ay & e & A 9 — 78 a9 fae fae ofR ol s M
87
areqdr

IRGPT & FIHYRIOT & fadas § Faf Irm o v
@) B BT FBR BT IS a1 8 DY B ART?

HYET

3NFSST TR T HIA A? SR T 8T B AR R fafa |
(A) Uy & gAY WS @l AMAErd] B A3y |
1 ®T AT BT & WEeT F 39 BUA BT WE PIfoY |

Jerdr

Pl FH-T—FF A FRIT FHlaar I fadeg TR
(By  “Uear g fpafery gam ey,
F e & sga W Rl
T4 JaTwr BT A fafan |
rerar
F9 TRV BT AT TRT H e B |
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3. | 9 foRg IR @ UgEY Y@ MY WRAl & SR il —

TAY BHIN Ad] ¥EdT &1 S RGBT A8 o FhHd| T G T diF 2| SHDI

AGUATT BT A1EY | diar o &1 arg <Tgl 31T | Sl @fded 99 &1 aguaiT &
AT &, S B WhaldT e 7 | Renfoiat & o o7 gaeT J8w 8iR 9 9 9 21
I SfEId §AY WX YAl R WX Wl 9O @Hd U Wi BT dlEe | a
Siad § Sdl ¥ Sl Afve #1fte &Y ged 2| wEReE 1 9 W & e aifde
T IS & A AT T B T4T T TS |

Eo

(1) 999 goar F41 87

() ¥ awhera fAereht 87

(3)  faenfiai & foro =am we<aqol &7

(4)  FEARSH @ I ¥ FAT Tl AT 22

() Swlga Taw & fou Sfag de g |
4, | f& dfa ae @1 = | A Ffom —

el

@ ¢ 95ee QeCE SR §ILY G|

@ 267 69 RIFIA §R99Eq IR /58! 853 |
M ANYNSD 62I1R GIE ORIZ QIF]

@ IR QUM QLG 666 6SlIREm |

(8 @6l AR QIRYQ 2RI U TFR?

@ AGGU edl dIf o din LRSS

® 0% olgg ool ALY FgR)

) 89 560 dUNELEm P i F6m |

[2x5=10]

[2X5=10]
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5. | Femger frefalas weAt & s e - |2X5=10]

() @it 9e &1 forT deeex I/ad &l |81 vy 9 fafau|
TS T0Y < B
(2) wEifhd 98 &1 999 daAGR a1 BT Y ¥ fafday )

T J TS 2 |
(B3) B H T g= BT Wil E |
9 IR PI Y B foAfay |

(@)  faerer w2 WURT &% UH ARG g 9913y |

(5  XMfq ugar =)

N A1 Bl el qadd § 9gade Y forfag |
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Subject — Third Language Sanskrit (TLS)
MODEL QUESTION PAPER - 4
Objective Paper

Full Marks :- 50
Time:- 1 hour

285

YEH SR PR — 4. R gy B9 g e
1. Ha1 T Regfa? (A)  WTA
(A) e ERUREEDR
QETIoH (B) AT
(B) e Wl BRUIFER
YRWBGIoU (C) IR
© <@ A FRLERINER
60Q LYY (D) B
(D) 3T Hde 69969
NG QBFID 5. Rigar &= e ey weife:?
2. g ared T TH: I B el A) TR
(A) gz\wa@ 451869
& T B To
o[y P bialiat= e
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eSS | 21961%61_
3. gl Risydt 78 oo @ qRa; fEw e wiafams fagd -
FHAG? 6. TYHAT =
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ARIAXR [GY +GB,
(B) =T (B) I + S
LHNFATR @@ + a9
(C) (©) TV + e
AUGGATR REGY + BB,
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fggaaa Q66U + 28,
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7. gitefay =

1. BRI FIGI fAdeTr: @A e ?

(A) 9 + T @ Mg
98 + R0l =
(B) ¥ + R (B) I
98 + Saq IR
Q) T+ T () TERe
% + DA Qgasal
D) "+ =W (D) ST
g8 + R agidiaa
T wfufem e — 12. P P e ged fferaamig?
8. 9T + VT = (A)  PHPTTH
(A) e UK
SQIQ (B) TR
®) T deaiae
Qgede (C) Ao
©) Eﬁjﬁ-‘j—c[ o [falm
egeue (D) IR
qgune 13. RydT oRa: 7 Fafiien siavor A, o
9, qhd + Ud = T%I'TF[?
(A) W () ST
ageee aduead
®) W ®) e
aq965e o
(© wpid (©) Stehiy
49699 Al
(D) @i (D) wr=meer
agedle ALY
10. 7 + 3gFIY = 14, "STgHata A aetareTane: 3
(R T L T
6qaIRIel () <
@ e 6Q918R
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0) TErE 6949
sdlaigtel 0 I
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15. ARLEERF B8 HHST Ae<ayon wafd?

19. TRV ReMNT QeRd HoiaT @ty —

(A) TEMTH (A)  Fd I T
oFsalial=1a Q6% 62166 A
(B) VI (B) 3TN W
SRISAIEER RIS 81
(C) SiarH (O F I vq
nglale[at=da) G4 6265 9
(D) a9 (D) W g
qdla ALER Y
HRON WE i fwfad Frewad — 20. AIIOCRT ATAT = ST e MURT fierai
16. ORI AR RIIRA — i Wﬂj—‘r&
(A)  Fraromd uzd (A)  PTIR HEH
aaldliee] agen @) mg;;m
(B)  erIar 21248, 62166 Cee
2ales agen (© T FHT g
(C) iy @69 a¢1& gl
oallea] age (D) AR W
(D) wared g=d A6EIIES Tl
sieieel agen TR forga —
17. &1 Riegdr grafy fiare < 5 wm9q 21, T T Frsed?
et — (A) 3%
(A) BT e !
aeld §o1aM (| fre
gEeslsd §eel © T
() frafemor fgcien qgl
FNTECEN6E Fo16U (D) s
(D) @mae fgdir ad§e
QuIgysel §o1al 22, 91 1 FEiasia gfa fgedrm amd
18. YAGOTRASY T Pifowar: o — ST
(A) W g (A) @
Wse Agen QT
(B) o | (B) @uRY
A6HES AYeT Qe
() Tawaranl we ©) Z@;T«ﬁ
Feieneel agen ol
(D) em%zmﬁr qcrgﬁ (D) =R
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23, Ui R B3 ARa? 27. AYHAISAT =
A) @ (A) ARl ATSAq
eleR Qg a1daq
(B) W (B) dWEL WUSH o
o gg{%‘a QUGB AIGR° 666
291969 (© s T
o) QIELU8 CIGRT OIS
afaca (D) T AU T
24, EETISEH: T T TN QIELUS FIG6RE 6519
(A) 'lj:q“[ 28. JATYTON =
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ARIER (B) TIIT:
€ e 0% goas
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29I (B) UTEHIAYRY.
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Y§ fousad WM wEwug 9 GOIRIEQYREs
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A = ? JROSE
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GRYIGEY Raf Up6s
(C) HT FGH (@ TeHac
ARUIES RAE] YRt
(D) P FaH (D)  Tmferr
FRUCER ROE aTSailatatal
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31. QU SIRAT HEI AT STl
(A) iR
gielg
(B) IR
ERSMUI
(C) TeRE
agaue
(D) &
XSl
32. YMUT HF AL IIRH?
(A) SR
AsIUER
(B) WIS
AHINER
(C) <USHad
QEREER
(D) A
26HIRFEER
33, B IM: JAIGHE: FHAq?
(A) I
g35i69
(B) fem
AR
(© W
Q6N
(D) RN
EGRIER
34, TR UHT J S ¥R Je?
(a) fog
doaa
(B) A
IR
© I
QPMNQ
(D) ¥
RS

35. P e Siar a4 TRwdift Seqad?

(A)

(B)

(€

(©

()

SRl
YRAG NG PG

AT
MY RQ D
TRARTAT

JRRIEMATD
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39, §AR: = 99 + ...t T 43. <7 7ow. TR & A aRiEas?
(A % (A) S
e ay
(B) TE (B) OTERL:
Qg ey
Q T Q T
oQ 18
D) @ (D) ¥
Qdl ag
40. HHFTHH = Y + oo 44’?33'}_‘;%???
A eis geigia
L (B) ONGRw
(B) d QISR
QY ©) uftgaw
(© s aden
A (D) WS
Oy «r FIeQYER
ql 45. qgR IHEqEA-UTy  STEmE:
41, $HEIG JRMS—Tergere: o gare:? fopAmire?
(A)  FEPIET (A) T )
A2RIRGR Q0 QIRig g8 7
® ‘ Y :E;E? 98 ?
QACNAAR o mfﬁi '
() [ 9 gen ?
RUTREP o) T e
(D) 3 qRUQ 961 2
doleig e HT fgd —
42. ' ST 46, T RprfEd =
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gl QEIRIIE
(B) @ (B) SURARHI
o Q@A
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am QEIRIILY
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A7. MgoTdrT € = 49, 97 =
(A) T (A) T
&5lleh g8
(B) e (B)
6ol og
(C) e (€ o
alallolsy eRl
(D) T (D) dfa
6allel oG
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(A) ot (A) @
215 il
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Subject — Third Language Sanskrit (TLS)
MODEL QUESTION PAPER -4

Subjective Paper

Full Marks : 50
Time : 1 Hour 30 Min.

FISTHTST UId: aida=dv] Ygasd STx [oled —

(@) & gelen: Sfgafme<h o=fdew & we?
3exar
vafaRet fam gfa S=?
(@) A fRe sHRem=: gidY sraqel?
Jerar

w30 grerey AW fbei sy
UL TR YIS AR o fored <
(@) gt dar Qaviae R segg?
ST
I Frame e 3@t R0 R F A
(@) GER PIgY g MTEAIBH?

Jrear

IR, iR HEL SR = @ eife af?
FeNfTReaa sffeed s YT SoR Herv forfded |

TET I TR U A AT | ST IR T 6 | T
e e T8 Ui IRUTa | A1 ¥ U 9 O gRdr | T qRaRidTd
R HAY @SB ST | aRH el G gxdr o Tadr | e fREd
TN T T I | TR TR a9 o IR 9t e | e e awm
AT TIAT ST B0 STOT SIRAT MU ATt T | O % {7 s |
HIEREHYT (I FFEER) ST IR Gaviegel aaar | afes TR wiEg als: gow
ST | &1 Fara: fAas i Ferer SIg9aar | 2 ae oyed Gaviegol AEerd |
T 39 W S TR AUEsd — TIRGET YA S g | e
A 1S Tl | fq U Sgfaay?” % Sad — “HaT SURH Yer IHEOW
ferafal | qar et agee waa: gia wgafd | dfé $em — By S wadr Fad?

AeaRfT WH WA ARG | aF YA T i g ¢ R 9 qEw
fasirg e &7 grigd | ard v daqe -
AT FAY TN S B TIRsfT |

W YT SR GuAnT e 1
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IRTHY, W (5) ATl AXPTAST SJdI8 Bod —

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)

MR U™ eqdged HGaTNaT W arrl= vaad —

(i)
(i)
(iii)
(iv)
)
(v1)

(vii)

¢ AILI0IQ VIR KT G|

ERIFEIEE U8 SI06R 6964 H697?
6261I6% 651166 Q6 698 GOE |

2661 YOI 968 Q&R KE6 |

dRIgles 996a6m 96 999

6Q61R APRIN AFI6Y A8 G AE6 |
MY NTCLT Bl A6

SROIR O 2T gaal

o

HEL:
aferomfz
el
SN
SLERIG]

T
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TLS-P-11 293



Subject — Mathematics (MTH)
MODEL QUESTION PAPER - 4

Objective Paper
Full Marks :- 50
Time:- 1 Hour 15 Min,
1. px+qy+1=0,p,q.r < R IENRQET 659 4. 69I5Y R AMROER 6Ree D 98°
d6i60 99 9R ARG UFRTY 99 QIB! RTA QIS 8 AR 695 F6TID 6%l
ZENaRdl 6967? Q33 agy 2I6e?
A) p=0
() P (&) D=0
(B) q=0
B D=0
© p+q’=0
D) o Q) D<0
2. =2, =3, bi=1 8 b=2 696R, © D>9
a, by , 5. Gmge FUQ 6968 2+v5 8 2—V5
|az 0| & e
IR 4% FAS AIRET?
YR
2 - =
@ - (A) x2-4x+1=0
Q) ] (B) X*=4x-1=0
(D) -10 Q x¥*-4x+3=0
3. p1x+q1y+r1=0(3pzx+q2y-r2=0€]@ (D) ¥ —4x-3=0
ANRE 90 6912 699 J6EQ 9999
- 6-x=\/8+2 8 + 2VB +.....x CTEM XD
AGPE @ YOG 6269 QIa?
(p1#p2 8 q1% a2 IR 6660 6847
(A) prqz—pagn =0 (A) 4
B po="T (B) 6
Q po=2= © 8
(D) gi=22 (D) 10
Pz
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7.

10.

11.

Jela 6od e e8a0In 26 oF 28 3
od G6R 6NPR LR YEIPR 360
6E6M, JER AEFIF SO 67667

(A 7

(B 8
© 9

(D) 10

46 QO8I 99° YLIR YOS CI9EI QAR
AQIUCIn IO- 69667

A 0

(B 1

© <

D 2

F6El9 FUR 690 96 ASEIR SRUGYS!
g6%?

(A) 03

(B) 0.1

© 3%

D 13

400 G @€ml 29 99 69560 @R QR
AT | 8T SRS QAR AYLYS!
0.035 g9, 6669 9TgSl ORI LGl
OH6ee?

A) 7
(B) 14
@ 21
(D) 28
57, 54, ... ISR JILR 6519 9T

delsl 2dIfe 99 696m, TR 6469
AV 99T 69667

(A 21
(B) 18
© 24
(D) 27

12.

13.

14.

15.

655 SFIZH YT T YR 7 4,
QYY) JeR 598l € G 6L6m JoBR
d2Ie1 99 B ARISE AR AGANE 69667
(A) 7:5

(B) 57
© 11

D) 12

6515 ISR YFIGER Sn - St = tn
626 ARG ARG 6R667

(A) 2

(B 0

@ 1

(D) N

Jeginr 2R 9% 66159 Q9 624l
gee dglent 30 amifion 9F a6
Joeel agiea 15 @8 Q9 agl 98
JENER 10 GG U6R QAT 6Q68 99
o086 /897

(4) 450 @8

(B) 435&8

(© 630&8

(D) 525&4

AANBR OIER 18861 B 15 8¢ IS F1AI6R
QRIS 18 6L6R, YIIER 118G¢1 B 112

Bl d< £1I6 QUSRS 68667
Ay 18
(B) 6
Q12
(D) 36
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16. GG 5E6R ADE GRG B BCED 65IRR

CRIEPIot 2gdls 69667

A

D E
B C

(A)y 12
By 14
< 13
Dy 23

17. QR 5G], |1, |1 15 B Iy, s §RE 6R6F,
AD=5 6%.8, B BE=8 69.§ 696M CF &
664 69667

(A) 4698
B) 116498
€) 869.8
(D) 7648
18. ABCD QITGAFI6 AB || CD, AP: PC= 2:5

BD = 14 6971 626m PD Q! 6G6Y 60667
A B

(A) 4648
(B) 106494
) 7648
D) 12694

19. QR 56 BD=4 69.41, CD=9 695 626m

AD % 656 60667
A
B D C
(A) 4698
(B) 96ad
Q) 669§
(D) 5648

20. QR 5659 AD, / BAC Q1 288 99564 a 8
AE Q@8<I6159149e AB : AC=32, BC=5

66171 666m DE 60667

(A) 10694
(B) 8698
(©) 12694

(D) 15694
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21. G99 6MEITET Gady

A0 696

ol

QEEE

D) AR

22. 69159 GAMSHIR = 207+3m, =f = 30
4Q° GAMISRIR SIRIGIG 7.1 686 m ¢S

6%

(D)
23. 12 36l BIEG ANICIF AL 15 98 6.8 G4l
RILIFA AlIAIE S 10 9 626m 4 9F
deo 6dClIF@e FRICIG S9d 6960
6997

(A)

(B)

@)

29
25
17
(D) 125

24. Y 2[0IQ P (5,-8) Q9 GG .........

25. X- 2% QUER JRIQOIQ TRIFEE 290
3 599G 969 29 GRE A9 L6IER
CREIEE P §g 1K AOIS6R AGTRGE
FER, KA EIR 6R66 68Q7

(A) 1
B 2
C 3
Dy 4

26. A (0, 0), B (1, 2), C (x, y) 9GG0 9601

626 FEIF 699 ANGE OF 21687

(A)
(B)
(€)
(»)

X=y
2X =y
X = 2y

X =-y

27. A(-5,0), B (5,0), C (0, k) ensiRg 8% €&
091e SRER Q0sRea gIRla G

aot
(A)
(B)
©

(»)

(0, 0)
(0,5v3 )

(059)

(03)

28. G499 6QIR GG SRIGEM 6RIRCIR! QU4

666 SR1?
A 8 (A) 10,000
® -8 (B) 5000
@ -5 (C) 2000
D) 5 (D) 1000
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29. 9% 9Rd QLR 98 Agen a9l Yaae
AAIe UNRUN6R 6dIeT AR&| 6T
SIG 891 GEQ 20061 YA ALHA MG 1
QI 9L B, 6569 561 YAR 991 Yden
283 RIS 6R66 AN MTIG?

(A) 308G
(B) 25%5¢
(© 203856¢
(D) 358&¢

30. 66l GYB RGER HRICEYOR CRIENG

32. 606 GEGER I56RE YLIS 65T QIR

CRIGG?

(A)

aeIRIg
CEIERI4N

g 6%l

NN

33.9RC Qa0 QUAIE QaNgea 1 8 rz |

ARG 6TRFL (160 @RG! d EL6m,

690 2660 RGE T0E0g 9RF §96R

QIS 60 R.5. 606 AR Y&l JUIE 6RC ARER?
40 Q8 6odlsq 6Pl QG| LT 64 A n+n>d
6IAT0IER URE QAT 606 FIOR B) n+r<d
& o G0).7
QINLIR QLGS 659 6R6% &.51.7 © nomedeners
(A) 30
D) n-rz>d>r+r
(B) 48 _ _
34.099 §@6®  mLPQR  =115°,
(@ 50
mZ QSR = 25° 626R m/_PRQ 6966?
(D) 100
. S
31. 66lI5°Y G8E1 2FYLGDR TGS [Ig 9LIR P
IRQEN 689060 QG FQAS! 691 R
RS 62667 Q
A) 30° (A} 257
(B) 45¢° (B) 40°
) 60° (C) 90°
(D) 72° (D) 140°
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35. 99 9OQ Q&g P Sgelel Qab s8ea

Qag <lIgesl A, B 8 C, D 8969 68Q
-

oo mBxD=100" 8 m/ APC = 35°

TN

6gem mAYC gqe@?

(A)
(B)

30°
350
(C) 50°
(D) 70°
36, 09 9489 6LIRAAS GRE AUSERT

QER 1R ARG AT el 65667
(A) 1
® 2
< 3

D) 4

38. ADEF 9 2985%, DE,EF 8 FD § Q2Ig6s]
ABB C Qg6x 98 K6%t! EB= 7.5 644,
CF= 6.5 698 99° S 9tEfl= 34

64151 666m DE 9 666 60667

D
C
E B F
(A) 10694
(B) 10.569.¢
(€ 13694
(D) 14698

39. QR 5E6R PQR 90 P Ig6ea A& ddia

oy /_“\ —
XY | P, QFR G qIBg, m £ SPY=56°

tg6m m L QPR 696% 6997

P /56
— e Y
37. 6AlI QEISMES QWde Qlge 69y X
2VZ 644 696R, 98 9EQ AN 0 R
6564 6060 6297
(A) 44°
(A) 2648
_ (B) 34°
(B) 2658
_ C) 56°
Q) 2v/2698 ©
D) 4698 (D) 68°
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40. 09 5G60 Q@ a0 QWY 9@ Qg P

RIGER ARG 6% 95 PQB PR Q 94

Qg LRIGEFI QB R | m L QPR = 0 686R,

43, 66T GE® a6 G0 |IRG 6Ty

9Q° QIR QEGIR AGAIG V3 1 1 6E6M,
698 INER YLl 69ldie QQT 6060

2RI ?
m Z QYR =
(A) 30°
8 (B) 45°
P ©  60°
D) 75°
R
44. sin P= cos Q 9° P 99 IHERIE 626,
P = @ o
(A} 90°— < Geg 699 088 aey?
(B) 180° + g (A) P +Q=180°
B) P+ Q=90°
© 900+ 2 B Fra
6 © P-Q =60°
D o8
D) 180° - - D) P-Q =45

41, cosec? (100° + o) - cot? (80°-a) @ €lIG 45. cot 12° x cot 38° x cot 45° x cot 52° x

6R667? cot 78° QIR 6R6%57
1
(A) -1 GV
(B) © (B) +3
1
< 1 © =
D) V2 D) 1
42. IRNGLAIRE  CRI  69RG%  gmY 46. 65159 9RQ QUAIT JREIE 1T 6GE6R
1g68 ? IR R 62N TSNS 69667
(A) tan 180° (A) 60°
(B) sin90° (B) 45°
(C) cosec 90° (Q =
(D) secQ® Dy 1°
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47. 69159 JEr @F1 99 9616 AAFUE 49. 6515  6OINGRL YR 6FQPR 4
oWl wein qda 6@l 8vZ eadl Qolfigal gaie Quas G8Y 9@ ad
dada eeel 10 648 6@6m, 92 SOIMIGR ARG IR CIETR 6666
NG 6960 9 62.81? Qddiear?

(Ay 320 (A) 2
(B) 640 B 1
(€ 640v2 € 3
(D) 1280 D) 6

48. 98 QTSI 6URGR YD 14 TSR 9S° | o oo 2560 96 690 296 27 69 6
@R 63 2 G99, 5 20 aEeR, 9@ AR QUAIS 7 Fi59 626m, 199 99
6968 UREIG a8 Q6N AIGS? Q00| Ca6e Saa7
A) 8s8af (A) 25
(B) 168Q.4 (B) 24
Q 448 © 31
(D) 44Q8 o) 7
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Subject : Mathematics (MTH)
MODEL QUESTION PAPER -4
Subjective Paper

Full Marks : 50
Time : 1 Hour 30 Min.

JERFE JAIRER ANRRE AR ACNIG 62
1Mx+ 15y +23=0, 7x-2y-20=0
Qe
IR AR Y I°HIQ AR AT 101 A ARYLIRA P2 SRR 6RYER
QLG 2°HUIT R L°HUIRQ @RISR 1 A&l 41 L°FHIT §R [
A9 px? + gqx + r = 0 ANANEIR 691G IR AAATR 4 Y& £, 6962 YIS
@64, 49° = 25 pr
Qe
IR §R = - =5=
gellel KR 62 GAE n LHIF SIS CHIR TSR 6AFIPR, 6JCNSR AR
Q6 98 agIg |
Qs
1009 300 £1&69 9 IRl AGRUGY J6E LHY Aleaa ] Fea aal
906 Qg 69159 26 IFIREA PG 60ITR QAR AFER 2 L°HI FAR
A0 ATACI6R 8’ F6LRIR ARG Hela AR
Qs
06915 89 (1,2), (-5,-6) 8 (xy) IREQEH 626M TENS AR 4x-3y+2=0
09 1941 2ULES FAYUSRA FIRIFIE 2°BY YSIRER Fela aall
AR 60 |61 |62 63 64 65
QU@ | 5 8 |14 22 7 4
Q9
60 ¥4l BITFA AT 0F AAENERN IR 6LINAR | AN ULESD GAIRIR
gl B TR Gelal aal
BaQ 37 |38 |39 40 41
e gesy [10 (14 |18 12 6

[5]

[5]

[5]

[5]

[5]
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(b)

(b)

JAGRNEd 6915\ SREA QRAILR 656 2RY YR GRER 2GRA 9@ AIFR
69y 92 QgL 626M IQ° QIGFIGE LS 6RIEGRT ATAL 6T6M,
CRATA 996 ¢TI

agu
Aelle QR 69, 6515 QR6R YRE AAA G1Q AL AL GYI A AL |
AABC 69 /B Q I61§¢14% | AC G E 896 99° /C QIFFHER AB q F 3969
686 Q69 FE |l BC 626M JAISIR96L, AABC S91§Q1g

ael
A G B 609 G498 920 9@ 999G P 8 Q R96Q 689 Q98| P ¢l 69X AB
I86 RSN RS 9RFAG M B N -TQ6R 689 K6 eI 64
MN = 2AB
AeISIRR cos 50° + cos 40° =v2 cos 5°

Qe
12 9199 99 99 QAR IS A6 2RI 97 6210199, YLIR AAQIF6R Sl
ARY 98GR EORIER 98 AeeRld 98 F6R 6RI0INNR UIE Q56
FARIA 6718G QLR ARSI 30° 626Mm 6RI0IIAR ARG A G
6515\ GGl 9ALRQ I8 QRAF AKIQ S6Y 60N Q1T G| 26
AR ARSE 12870 €I 697 626M AALAR IR 6564 69657

Qe
60T 6RITR GERR ISR 4070 Q6 698 ¥Q° 9F QGG 37 694
696M, CILIR YA IR B 2GR FUS @A (1 = 22/7)
Q ANeTeR 6344 7.5 698 6 99 4 6251 2WGTET ARE [ QIR
J99R ARE /9|

qell
2.5 QIS G Y9 R ARE AR L6 Y@ AAGIE TRE ARG K9

[5]

[5]

[5]

[5]

[5]
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Subject : General Science (GSC)
MODEL QUESTION PAPER -4

Objective Paper
Full Marks : 50
Time : 1 Hour
celoa QRIg
1. 6°0Wd  6qARG 6 6AGAd 3. 09 90RugEe aup 69059 eI

ANEPER GRIA 9R4lg  CsInem

ALLE!  JEGTAU ! AN

6Q0WAC AMEEPS B 6AFAL 6FINRG

ged dele Q@R 6068 T

AL T Fees Qg gee

98 IR AANFS  IMGREIT

6RGEM F6TIB 6205 0F 6297

(A) NaSO4(s) + BaCloaq) -
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Subject : General Science (GSC)
MODEL QUESTION PAPER -4
Subjective Paper
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Subject : Social Science (SSC)
Model Question Paper - 4
Objective Paper
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Time:- 1 hour
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(C) QéI1 YIIQ AN F6R (D) QRIS Q ARG FIIR0IY UNS
ARAIE QA ‘QUAIAE’ 699 TREQ ALE ?

(A) IFAUQARE (B) QerRI4g1 (C) <189 (D) Q8

QG dIF6Q 69T dQ 99, 6T JIeq FQ A°HYl QIQ 8 JIeQ @1, IF, @
Q° 6418 UFQ A°HYI QUEQ FGUIB- 29 - Y& 8RQ RIF §&l ?

A) REQU&N (B) Q8 (C) 691 (D) QUAERAT
A@RYQ Aad, 9LQ 8 QL9 AEIg 699 6JRJISRe AIQIQ YR I @4
QeIgIg ?

A) 89 (B) 9RRTIQ (C) YRR (D) QGAIS

ARV -U6T T 6R6% RS,

6@C162 AQ 6CIQ 628 PG |

~ 126Q 699 UPRIQ Y6 CRIQT ?

(A) QQegal B) 99& (C) 648 D) Qe
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SUBJECTIVE TYPE QUESTIONS
AqQ : € A4l Mo §Ke g4 Qg : o

Time : 1 Hour 30 Minutes Full Marks : 50

1. QAR MG :

(@) ARYIA F6QRNFRT AP A°AUAR TEARNRLER JAGG QYR WFEQRT
Qe SVACQ AIERRAIS @9 | 5

22l

AIGRIGIA g dIR 9IeRe 4@ 2% B8 gAId RA8%, J06 9ee

AYMARER ClLl MR @ ]

(b) g 9@aId JIR QORID gEAT 9@ G | - QUAT A=l QYR
RIQ! YA YOUIRR @Q | 5

A
QIE YOI A°URIQ AGA AR Q'8 @'8 ATRI ?
2. QYA AQRIE 6RY :
(@) R ARITAIS 6Q6RERER GIw JEQ AR @QE | 5
A

QAR RLIQ Ol 2Ig] SIGEARIIR 6RIAT U B QYT IR IR 649l
ol Qe AR IR |

(b) QQQREAR - RRE - QY
Qee - F6qITe ¥1@ - AR | 5
22l

ARICIRQ G5 6L SIEI6Q 8¢ QP! |
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JI 900 FIR6Q 64 6@lEIT 66T JAFEQ X 6NG - 10
() SNON% QLT :
(QAQE - IRARGI - JGOIRR - QAA°QIQ )
i) QIQYE Qe :
( QK9 - AR YIFY FOR - VA HIQY G2E - RAA°LIR )
(i) QI NNFQRAY :
( QOQA - ARFIS AYY - AYY A& FT638 RITITRI - AAALIQ )
JIg oo @ JR6Q 6QY : 5x2=10
(@) ©hG9 I Y@ IgIedql Tacq 6gl6A9aRlee RIdY QGQIq QAT
AIG QQ6Q &Rl QUIE FREP AQG 6md |
A
AR RFIR 10 JLIIQ AUEAE 6Q@ AR ARSI FRTQ AL 6 |
(b) Q¢ YZRQ AGERE QIR JORIQ {68 TR J6Rd JRE KAAY
ARIP0Q FA¢ UG QS IG 6t |
&R
Qf useea ISl NIERGZIQ FAISAd IR QIQIFRIGS ANRIANT
FR0Q QAHIg 6RG |
Je@ dQERes 10X F¢eq TR JYJea @A 6nd : 2 x5=10
R°69e1 AT ATVEQ 6ARAFCR GRS 9, 6A7I6R Fea 7eQ] FATe Qb
6ARR2 6RIN QRICIAUIER | 6QACIER 6969 IV WA T2 FACR, 606

6Q9AIRER 64, A°6AFT AT IYEEA 2T AV @ A6 VG & *QAT | R°6QF
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S R J6Q RQUAGER 6J6ERER A6 AUV JQ FAUGRI, 6A6FER6R
Q00 JVIRRY IUEEA ANLEA JIRe JVRPQ ALY AT 694l
QAIR | YN 8 FEAREQ JFVIQ UG 62RI A°6ART | AT 6QIQ BIQANER
(TR FINRQ UCHR UYL FR6YIT KR 69T FeRE QNG TV VARG
6960 69F QA 62 GI2Ig 0K LA J FAAIAEA AT | YI 98 TREQ A9
AIGRISIg A 2R6LR AR 6T6Q FIF AIA QAR AT | A a9 T
QORdIEe Y2UQ Y@ GdF Qg QIQAIQ JdgaIde’ | @°6aa! Idl QI ¢I']
AIgRISl, 6x16d56a oI'a Qald |Ie QAR |l AT | AV A6AFT QAITIER
dIgoY AR 2R2RIA AR RQE, 6AAT 26 2T 6QF6Q FE6E QAUVITR AV
R0 F226M 64, 6AAIST ATEQ 691G 8G1 6HIRCAR BCIA FER 2°Eq !
RAQIQ QLITEN 6ATFTA R°6QART RIF AT ALREQ UAAZLR | 64 QL 622!
QIER, QAR AQUUIRG! 6 2l 694 YIRS AR *QAT 6 2 FIPFIQ,
QFI9 QYS! TR AFG I@ ARG ALV G2 *AUQ AL |

(i) REART QT AN @ FG RIS *R2T ?

() Q699 9IAREA AAGA VNG AN & 608l SIRAM ?

(i) 2T 6QIQ BIQTIER FIFRAIVIY FITD UELR| FEM ?

(iv) 2IF 6999 VTG 6QATNITA A°6ART RING GIAAY *GLE ?

v) N IO SRIL QYLIAIR NG /'8 *ARUQ AR ?
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MODEL QUESTION PAPER - 5
SUBJECT — SECOND LANGUAGE ENGLISH ( SLE )

Time : 1 Hour Full Marks : 50

OBJECTIVE TYPE QUESTIONS

1. What do we gather everyday as described in the poem, ‘All Things Bright and
Beautiful’ ?
(A) Ripe fruits (B) Rushes
(C) Flowers (D) All things
2. How does the sky look at sunset ?
(A) Bright (B) Bluish red
(C) Saffron (D) Dark
3. What belief makes Lencho say his family, ‘not to be so upset’ ?
(A) No one dies of hunger.
(B) God will help him.
(C) God can see one’s conscience.
(D) God will send him 100 pesos to sow his field again and manage his family
until harvest.
4. Why is the Solitary Reaper’s song not comprehensible to the poet ? It is
because ........c..c..c.... .
(A) her songis in her own dialect
(B) song is inaudible
(C) her voice is not clear
(D) her voice is too soft for him to get to
S. Gandhi Matriculated from his school in the year .................... .
(A) 1887 (B) 1886
(C) 1882 (D) 1889

336



10.

11.

12.

13.

The name of the book of Gandhi’s autobiography is .........c............. .

(A) Hind Swaraj (B) My Experiments With Truth
(C) The Word of Gandhi (D) All Men are Brothers

What remark was not passed by the Second Keeper of Lucknow Zoo ?

(A) Iremember your tiger very well. (B) He died two months ago.

(C) Itis not your tiger. (D) Iknow your tiger.

Timothy would make himself comfortable .......................... .

(A) in the drawing room (B) with the author

(C) on long sofa (D) with grandfather

The corporal punishment made Gandhi weep piteously when he was in

the ............. standard.
(A) seven (B) six
(C) fifth or four (D) first or second

The postmaster came (to know that to answer Lencho’s letter, he needed

something more than ............... , ink and paper.
(A) goodwill (B) good wishes
(C) help (D) consolation

The poem Village Song’ appeared in Sarojini Naidu’s book titled ................. .

(A) The Silver Threshold (B) The Golden Threshold

(C) The Broken Wing (D) The Song of the Palanquin Bearers
The poem %Village Song’ has possessed all the qualities of a ..................... .

(A) traditional folk poetry (B) narrative poetry

(C) dramatic poetry (D) modern poetry

The expression, ‘Honey Child’ in Village Song’ shows that ........................ .

(A) the mother is giving an order to her daughter to wait for her groom

(B) the mother is whispering the girl to stay back

(C) the mother is shouting at the girl to leave her

(D) the mother is addressing the girl affectionately
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14.

15.

16.

17.

18.

19.

Mother, I really think the flowers go to school underground. Who does T’ refer to
in the line ?

(A) the thunder clouds (B) the master

(C) the mother (D) the poet

The flower children rush out in colourful dresses when ................... .

(A) the gentle breeze blows (B) the rains come

(C) the master allows them (D) they finish their homework

The Galo tribes worship the Goddess .........cccccoeenne. for their wealth and
prosperity.

(A) Kamakhya (B) Khechaikhati

(C) Mopin (D) Ranachandi

Arunachal Pradesh is one .of the most remote and picturesque locations. Here,

the word ‘picturesque’is................... .

(A) energetic to look at (B) adventurous to look at
(C) peaceful to look at (D) charming to look at
The main features of festivals in Tripura is that ...................... .
(A) all the people join in the celebrations

(B) few people join in the celebrations

(C) the young people join in the celebrations

(D) only the elderly people join in the celebrations

Sergie met Lushkoff after two years ..............c..cconee. .

(A) at the parking area of a theatre

(B) at the ticket window of a theatre

(C) in the notary office

(D) in the market
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20.

21.

22.

23.

24.

Vodka’is ..ocveveieniininnininnenne. .
(A) a kind of strong alcoholic drink (B) akind of cold drink
(C) a kind of smoking (D) a kind of fruit juice

‘Many people — physicians, engineers, meteorologists, botanists are involved in

research.’

Who are the meteorologists ?

(A) Persons who check air pollution.

(B) Persons who study about weather conditions.

(C) Persons who clean dust particles and ash.

(D) Persons who study about galaxies.

Which statement reflects that Vicky was good at studies ?

(A) Vicky was a young, smart-and sane boy.

(B) His life was full of vigour.

(C) Computer and Maths were his domain.

(D) ‘No pain, No gain’, was his motto in life.

Which statement is not true ?

(A) The automobile exhausts are more dangerous than the industrial smoke.
(B) Polluted air leads to respiratory disorder.

(C) Many flower and vegetable crops suffer ill effects from car exhaust gases.
(D) Chlorofluorocarbons are used as a refrigerant and a cleaner.

According to Lord Eustace Percy, list the things that prevent someone from

achieving success in life.

(A) good health, clean habits and idling
(B) smoking, idling and gambling

(C) regular habits and good conduct

(D) drinking, interesting hobbies and good companionships.
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25.

26.

27.

28.

29.

Suppose you are Lorraine. After Vicky’s dreadful road accident, what advice

would you like to suggest the society to avoid road injuries.

L. Don’t consume alcohol.
II. Don’t use cell phone while driving.
III. Don’t put helmet and seat belt while driving.

IV. Don’t drive with high speed.

(A) I,II and III B) I, IDandIV

(C) Only III (D) TandII

Samjhoo ought to pay the full price of the bullock.

How much was the full price ?

(A) A hundred and forty rupees. (B) A hundred rupees.

(C) A hundred and eighty rupees. (D) A hundred and fifty rupees.

‘The bullock became a mere -baqg of skin and bones.’

Which statement does not support the above sentence ?

(A) The bullock was on proper fodder and water.

(B) The bullock was making three to four trips per day.

(C) Samjhoo Sahu overworked the bullock.

(D) Samjhoo Sahu tried to put double load on it during the fourth trip.

Here are some clues given in the box.

old bent pale toothless

Find out whose personality matches all these qualities.

(A) The old man (B) The old man’s father

(C) The old man’s grandfather (D) the wise man

“Corn like this used to grow ..........c.......... in my time”, the old man replied.
(A) anywhere (B) nowhere

(C) everywhere (D) somewhere
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30.

31.

32.

33.

34.

35.

36.

37.

38.

Pick out the incorrect pair.

(A) recreation — amusement
(B) stunt — stop something from growing
(C) wuntarnish — impure

(D) beware of — be careful

An army of solders

(A) is (B)
(C) were (D)
You had better .................. this place.

(A) left (B)
(C) leave (D)

It has been raining
(A)
(©)

at (B)

for (D)

My elder sister did not

(A) agree on (B)
(C) agree to (D)
All the furniture of ST Schools ...........cc.cceee.e.
(A) are (B)
(C) has (D)

Mr. Prasanna Kumar Dash went to London
(A) by

(€)

(B)
in (D)

The village in

(A) where (B)
(C) that (D)
Do you object to .....cvvveniiiniininnnns .

(A) what he says ? (B)

(C) what did he say ? (D)
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in the Pakistan border.

are

have been

leaving

to leave

5,0’clock this morning.

in

since

the marriage proposal.

agree with
agree in

new.

an aeroplane.
on

with

I lived is surrounded by Chitrakut hills.

which

when

what does he say ?

what had he said ?



39.

40.

41.

42.

43.

44.

45.

Most of people enjoy T-20 Cricket Match these day.

The underlined verb can be replaced by ..................... .

(A) go in for (B) go back on
(C) get on with (D) get away with
If men were fishes, they ...................... in water.

(A) will live (B) would live

(C) would have lived (D) lived

I knew her.

It can be changed into passive voice as ......{uueeveienennenn. .

(A) She was known by me. (B) She is known by me.

(C) She was known to me. (D) Her was known to me.

He said, “liar !”

It can be changed into an indirect speech as ........c..ccoceevvennenen. .
(A) He said me liar. (B) He called me liar.

(C) He called me a liar. (D) He told me a liar.

The festival was celebrated with enthusiasm.

The underlined phrase can be replaced by .......c.............. .
(A) enthusiast (B) enthusiastic
(C) enthusiastically (D) enthusiastly

My mother burnt her hand while ....................... .

(A) she cooked (B) she was cooking
(C) she had cooked (D) she had been cooked

Gandhi merited a rebuke.
Here the underlined word means : .......ccovevvvnenns .
(A) accepted (B) deserved

(C) resisted (D) disliked
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46.

47.

48.

49.

50.

My grandmother gave me twenty rupees.

Pick out the indirect object in the above sentence.

(A) Twenty rupees (B) Me

(C) My mother (D) My grandmother
A scout said, “I go for a walk every morning”.

Pick out the correct indirect speech :

(A) A scout said that he went to for a walk every morning.
(B) A scout said that he goes to for a walk every morning.
(C) A scout said that he would go for a walk every morning.
(D) A scout told that he will go for a walk every morning.
The businessman did not die. He .....o.............. (murder).

( Complete the sentence with appropriate form of the verb in brackets. )

(A) is murdered (B) was murdered

(C) is not murdered (D) was not murdered
Go fast, .coooveniiennnnnn. you will miss the train.

(A) so (B) for

(C) orelse (D) but

Sonu as well as his friends ..............c..ce.e. visiting Puri tomorrow.
(A) are (B) is

(C) was (D) were
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SUBJECTIVE TYPE QUESTIONS

Time : 1 Hour 30 Minutes Full Marks : 50
1. Answer the question in about fifty words : 5x2=10
a) Describe how air is important for man ?
OR
There was a sort of rivalry going on between Gandhi’s Sanskrit and Persian
teacher. Give a short note to support this statement.
b)  Who is the poet of the poem ‘The Flower School’ ? How does he describe the
activities of students in flower school ?
OR
Why does the daughter use two important expressions ‘Cadences of Sorrow’
and ‘the wind of death’ to convince her mother ?
2. Answer the question in about thirty words : 2% x2=25
a) What helps Nagaland protect and continue its history ?
OR
What were the final views of Gandhi on handwriting ?
b)  What changes take place in nature at the advent of monsoon rain ?

OR
“Honey, child, honey, child, whither are you going ?

Would you cast your jewels all to the breezes blowing ?” What does the

underlined part convey ?
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Imagine you are Jyoti Ranjan Nanda of Balasore, working as a reporter for
‘The Telegraph’. Write a report for your newspaper on the cyber security
awareness programme conducted by SBI, Balasore at Gandhi Smruti
Bhawan, OT Road, Balasore. S

OR
Write a summary in about 60 to 80 words of the following passage :

These days, almost everyone sings and it doesn’t stop there. Most of us want
to become professional singers. Result : a complete disregard for and
ignorance of the training part, as the need is never felt to go through one
and the urge to get to the stage and perform overcomes even a little desire to

learn, if any.

If at all, somewhere along the way, one feels the need to gain some
knowledge and training, it leads to hurried short cuts and half-hearted,
attempts, best described as ‘Crash Courses’. It is observed that those who
attain partial success feel they lack required knowledge and are not learned

enough.

But while under training, a student is expected to make mistakes and then

rectify them under supervision and guidance of a teacher.

Write an essay in about 200 words on any one of the following topics, keeping to

the outline given : 10

a)

b)

The Season you like most :

( Name and duration — description of the season — festivals — fruits,

flowers and vegetables availability — Why do you like it ? )
A Study Tour you enjoyed :

( Place and time — who were the members — description of the place —

excitements — did you enjoy ?)
Road Safety :

( What is road safety ? — importance, — causes and effects of road safety —

guidelines — prevention and government programmes )
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Translate into English : 2x5=10
¢ 9es1g6Q 6711 At FAQ AIRAUR | 69 A6Q ALAFS ARl | ¢ ole ToIT ARG

Q% @R | 64 @64 2RAQ JIg AR F92 | R°AURT Q9AI FAQ ARRXIER
ERYQIQ 629 64 €168 QUIA 6Q6R |

OR
QLN - JeRIM Q671 QAIEE IR ?

Q1A - RER AIRAR |

Qql - Qe ?

Q1A - QRG] 6QGRQ AIRAR |
Q€ - 661160 QI QIRY QAT ?

i) Suppose you are Pratyush)/ Pratima Dash studying in Class X Govt. B. D.
Vidyapitha, Tangi, Khordha. Write an application to the Bank Manager, SBI,

Chandapur to open-a new Savings Account. S
OR

Imagine that you are Goutam / Goutami Pradhan of Nirakarpur, Khordha.
Write a letter to your elder sister narrating your experience of visiting a

Science Exhibition.

ii) Read the passage below and answer the questions that follow, each in one or

two sentences :

Water pollution is the contamination of water bodies by directly or indirectly
discharging chemicals, pollutants and wastes without adequate treatment.
The main water pollutants include bacteria, viruses, parasites, fertilizers,
pesticides, pharmaceutical products, nitrates, phosphates, plastics, faecal.
Water pollution in the cause of many human diseases, mainly diarrhoea,
skin diseases, cancer and various childhood diseases. When we waste less
water, we conserve fuel and reduce the pollution generated by burning fuel
and treating water with chemicals. The best way to prevent large scale water

pollution is to try and reduce its harmful effects. Agriculture or other
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industries can reuse this waste-water by reducing its toxic contents. Water
pollution is a serious environmental issue that can be prevented by taking

small steps at the individual community and Government level.

Questions : 1x5=5
a) What are the factors causing water pollution ?

b) What are the main water pollutants ?

¢) How can you prevent water pollution ?

d) How does water pollution directly affect our body ?

e) How can industries re-use water ?
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MODEL QUESTION PAPER - 5
SUBJECT — THIRD LANGUAGE HINDI (TLH)

Time : 1 Hour Full Marks : 50

OBJECTIVE TYPE QUESTIONS

1. SR % FTIR S L dTel HT UHTH 97 BT 3 2
(A) CERI T WU §E T R | (B) 3= N THT g0 %o firerdn B |
(C) 38 <A TAT 37T B oot 8 | (D) §US I8 G & I 3 |

2. BN A H Weld 999 1Y H Hoa 9oy 1 hid & ?

(A) = STET ! Raerd # | B) 3 Ufdfaw =1 fewma € |
(C) UreT-|T 4g H &I T B | (D) 394 B | o &d & |

‘ o y O o\
3. UHE R HiAA [ebdenl (HAl % ?

(A) THHE=< @ i (B) TaRe™ i

() FgHreTE (D) qerrer
4. WYHN Hd THT T T HE 9T IeT BT Ifa B 2

(a) Qe (B) U

(C) FdT (D) YT

5. I 9 6l AT ET HL Thal g ?
(A) §Y o foar (B) "I
(€ Y (D) wErE
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10.

11.

12.

Torspedt o @ T3 e T T HINT |

(a) T (B) g

© e (D)
foehedt B & g vIsg 1 UEATHT |

(a) foae (B) =Fe

(© wafa (D) T3

Haf’ w1 SgeEd 9 H/T 8 ?

(A) Tufa (B) Hufaat
(C) WUt (D) Huf=
GugaTa G Bl TEATT |

(A) Uelg (B) =Telet

(© fr (D) &

HEl SdTeTel 68 Bifey |

(a) et (B) <H=

(©) T (D) eRrEh
“Tes Taep1’” hiddT O THE ST T o1 ?

() 9= (B)

(C) @& (D) ST
H-A1 1Y ‘T UTg YFET YR o oI Iwh g P

() TS WA ST (B) G BT
(C) WTd T (D) AT & e
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13.

14.

15.

16.

17.

18.

<t 1 fErmen’ widar & w-2t 9ft o =fc o o % forg fag s g »

(A) TF G et gaT Ud WX (B) YT B WA

(C) < Q HIAT & HIS WIS HI (D) & IS & § 3
el ufts g ek fafau |

TS Rt fA BT AT 2 o |
TedT-sgal U, et fed, tam ot oot 8 |

(a) HI < T Temren (B) S | WAT§

(C) T8 3R (D) 3R fopeft fet Bier
TRATTST 3 Srg-4d T Slelt 1 Ja-e &1 fopam 2

(A) ITNE I & fog (B) IR & e % fog
(©) TS 1 rerara o' fetg (D) Y& GETH & I =M & g
HIAA Y FHRX I 3T &1 Ol & ?

(a) e = a (B) T &

(C) e @R H (D) g @R H

‘e’ &g W T T FAT IS BT 8 P

(A) s (B) =
(C) B= (D) SHTE
fafean o & 35 =i |

{@Ifehd T hiA-H HRh HI 8 ?

(A) 3TUTEH (B) HH
(C) 3fereRtor (D) hal
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19.

20.

21.

22.

23.

24.

25.

TH g -9 919 KT HIh T & ?

(A) T@F 3 How o o | B) frard %t @ T |
() T v o= I Rgetrn | (D) Us & war fir |
I Afaeet fg v W @ i & 2

(&) ¥g I (B) e wr

(©) e urt (D) TYEER G
3918 e i A= fogm d fafemn s T A par e g 2

(A) e W B) & WE

(C) @R 9 (D) TS Wi

Sieft Ia4 9 Sred HET gl T ?

(A)  <hleTl B)

(©) e (D) HfeT-gE
IR S gHEwT § w@rist | fohg W § Ao foa 2

() fe=dd (B) wEH A
(C) IS T (D) selt §
et | foR® W T SiSTer e § P

(A) WER (B) TS

(©) Teoderi = (D) 310 St
foreepTg 3 39 % & A | F&AT TR P

A) 3 g (B) &l A
(©) foere= (D) THFW T
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26.

27.

28.

29.

30.

31.

.............. TS o1 A T 2 |
3fed g™ ¥ @relt g | |

(A) TR

(C) 3I°h

T 1 el foh g Hie TE wm |
S 9T | WY | Wi BifeT

(A) W

(C) d-

firarE 1 fomivor w9 == B 2
(a) frer

(C) AP

ST TTes GEEeR THIT did o |

TEd 91T | Shia-H1 ug fersmor 7 2

() T wrE

(C) @HI

‘“ny % FH-fegg W H rEwg S |7

TEId 9T H Tgh 3T UgETT |

A) HY
€ #H

(B) 3ITeh!
(D) 3ITehl

(B) <zl

(D) ST

(B) HiaT
(D) wgA

(B) ERIECR
(D) da &

B) w-fead

(D) 3HAIH

@ i M afeq § S aTet B R HE T 7 P

A) fowe=
(C) ©HUS
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32. 3 © % ITER o ¢ il & Hg ° fehell g Taehrt o1 Fehelt ot

(A) TH g (B) &
© e (D) =R g
33. forereh fery UU, oreoer 4® 3R Iwehiel! 31t ot =i fafema & @i 2
(A) B H B fig®
(©) T®EH (D) R
34. W9 ikt Tt sadl, qe firg o 7 4 et 3= 3o Bt ot ?
(A) ARgHT & Y @S & Hi (B) TIRGehT o TTY S <h
(C) <Rgest & e § sS4 (D) 3eh! 3T & ATHNT LA h
35. ‘HAfha’ e W | ITEA A FHINT |
A A (B) 31y
(C) <d (D) d
36. U WIeg o M Ifud IUEH TIRY |
(a) ¥ B) fo
€) g (D) WX

37. T=faRed weal ®# @ ‘Far % foe 3t afga yo= y&m it |
(A) T (B) HIg

(€) 3Id (D) <
38. ‘TN W& H HEl I o & T I ?

(A) Qe (B) TGN
(C) gmfean (D) TTER
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39.

40.

41.
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SUBJECTIVE TYPE QUESTIONS
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MODEL QUESTION PAPER - S5
SUBJECT — THIRD LANGUAGE SANSKRIT (TLS)

QG : © A&l Q4 Qs : 8o
Time : 1 Hour Full Marks : 50

OBJECTIVE TYPE QUESTIONS
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MODEL QUESTION PAPER - 5
SUBJECT — MATHEMATICS (MTH)

QAqg : € A4l 08 A7 g4 Q°qyl : 8o
Time : 1 Hour 15 mins Full Marks : 50

OBJECTIVE TYPE QUESTIONS
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A) 12614 (B) 13615 (C) 15617 (D) 19 G 21
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(A) 4dLIeRIE! (B) Yme@I€l (C) d{exlsi (D) Kl

~ —~
37. QR 9YEA O QAR 699 | mLORN =15° 626m, m MIN = |

M

N
(A) 110° (B) 170° (C) 210° (D) 310°

38. Q@ 986@ m/D=90° | O 9RQ 699 | ABCD 9QYaQ 228Q@ AB,BC,CD G
DA @ QIQ6T P, O, R B S @96Q 94 @6Q | PB = 28 6Q.61., BC = 40 64.41.,
CD = 25 64.71. 626@ AR NIAIFQ 674 6R6E ?

D R C

A P B

(A) 12 64.4. (B) 13 64.4. (C) 14 6Q.4. (D) 25 64.4.
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39. Q@ 996Q PQBPR Qa6 F49€ B8 RS|PQ | msRPQ = 40° 626, m/ROS:

40.

41.

42.

43.

44.

R

9]

(A) 20° (B) 40° (C) 60° (D) 80°

60T QTR FYRA ATERIG ARG ALLAQ 6Q6Y 6 6Q.5. 8 8 62.8. 626R
2999 2IBNIAIR 6R6S 689 ?

A) 2 69.9. (B) 36Q.4. (C) 4 69.9. (D) 5 69.9.
0>90° \G° sin® =cos o 626R A AFFIAT FUQ 699 OF ?

(A) 0+a> 90° (B) a—-0>90° (C) 0-a=90° (D) 0-a>90°

6eQ 99 QA 6918 QAT QI USRS AIY FALIQAAIEA ?
(A) 69191 (B) QIR6YIFGQ  (C) Q6T (D) 2B6LANAG

6QISNY AR QUEQA YAARIES QEIAAIR 99 QIYIQ QP! 6962, oI'a
dIQERdlq 698 ATOREQ Q0@ Qg Y@ FQ Q 06 A WIFIR AGAIQ
6RlEa QRCQ AFE 6R6G ?

(A) 30° (B) 45° (C) 60° (D) 135°

9% secO-tan0=m 9, 606Q sechH+ tand Q IR 6QES ?
@) 1-— B) m*-1 © - (D) -m
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45.

46.

47.

48.

49.

50.

sinA=% 626M cotA Q IR 6R6Q ?

12
13

=l
12

© 2 (D)

13

(A) 12

(B)

99 997 9 e INERA VTR x ARTCA B 9] IR CAYTR x AINCR 626M
2IQ QI QUi 6@6¢ FoQ ?

(A) 4 (B) 8
(C) 2 (D) @R G2y 6] Q6L

691G 6TINAR JYQ 6VGTR 4 QTR LIS MIAFITY IR AFETINNQ ATG
QIR 6ASTR 6060 ATTR ?

(A) 2 (B) 1 € 3 (D) 6

18 6.8, QUIAIGITY 9P YFQR QYEA AIFYLY IR QLRE 6RIRER ARSI
QEM, 6RIRTQA RIAQ YA 6R6Q 689 ?

(A) %eq.ﬁ. (B) 9 6Q.8. (©) %eq.ﬁ. D) 18 62.9.

Qe YFGHY 69ITY ARCAINR, 6915 TRGQ B 6919 6RIRA AR AAIQ

LEM, 6LAIPHQR AW AQUIC 6@60 ?

A) 1:3:2 (B) 3:2:6 (C) 2:3:5 (D) 4:3:5

691N QFIERRR QLR 6T a IAR 626R, ILIQ VAR I 6260 YRR ?

A) 2a (B) (C) V2a (D)

%

a
2
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SUBJECTIVE TYPE QUESTIONS

Qg : € Al No a7 g4 a°qyl : 8o
Time : 1 Hour 30 Minutes Full Marks : 50
1. (@) RN [af9la geLial @ @?J dA1RQATQLEQ AIRMI? @Q - 5

(b)

(b)

2x-3y=3,4x-y=11
@fl
66T 2INe6IQQ 68dY 2 & 2N B gg 2 & @ 626m 68eTR 28 Q.4.

QAL | Alg 6544 1 & @6 6 gg 2 & NS 626R 68eTR 33 Q.4.

QLU | gR AR 6TR I @9 |

J4ed6Q ARG @R ax?+bx+c=0, a= 0 AMRANTQ AARIL @Q | 5
@
@64 QU@ CIFQ FIMAIQ 6Q9Q UT A4l g6 1 @.4. 9F @B 6669 2 @.4.

QYI 2PQ¢ QG QIR 10 FAe @ ATQ FAE | 6669 UG FITQ FIRSIA

A4l G 699 Fa @ |

o1 1 1 1 __n
Al @9 o+ 53 Y axd Tt AneD) - nel S
@fl

1,5, 12,22, 35, ... 4@ AQRAQ n AN I9Q 6QNTR Fga 9a |

1 Q 58 F1IEQ 3 @A 4 QA FRAIFY A°HYI VIRUQ ARG ¢S @ | 5
@l

6163 0QReQ S18RQYER A (-2, 1), B(1,0), C(2,3) 8 D (0,4)

626M Y2IQ QTR A4 /9 |
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(@ @¢ QAASEQ 50 ¢ [P GI6P YA IR Q. QUG |

QAR FAYIRQ AUF A KD : 5

Qdceq agael faa | 209 @d | 409 @ [ 60 @a [ s0qQ @a | 100 @9

8191 Q! 17 22 29 37 50

A

g Q¢ LYY SAIRQ ARIAIR 50 99° QUG JFRQ ANF

120 626 f, G £, B9 @9 :

Lwlol 0-20 20-40 40-60 60-80 | 80-100

QARG 17 fi 32 I 19

b) A8 9Q 69 60T TYRA Ta YR 6044, A IR FYFA AYQD 8
QIR 6EIAL AAIQUIGT 626/, FYF QR AGH 22a | 5

@l
galdl @Q 69 62193 QRQ F@3g IR ARQ QY @ IO ARG TR HEQUR

6ody QAR |

() ABCD 4@ QRI3RYS 9Q9e | B 6 /D Q 99GY€RQQ 9929

E QQ6Q 689 @Q8 | DE Q@ F 996Q 687 @6m, 97ld @Q 64

BE 1 BF | 5
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(b)

(2)

(b)

QR 9GQ6Q AABC Q@ AB QUQg QY@ @9 | QR | BC 699Q&@, A-R-C,

DR | OC 699Q& A-D-B | 998l @Q 64 AQ? = AD x AB |
A

VARSN

60T G2Q §19q 9 QU 8Ql 6QIN AR 6@ldR AR ARCE

60° ARl | 692 92Q 199 1-:58 0ag 6l 2 AQ ega e@l&Q

29R0Q IS 30° 99 | 98Q ARG 2ga A | 5
@l

deldl @ : tan7A . tan4A . tan3A =tan7A-tan4A—-tan3A

691G AT TYFR 6AGTR 1936+3 Q4 6Q.71.1 6615 QR AR 1@

QY@ AQQIT A6 AAIR | QA AT Fda ! | 5
@l

601G AREQA ARG QIQ YIAQ QRS | YL QTR 539 . 6@.4.

626M AAG JYQ 6AFTR 6963 ?

AB U@Q @Q | 6090&@ AB =4 6Q.6.1 AB @ QY4 Q69 627 Q@ AFR

@2 | A G BIQER Q@ 96 249 XA @Q | I2 99aQa @ad aue f¢a

QQ | 5
@l

ABCD QI9I36@ ¢ s @a Qe AB = 55 63.8., @ BD @

6aaY = 8 64.8. 8 m ZDAC =60° |
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MODEL QUESTION PAPER - 5
SUBJECT — GENERAL SCIENCE (GSC)
QG : © A&l Q4 Qs : 8o

Time : 1 Hour Full Marks : 50
OBJECTIVE TYPE QUESTIONS

‘@ - QG (6Ql06 QRIR)
Section - A (Physical Science)

1. @96Q QUIKIRYRI Q@YE TIQ 9m RET QI

(A) 6] AMETS ATRQ FOR ARI6Q 6@ TG RUIACQ IQTRER LR
AQRAT QO |

(B) 6RQ QIR6YE Q4] Y9 FR ARIEA 697 JAC RUIFEA G Q6R 1Y @
QEFQ FIRCTIETR PIRAFING el AQR 9 |

(C) QAR AVFEER INVA 6]IAAS AR AGTY IR AFEQ VRS 99 |

(D) @8 @dQ Y8 69R SRIAIT 2IRUICA AT REM YA QI QP QUEQ IR
QR 2IgAd AGAI |

2. Q69IQ g 6RR% Y9 6RI0R JA9RR Q6% ?
(A) QAT ARSI
(B) dIQQl REQ 9R6Q 1S KA
(C) 9% IG QAYER UAEL 629

(D) Q9% SHIAQ QLR
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AIGERTLE UI0] SIYEA FRIAGI Y YLIQ AR FITF6Q AT AT FAR| AP |
@8l

A) N2 QU6Q JIQIY AYIFERANE AFINEA IR IS QLRI |

(B) N2 QUEQ NS AYIF6T0 AFIRCA IR YIRS QLIRAN6R |

(C) 2l QUEQ LA ANISIERTAN FIACTTR I 2GRS ARIRAIER |

(D) Y2l QUEQ JIQIY AYIFERANE RIACLIR IR 2GRS QEIRAIER |
Q6qIe 6915@ 969 6P pH R ALY ARIR AHEA 60R6 O] 629 ?
KNO ., KOH, HNO, , CH,; COOH

(A) KNO, < KOH < HNO , < CH,COOH

(B) KOH < KNO, < CH,COOH < HNO 4

(C) CH,COOH < KNO , < KOH < HNO,

(D) HNO, < CH,COOH < KOH < KNO ,

Q6qIQ 699 UQIUTER AR FAFAY 6UUAg QPIREA 12 AR AEQ ATIRG
621DQ ?

) AR Q6 Q26

i) @ERTNQ

i) go-2ag)

iv) Qf dIE
(A) QA (iii) @ (iv) (B) Q@ (i) G (iii)
(C) 6L (iii) (D) 6R9% (i)
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6. Q@G ANAFMEA IR A IRAEQA  AUCQ U16Q KAIRET AAAAAEQ AR
6QI91dAe 2REFING, G GlIg H,SO, A4l dnl | QL Y6 AGeQl QUAXFR
gogel 29It 3679 699 @6 OR ?

) @8 Q79 96Q Gy 6QICIdLS LRQFING QI INEQ H,O” LR
ARel @ADL |

i) @8 AAQ U6Q Qlg 6CIFIALT LALFING A IREQ H,O" LR
ARRI QLI |

iii) @8 AL V6Q QY H,SO, A58l @R6q H,0" 2I9Qa CIgel @Ade |
iv) @8 Q00 96Q QY H,SO, AdeIQl eR6Q H,0" 2IAeq JIQel @LLe |
A) Q@2 (i) G (iv) (B) Q@ (i) @ (iii)
(C) Q@ (ii) 8 (iii) (D) QL (i) 8 (iv)
7. NQ QUIQR AAQQY ALl 990 A90Iq K009 Al
A) 19l (B) 9ITIAG (C) LENIAR (D) 69IQ
8. Qa9 dIQ I ARAING VA ATA 6 QI AT JEIe 969
(A) Mg 3@ Mn (B) AlBZn (C) Al G Mn (D) Mg B Zn
9. FTQ 6TYRR CHINR 696R FYR @R 6RA0IEQ [N 2 ?
(A) N6QIQ0IER (B) Q@ 96918 IQ° Q4I62IQ 016Q

(C) @I62IRQ0I6Q (D) 6FQYLR Q& F1IEQ

F-13 384



10.

11.

12.

13.

LPG @Rl 6967 Q19 Qe dHI98 SR6R, Y2l @4 QdIRalg ?
(A) LPG 92 @¢ 9Q¢141Q 2g@leq dgél

(B) LPG 92 @¢ 9Q¢14Q QIR6LI6RaQ {44l

(C) LPG 92 Q942 A6 2IR6gI6aa Fgél

(D) LPG 92 QdYe 916 AgIeq fgél

Q2 6RA JIR 699 QAT I fgE] USLQ RN ?

A) 2UFPERR G R2IAR (B) QY 6 IR
(C) 2P 8 asaQ (D) QIY B R6AR

Qlg J9vdq @f RAQIUIR UIGR N9 96U 6J69IR dE0e 60 Q9] 6AIFeq
QLR RN ?

A) TFANLLURE  (B) R2IGN () WdeQ 9de (D) 9I6QIR

209 adYg AAEIEQ &Sl IR 6(1RAA QERRLR A°QALR 2, 8, 4 6T6R, A
6A1RQ% aduig AIQEIQ 68Q YL B 69 65416Q 2GS ?

(A) Q919 AdiIa 6 14 99 (B) Q19 adyia 6 48 g9

(C) @o1a adya 6 8 aga D) QUERIG S ARIAES
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14. 3619 691RA0gEe g 699 G6RIT 6(1FG 6aa Q69Ea Y8 FIANE gge

15.

16.

17.

@Q6M ? Li, Be, C, Na, Br, K

(A) Li, Be, C (B) Be, C, Br (C) Na, Br, K (D) Li, Na, K

n,, Q AIR 125 626 n,, Q 7N F6QIg AU 69QE 629 ?
(A) 04 (B) 08 C) 1 (D) 0125

4@ 2dd QU6 YLUIEAIR AFER @dd A6 10 64.8. @R6Q e AV QAR
QAIaFIee Tae 23| Qg @dd AFYIEQ 6960 QR6Q IR g AYSA ATIS AV
Qg goQa Q] 699 ?

(A) @dé0Iq 564.8. Q69

(B) @d&I0Iq 10 64.8. QQ6Q
(©) @dé0Iq 20 62.8. Qa6Q
(D) @d&I0Iq 40 62.8. QAR

Q¢ 996 Y9de 62 @F 99 AR AF AR A g QLR AIIA B 6Q 9
QR6Q | FIRIF A Q JoAQENIF n, 8 Al B Q gGAQSIT n, 626M Q6718 2@JER

RIQ 609 A6 O] ?
RIS A
ZIERIR QF —

\\mc}m B

(A) n,>ng B) n,=ng (C) nyu<ng D) —“&£>2
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18.

19.

20.

21.

qdyig 6 gediIan AAA6Q 21Ag T4 AR 6AHILN RIER ?
(A) AN 94 2IABA1E goTRe 6QIq |
(B) QIYASREQ AICRIGQ JOAQS 621q |

(C) 2P CAFCTIIFIY AN AR QYAVREA ARG 621R 22 Y6
AeQIq |

(D) cleRIea gelde eaiq |

9@ 9gRIFIA @dd 8 RRIRIA 6ARY ANAA 6XIRY QB! — 10 64.51. 626M
(A) 98 6 6RAY AV AR 2SS |

(B) @d4 6 6RAQ Q@9 AQR 2T |

(C) QDT UeR B 6RAYT Q@R 6T |

(D) QJd% Q@F 8 6ARAT AR 26T |

@ QMR TRICFIG (Filament) FUEQR 1 A QY0 6910 JIRe 29 | 9@ TRIENLQ
JE6RQ 69Q 16 6A6REER JRITE AEARSR A°GHYI IAG8 6R6Q ?

@A) 102%° (B) 10'° (c) 10'8 (D) 1023

92 ARGQ 2190 ARQILIQ 6944 |, JYERIQ 6AGTR A B gO6QUY R A6S | IR
dQ1gieq FFe ARY Y@ JAQIIQ 68dY 21 B8 JE6QIM R 626m LI JY6Rea
6RUQTR 6Q6Q 629 ?

(A) B) —= C) 2A (D) 3A

IN]5S
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22.

23.

24.

25.

Qg 929 B BAACAIZ° FREC VTQ 67QYER AURASYEY ISl 69U 3671
699 QURAGT 699Y0R AAAUCA LI FAIAN ?

A)  2ee (B) R (C) 63QYPe foQ (D) QABKIS

Q619 V-1 gIT6Q, P6RI0 @a QIUAIgIea 99 F6]IF FIAQ FIT QIR |
6069 Q67IQ FIQ 696 OR ?

(&) T, <T, <T,
@ 699YGR 6¢116Q (D.C. Motor)

A) KBS 989 IYQ IP6Q QUIBAC R6Q
(B) 69QYGR 9@9 QU6 QUISAC Q6
(C) QIUEPY 6LQYoR IR6Q QUIBAC F6Q
(D) 6QQYCR I JIER J@6Q QUIBAC A6

Q64IQ F1RIQ 6990 6RANCTRG oI ?

A#ITE RIQAY ﬁ ) <
(A) Sa16 6916 ~ a0a (B) QHIGQ QY x QIeq AGE
AAIGE QY x AT . _ .
(©) (D) 9leQ AAI& x ARGe QIFY x AAL

QQYe 6919
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26.

27.

28.

29.

30.

31.

32.

QAR QAP QL &F QAUACA €A 6N | F6YIR AUQ LR AR YK

QAR ?

(A)

6QIYER 2l 6RNY RMNYXQ I 70 - 90 WG N QWAILUR dIRPRIR 699 2°E6Q

=ll[ataote]

2Q6EITE 9 ?

(&)

QEG 692 9B AIIFGA YA 2l AR Fad @@l ?

(&)

diagm

Selaly

‘of - QU6 (R1Q ARIQ)

Section - B (Life Science)

(B) QI (C) emle

(B) Fed! © 9919

(B) QL@ (C) ARY 64916

(D) AR

(D) Q2eq

(D) QAUANE!

I& 2gQ AA6Q AF A IR QR | M2Q 68X I AYR 629 ?

(&)

Q6719 699 6541 gIaAIes 9ed46a AGRIRYS 8 QRS A Agd

2

Weo ?

(A)

alatsale|

(B) CO, (C) H,

(B) &I (C) 6QUTwel

J9Q 62199 9F T 626RA 6286 68 019 YF 99 ?

(&)

©)

2l 6298 QA Qg QAT JA1Q gy 2R AZR | Y2 A8e6q &Sl 69

°64196l Q1d

A Q19

(B) Q6997 9ld

(D) N,

D) Q<

(D) 63dQ 2IRIIRe QI

QUYIQ 6219 ATRI QIR Q6C1 AIQE ?

(&)

QRRIRR

(B) 69&% (C) F6ERNTR
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33.

34.

35.

36.

37.

38.

39.

ST 9919Q 699 JRIQ QY 9g FNIAR QIR ?
A) Qe (B) Q9@ 9wde  (©) eaI@al (D) @@

26 QG0I6Q FER Qe R 6d1RdIg 69Y ¢ 920 2IFRe 62ARAR | AZIa
68Q g& 641g 2l AAQ 62AI ?

A) AU (B) IFAR (C) 2RI (D) LINCIAINAQ]

6912 AQ 6AIARI 629 ARIA 6017 2018 JAARI | g 62 YAIYA G6R AGRI QAT |
AZ9Q 68 2°9 6I'Q Q1A AAAIFY AV 'RARIER ALY IR ?

A) a9 g9 (B) QUNGS (C) 999 @8 (D) QTS
RN 6QTYY A0 699 IF06Q 9T FAILIRAIQE ?
A) 9F 9°9GgIQ  (B) 689@ (C) @NARAE (D) QY&ae

dolg ARIQE 9498 @ QIR GIgQ U6YIALIQ 1A J9e KRG A
6Q6R | 6069 699 2AELIR ARIFCIIY PP ACYITVIQ AR AAIFE 66 ?

A) 2AF6QIdR (B) R6YIERR (C) 691628aa (D) @l6Qlegda
QE6Q YIGIIeE 98 68Q 07 el ?

A) 91909 (B) 699°0%R (C) dUNe] (D) QIASROR
689 98 gIS1Q AYE 2IQREGUCCRFER 6QFILI ?

(A) QYA G e (B) Q2 G gauaI

(C) 4d19d G gaidiL (D) QAR G gaydIL
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40.

41.

42.

43.

44.

6dlQEAMER 6d1d@a Al ARG QFEUIT 6QIR FQYe FURIBR YT 99 | @
AReg Q'8 QRIAN ?

() Feq (B) TYSR
(C) YRR QAN AL (D) INE6R!

R 6 QAT AR 6QYRIQ 6T6R F1d 6FERAFT Y& 922 KRR | LA RQE @'
6216 ?

(A) 91909 QQIQE (B) @a19 9QIdq A8Qé
(C) R19e A°glel (D) QEQQIAR

Q661 Q@ 6UIGI FRF RIARY 6RR QG AR QA FIg LS KA 6QYR 649
F,0Q6Q 9@ 9919 98 Q9K 62198 | 12| 624 AQUIFER 62IR2Q ?

A) 3:1 (B) 2:1 (C) 1:1 (D) 9:1

Ry o di6q 689 AQldy 69998 AIRRIAIR Al ARl | 6068 64 F67Ig 69
JRET AYNAE @R ?

A) QFAIeR (B) @I9 29QeQ
(C) ©IF R4 (D) 2SYAAIeR

QEe ol A6Q 6619Q SUIg YIS G2 KAQI IR 9 A IR FINETYQ 9T BAIR
RTQIQ 9I26M, 92IQ 6R60 O T 96R 69T AYS ?

A 4 B) 5 € 6 (D) 8
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45.

46.

47.

48.

49.

50.

J8Q°gIcqa 2UUTR 69 QIF [EQ ?

(A)

6ARR AUIRRY 666R QUIFIFEQ AASG

(B) 66e@ QUIRIRYEQ 6179 QUIQIFEQ AQER

(C) 69179 QUIQFYLRA AQARTRAE]

(D)

AR U 699 QAR ARA°PIER 5 YR HINYA Q@R R 9]

6639 QU @8 IR @ FAQ|

@eQ ?

(A)

INQ 1Y QAR QIR RILQ FRILIRAE ?

(A)

4geR g 689G YQI6R A°ATE MAPIA AFILQE Q6% ?

(&)

QY

@orm

@11 @I

(B) ISR

(B) Q@Y1

(B) 2QIQEY

(€)

(€)

(€)

88

Q18

g6 geg

276Q AYE CAIAFIAT FIQ 6996 99 IR 6QIa ?

(A)

699l

(B) 62l@e-19

(€)

6R1@Q-19 ¥R 609 g ]I 6QIGl ?

(&)

ARAIFFE

(B) Q1RI§ @52

392

(€)

NIERI

IR QLR

(D)

(D)

(D)

(D)

(D)

lalalla]

ol

)

D)

22

s Ialagalala



SUBJECTIVE TYPE QUESTIONS

Qg : € Al No a7 g4 a°qyl : 8o
Time : 1 Hour 30 Minutes Full Marks : 50

1 (@)
(b)
2 (@)

‘@ - QQl6l (6QI6R FRIA)
Section - A (Physical Science)

pH 6QR @Z6A @€ Q¥ ? pH AAIQ ¢ 6 FI0e AANEA @& IoR

AR ? 64000 RIRREQ pH Q YQQ AAIEQ 661G QLS @ | 4
g

QSR LR 290 6AIGe 98 FAAIER IE LI | F6ARA ACARER BT

QR 59 Q4 |

AIeQ YA F0Q RAIFS TIAL Q&I | 4
g

Q2 3940 6216 YR Ie° §-0IQ Q AUIFHR! 9N |

2-felam 69647, 2,3-2Rfdiam QYTR 6 2,2-2Rfdiam YT

QR 0Q @A | 3
22l

e 61Re X' Q gaf 6 4 & 6AMEA AT AR ACARER IEIER

2 G 639 6dANEQ 713 AR AR RERRSR 2N |

i) 6RRTR RENRTR A°QPR! 6RH |

i) 6RRT 689 g9 6 6aQ ULYIAR ASYS ?

i) LA 6AINIG 660 ? @I AR IR 6Alae v (2, 8, 7) A2 Q&

@QaR! 64IGRQ A°6RRT S |
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(b)

()

()

20 6Q.8. 6TIR QaCl YW Y@ @dd 2GR 6REE AR IR G
QYEM QA IR-QR1AI°E QTG 1@ QA FI0G 629 ?

(Ae2 @dé 6996Q 92 90! ada /@)

(2196R @d&QIRl f=-20 62.8., 98] m = -% )

(@9 9dEgIQ f= 20 62.8., @88 m =% ) 3
22Q

R B¢ Q9¢ n G 9ol 219 Jaed d°@ 8 J6Q AAIAURVIER A°6KI4l
QAR | A°Q A°6IF6Q AYL IGeAN @ AR A°6QIFEQ AYR

Jo6aINa Qe Bga Q9 |

QAALRR ANRAEAL 69@° 6P JYS IR Q4R @A B8 YL 69

6R18T 69T QUQLIQ 8RS | 3
2l

6718 ggeea QLRAIE QLY 62RYQl gd-11 @ @ 641Req
AR X' | X' Q 9960 @Q | Y2 6dIdeq et @Q4Ae AFIARIFN

QAUAATR ORI AR ARG 6mS |

‘QARNY AQRIR JBRAR Ql ‘AYIFERTR 6ACRIRRY QA6AT° (MRI) Q@EM

@8 QY ? 2
A

OgQ AAICAIRY FFGI FTEM @'¢ QY ? °OF SARIA ]G Rl QA

QARG QIR ?
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(b)

()

(d)

15 6Q.91. 6FIQY Q0! A9 695N ARR 6MAA0IQ 30 62.¢. QAR IR

Qg QSIS | ¥2IQ goaaa a8 da @ | 2
oIl

QQYC gRIQ1 AERAIRQA 691Q @UQ FYT AL ? YQ SYe QAR @AQ

Jge 2l 6ad |

ng 21962169101 e 98 ae JGRAl @69, FIg QUQ JORl K6QRIE

QTG ? 2
eIl

6RA-ZNRRN JFG. QLR @8 Q¥ B Y& JdREQ ATYR AAILLR

ANRAEG 6

29 aagd 999 Agd 9% goFAQ F0R Q@4 :

2aQl

QQYQ JRQ RAITR YRR @' ? LI gM YRREQ IRl Q@ |
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Section - B (Life Science)
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arad 2a¢ @949l YRFIRE FTR Q ARYRIQ ET R6Q QT ?

(23 Q8 Q42 ) 2
2R

ZINE Q@ ABIR? @'El ? 9Q° NLIg Yo @9 2RI QQAdem ?
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MODEL QUESTION PAPER - 5
SUBJECT — SOCIAL SCIENCE (SSC)

OBJECTIVE TYPE QUESTIONS

AqQ : € QG g4 Q°gl : o
Time : 1 Hour Full Marks : 50

@ - GQId (RELIA 8 AURFE GRIR)
Section - A ( History and Political Science )

1 x25=25
QU2 JGUGRI IR Q6P AARIAT ULYIFIQA ERINENISFY IS AILIY

RN, F67IQ 68Q ANUQ AQ AR, AR ARNIPIA CRAIRERISRY TR ?
A) AP G UAQT (B) QAL 8 QIR

(C) QR 6 @R 1T (D) 6a1€de Q62

Q6qIQ F1RIQ 699 AGYIGE! AITI0IER N AIRY AT AALER TAT 62IRQ FAUEA ?
A) AU 1QRQ AN (B) ¢19Q 6€112R 69624

(C) @919 AI&igIL1 (D) QIRAQ QI
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A) QIR 6 @R (B) 9489%
(C) 9869Q1 (D) QR

(63416Q 26T CRIRRY ATR FAQ IR g QIR F¢ AR |

Q619 FRIQ 699 ALIRT UAREAIT AICRINE A2 A°YY Q6L ?
A) YR LI (B) @9 6 JARIRAIew Qa0

(C) eSB! UK D) 99 gors
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‘QRIgE8’ QLI A6Ae dARIQ RRAIRE AR AR FIR 4R g

JouIgIa K6, Y2 QIF 9ad A FIFR! 696Q 0Iq A AFHR AR FAIER ?
(A) 1931 626QaQ 7 (B) 1931 G6QaQ 28
(C) 1932 6264aQ 20 (D) 1935 Qg 2

Q6718 699 BIQ 60T QA 6QERAAI REAREA AAG BIQ AICRINE JAVIRES

62IR Qeml ?
A) QQeQ A9 (B) 469018 G6QQ1
(C) a6 QI (D) Q6@ Ag

Qo] 6@49l g6Qd G108 9Qq 60% QI 6RIIQ FNIRATIFFE BFUl A

J096a oFRl ATQ JORe IR QAU 6L IR P

(A) R6ARANCR BLHIQ QR IR U 6N QM |

(B) QNG RAQIQN QarRl @IVIQ 4AR AES YOIQ FQAER |

(C) SIANRI Q8 QERQIE Ygo!l AR |

(D) 6%9I6Q QTR VAUV A°HYI 2ANS R |

Q@R AFRRIQ gael AUY6RHR TR IR 692 FI90] FQ FAUAIRIRAI ?

A) Q0R@ (B) 991 (C) Q&I (D) HRERT

‘BRAIIeE QT 6 9@’ Jgal @4 gaes 60IR 659m 650@Q6Q JOFAINE S0Qd

RQEM ?
A) Y QAQ (B) Q™1
(C) Q2N QTSR (D) QAR AL
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10.

11.

12.

13.

14.

15.

QERIA QGG QNSIQ IRIFS 601 AAUS UG RIS QAR ?

A) QAU ALK (B) QAARYQ 2658411

(C) Q@ 4l (D) 6QRIFITAT

23198 goIQ ARMIR 710QI9Q 6R60 AFY A 9 FAUAN ?

A) 12 Q4 (B) 24 Q4 (C) 36 Q4 (D) 48 Q4
2F10R 2ICAITER 2P A°H FFR A ALIQ RIDY ?

A) QAUYAS (B). QIR Q1

(C) 699 AR1NER (D) QL YA

R1919q VR FARIVIR AIRYIR 6@% ANAR FITVQFIR F28 FEURI ?

(4) UTEQQAD G YD (B) 2UEQLAR 6AI6R

(C) 2V6QAL YRAIG (D) AACQAR IR

QAR B AUINTINAIT ATAR JY AL 6ANFT FIQAEQ FIGE HIEALR
Q60I9g KQQI g2 682 JRIQ gRIFIQd @10a 2296 KRN ?

(4) 620 B) <lgd

©€) Q4@ (D) 691

RIAGEQ 29l TAIA B YT QUFEIFARET FIQ 68T 99 QY AIFY gAI!

QAL ?
(A) Y691 (B) 6Qlel
(C) Q9Q LR (D) QAR &R

400



16.

17.

18.

19.

20.

QIOGEQ 6aR 2RI QAL AARA B ACAR W6RYIGYFY  69IAEe

QAUAIQMI ?
A) Qa9 21T (B) QISR RN
©) e 6 Feae Q1@ (D) QFIQ 8@« 2R

godG B Q9IAg JIF QIRAIQ FUQE QAR FTE3 AFUAMIAFEA AWY UGl

@€ QI ?
A) QRRAXAE (B) Q49624
C) Q4eJT (D) QLA RS

21g@ 421961 6QIFIARI AIIFCA 918 AFAIRE 64194 FAAQ AGYIAG YA
629 624 g4l @Q 2192 ?

A) 92AUY AR (B) 684G QY

(C) AQ (D) Q@G

ARRAIG YRR FAGI QRS 2001 ALl AP 8 QIANQ AR €’

6219 RITIRIQ FALIAE | F6QIQ RIAIYER UG 6RQG Y@ 6QIRAIQ Y@ g

@Iy 26e ?
A) Q& 64 (B) 99LQIRIA e AAAS! JIQ
(C) QAIYS 264! Q6T (D) QIPIL AIQQ ¥e ARG gl

IERD G91 JOFIR AN 6LFIRCEAR ANGTARAL (©.99.) R BRI ILFQ
QRIIAR 2198 FUIRG | 9E FQUIRA 699 QIR QA VARG 6228 ?

(A) OSEPA B) SCERT
(C) NCERT (D) CHSE
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21.

22.

23.

24.

25.

QRSS! 968 GFdl AR FI9Ee FadIS6q A6 QUaries ARILSIAIR AT
PRARYIE 6LIFR JORe QG188 | F67IQ 692 QY FF63 ‘6oq QRT’ gy ?

A)  QIFSI HIYAAY QIR

(B) €98l Q& 8 LR gQIe

(C) [9JY06Q FFYY TAR 71638 ALALG! gQIR

(D) ¢ QYREQ HIYHAY YR

634169 JgQ ARIE G768 26ARY I1LCIAT ARINLR QA 699 VLEIAT F2IAIQ

QeMI ?
A) dg FNIQ YRJoL (B) 6394e d91Q 9
(C) 4g 699 gI9e (D) 4§ 9ATQ GOR

Q601Q 60R FCIL AURVAQ 6QAY 41.5 @.8. ?

A) RA ARV 63 (B) @IQ19 QUK 57

(C) @A QUFA 55 (D) @I QUFAL 26

QA0 69Q YUIFNRIT RITIRNER FIAFICA dIE Tl ACRNY6Q ‘@RI SIG
QY AR QLR 6QQIg AOIKIREMI, LR AAGIAER FF AR} 6L
Q62186 JI8l QYIF @AQIQ AR ?

A) 19971 QLA G (B) 9198 QURS QN1

(C) 4198 AN ALVYQ 11 (D) ¢19a 98 d°@

‘999 A8’ 1949 AJLI6Q YIVEG 6TIRAR | FIRYC 6Q49EFR UG 699 9N
6Q4 C1IEQ Y2l QIVAG 6QIReMI ?

A) QUG - 62AIR (B) @AG - GRQ

C) RAAW-LIQ D) @UAG-SI'RIETE
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26.

27.

28.

29.

30.

¢l - SQua (QETIR B AART )
Section - B ( Geography and Economics )

1 x 25 =25
QUYROIq A7QUIFY I 12 QIR FAIAR QACIEA dSI FRAIC 68] AR

2136e ?
(A) NPIG AR (B) 6919190 AR
(C) 2IIRSIL AR (D) ®BIG AR

668 QAT QA goRe 2 F6Qd AKIFQ 6QQ QLSRR 99 82 QF AR

RIAIRQT 2RI ?
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A) NI B) QIR

C) QIR AR D) 2AR o8 AIewa
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31.

32.

33.

34.

35.

6P9IQ AYQ QUYRIGT EREQ QALY QAU YRH ERIRIEE RTRIDY
QRQIAIE 1 92IQ G QA @'l 26T ?

(A) Q¢ 6 VAL AR QURAL (B) QFoRd 6 99 AaeIq A9ge

(C) QA2 AQEY (D) 96 8 eRIYF AARQ ALYE

Qfl NIRAQ Q@E 6491Q RIGRIFIFIE YRR Qe 0QATY AARYAGE IR

PRAYEIE 699 AJICREQ IRASR | Y@ 9RFQYedd QIR R /91

FR6QI0Q QAR 6228 ?
A) L1991 (B) QIg4l
(C) 6QCdl (D) <ILQ8

JIRSAIAE 9aal 691dIR VNG dAIA 681 AJLI6Q ‘AT Tl AR AR

Qe Eem ?
(A) 1991 (B) 1986
(C) 2016 (D) 1985

6dlclyl adll 6RIRIRQPUIR IR LA IR @ER | M@ QIFIRG AQ0Iq *0R

HER6Q GG | 6668 RIITNT 76719 68Q YRR gge ?

A) 4%l (B) Qg (C) LIl (D) Q14
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(C) QRIGA 6 QA 6RINR (D) 6RINMAIGA B 6QIMYQ
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Qg AIgaa KIasE QA Jeqa aRea | 64 98 gIY 296a AlgAag
QAIRAR B Ale 92 AAQ A0IQ 92 RS QR QYR | 6069 6d F6CIP

6% SISI0Q 6QHQIQ AIRAMI ?

A) QS (B) SQal

©) QA (D) QIS

6QI241 2161 YT ATY FTAAICAR | 69 681 IR FIEREEA QTR AR 121
QAIQYl QRS QIR ?

A) NI (B) IO

(C) 6RNAMI (D) 69leQ Qd
Q601@ 602 QY IR 9F AV 8 JUAVIRA! UL 26T ?
A) 299 99 QI

(B) &I1QY 4o 4FEe @QSl

(C) 9AA°GIRQ 2UINLR ARG AFS!

(D) 6RFVFTA F1RR F1IR ARG QYR
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40. U6QE 8 QRS 9@ HIQIFAY QUEQ YRR @ 622N AU FERI | 69D

41.

42.

43.

QY QYITNEA AAG 56 ToID gIF ARIQ FGE B8 622N 80 QT GGl AL
100 6Q.61.Q 200 6Q.¢1. QACIG 2GR 622N 6661 QFl F106Q AYARI FIlg

RS IQIQ QU K&l ?
(A) <L B) AR C) <Rl (D) &Iy,

QUAGER 2R 6N RAIC RIQHIFIER VA Rl V2R, Q@ VA B 6RNANIQ DIRET

6% AQUIGEQ REITIN Q6T PRI ?

A 4:1:2 B) 4:2:1
) 2:4:1 D) 2:1:4
ARy @ FIRd1 dA QAURACANIQ RVLQ 66 YMAIQ YRR | QA Glg 69F
2ERQ AQ0IQ 9 e AIS FAMIRI 6QHIRRIY 696R | QT AR QAR

Q8Q 692 RIAHIFIT 609 Jga ABNG 629 ?

A) A%e dg (B) Q¢ 93

(C) @l dig (D) QYR Jg

QIAG Q¢ QIERY A°F0R QI FISINAE 1P F6IT AAYE 6QRVIAAIR AR ?
A) SRATNR 6QEAIT QA ATORQ 16 T JRATS |

(B) 6999 9§ A°QIIER 98 QUYL *AA1AL JO6TFI6Q AV QLT |

(C) 6Qd1d K19 6@l9a G dg A°FIQ g IGIQ |

(D) QVLIG 2IQ AR gL |

406



44. 2Ll 6QI6Q URT EMINAER ARG YR JDT €LQYQICRPER TR EMRAER

RIS AR FA1S AL 62Q83 ?

(A) QISR AAY AP 98 AT6Q FLANSR |
(B) Q0Q°¢lil Q& AL @@ 6K Q& |

(C) 2RIE Q%@ AT ERIRAE AIH6Q FFS |
(D) 6RRAFFQ YTl &I @¢ |

45. QF6Q BUILIRAS! 60Q AR U AVLIELTEQ QNG SR IGTC RUCQ Qg

RAULIQEG ?
A) QAN ARV (B) @Rl Aes <l
(C) QY A%R (D) QA2 AR A

46. QUAG 699 FRUY 69R ARG, TIF, 62N, J6PR B 62N JQT 624 AZG
QISR RALQ @RI ?

A) dFIgQ AgQael (B) Q@94 23x1d
(C) 99T 6R]IRN (D) IR YIR1
47. @969 99@ QARYER g 699 FART FUTHIESIY ALRIA QeIe] JTFAIR
QUYD ?
(A) g9 ARIQGS JOq TEA] 90 /RIB |
(B) N2l 6997 ACQYYER QY@ NQ @RI |
(C) 92l Q& 629I1QIQ 25°C QI 1'0Iq @9 AITAIGI ISR |

(D) Qg 8 91en QYR ARR6Q 9§ 6IR2IN |

407



48. 6E4IQ 689 68Q ARl Yo UGS TP 98 2T ?
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SUBJECTIVE TYPE QUESTIONS

Qg : € Al No a7 g4 a°qyl : 8o
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SUBJECT-FIRST LANGUAGE ODIA(FLO)

Scoring Keys for Model Question Paper - 1 (Objective)

Question No Answer Key Question No Answer Key
1 C 26 D
2 A 27 B
3 B 28 B
4 A 29 A
5 B 30 C
6 D 31 B
7 B 32 A
8 C 33 D
9 B 34 C
10 B 35 B
11 B 36 C
12 B 37 D
13 B 38 B
14 C 39 D
15 C 40 A
16 C 41 B
17 D 42 D
18 B 43 C
19 C 44 A
20 B 45 B
21 C 46 D
22 B 47 C
23 B 43 A
24 C 49 D
25 A 50 B

414




SUBJECT-SECOND LANGUAGE ENGLISH(SLE)

Scoring Keys for Model Question Paper - 1 (Objective)

Question No Answer Key Question No Answer Key
1 A 26 A
2 C 27 D
3 B 28 B
4 D 29 A
5 C 30 B
6 B 31 C
7 A 32 D
8 A 33 D
9 C 34 D
10 A 35 B
11 C 36 C
12 B 37 A
13 A 38 B
14 C 39 B
15 A 40 A
16 C 41 B
17 A 42 C
18 A 43 C
19 A 44 A

20 A 45 D
21 B 46 C
22 D 47 B
23 D 43 D
24 D 49 C
25 C 50 C

415




SUBJECT-THIRD LANGUAGE HINDI{TLH)

Scoring Keys for Model Question Paper - 1 (Objective)

Question No Answer Key Question No Answer Key
1 B 26 A
2 C 27 C
3 C 28 D
4 D 29 C
5 B 30 B
6 B 31 C
7 A 32 B
8 B 33 C
9 A 34 D
10 A 35 A
11 B 36 C
12 A 37 B
13 D 38 B
14 C 39 D
15 C 40 C
16 B 41 A
17 A 42 B
18 D 43 B
19 C 44 D

20 A 45 A
21 A 46 B
22 B 47 C
23 A 43 C
24 B 49 A
25 D 50 D
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F-14

SUBJECT-THIRD LANGUAGE SANSKRIT(TLS)

Scoring Keys for Model Question Paper - 1 (Objective)

Question No Answer Key Question No Answer Key
1 B 26 A
2 D 27 D
3 A 28 D
4 D 29 A
5 C 30 B
6 B 31 D
7 C 32 D
8 B 33 B
9 A 34 C
10 C 35 A
11 A 36 B
12 C 37 C
13 B 38 D
14 D 39 B
15 C 40 A
16 B 41 B
17 C 42 C
18 A 43 B
19 D 44 D
20 A 45 A
21 C 46 A
22 B 47 C
23 D 43 C
24 A 49 C
25 B 50 B
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SUBJECT-MATHEMATICS(MTH)

Scoring Keys for Model Question Paper - 1 (Objective)

Question No Answer Key Question No Answer Key
1 C 26 B
2 D 27 A
3 C 28 D
4 B 29 B
5 C 30 A
6 A 31 C
7 C 32 B
8 A 33 B
9 C 34 C
10 A 35 B
11 A 36 B
12 C 37 B
13 D 38 B
14 A 39 B
15 A 40 B
16 B 41 A
17 C 42 B
18 A 43 B
19 B 44 B

20 B 45 B
21 C 46 C
22 D 47 B
23 C 43 D
24 D 49 D
25 A 50 B
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SUBJECT-GENERAL SCIENCE(GSC)

Scoring Keys for Model Question Paper - 1 (Objective)

Question No Answer Key Question No Answer Key
1 D 26 D
2 B 27 D
3 C 28 B
4 A 29 D
5 B 30 B
6 B 31 A
7 B 32 B
8 A 33 D
9 C 34 D
10 C 35 D
11 A 36 D
12 D 37 B
13 D 38 C
14 A 39 C
15 B 40 A
16 B 41 C
17 A 42 A
18 D 43 B
19 B 44 C
20 A 45 C
21 C 46 B
22 B 47 C
23 C 43 B
24 D 49 C
25 C 50 A
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SUBJECT-SOCIAL SCIENCE (SSC)

Scoring Keys for Model Question Paper - 1 (Objective)

Question No

Answer Key

Question No

Answer Key

1 B 26 A
2 D 27 B
3 B 28 c
4 B 29 c
5 A 30 A
6 A 31 c
7 A 32 D
8 B 33 A
9 B 34 c
10 B 35 D
11 D 36 A
12 C 37 D
13 C 38 B
14 C 39 D
15 A 40 c
16 C 41 A
17 B 42 D
18 C 43 c
19 C 44 B
20 B 45 c
21 D 46 B
22 C 47 A
23 B 48 D
24 C 49 c
25 A 50 c
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SUBJECT-FIRST LANGUAGE ODIA (FLO)

Scoring Keys for Model Question Paper - 2 (Objective)

Question No Answer Key Question No Answer Key

1 C 26

2 A 27

3 B 28 C
4 B 29 D
5 C 30 A
6 D 31 B
7 C 32 A
8 A 33 D
9 B 34 C
10 D 35 A
11 C 36 D
12 D 37 B
13 A 38 C
14 D 39 D
15 C 40 B
16 A 41 C
17 C 42 D
18 B 43 A
19 C 44 B
20 D 45 A
21 C 46 B
22 B 47 D
23 A 43 B
24 D 49 C
25 D 50 A
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SUBJECT- SECOND LANGUAGE ENGLISH (SLE)

Scoring Keys for Model Question Paper - 2 (Objective)

Question No Answer Key Question No Answer Key
1 A 26 C
2 B 27 A
3 A 28 A
4 C 29 D
5 A 30 C
6 C 31 A
7 B 32 B
8 D 33 C
9 B 34 B
10 D 35 B
11 A 36 A
12 B 37 B
13 A 38 B
14 D 39 D
15 A 40 C
16 A 41 C
17 B 42 A
18 D 43 B
19 A 44 B
20 B 45 B
21 D 46 B
22 B 47 C
23 A 43 C
24 C 49 B
25 B 50 C
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SUBJECT- THIRD LANGUAGE HINDI{TLH)

Scoring Keys for Model Question Paper - 2 (Objective)

Question No Answer Key Question No Answer Key
1 B 26 B
2 A 27 C
3 C 28 D
4 D 29 B
5 A 30 A
6 D 31 D
7 C 32 B
8 D 33 C
9 A 34 D
10 C 35 A
11 A 36 A
12 B 37 C
13 D 38 A
14 D 39 A
15 A 40 B
16 C 41 A
17 B 42 D
18 D 43 B
19 C 44 A

20 C 45 D
21 A 46 B
22 B 47 C
23 C 43 B
24 D 49 B
25 A 50 B
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SUBJECT- THIRD LANGUAGE SANSKRIT(TLS)

Scoring Keys for Model Question Paper - 2 (Objective)

Question No Answer Key Question No Answer Key
1 C 26 B
2 A 27 A
3 B 28 B
4 C 29 C
5 D 30 C
6 C 3 B
7 C 32 D
8 B 33 C
9 D 34 A
10 A 35 B
11 A 36 B
12 B 37 A
13 C 38 B
14 D 39 D
15 C 40 C
16 A 11 A
17 A 42 C
18 B 43 B
19 D 44 A
20 A 45 '
21 A 45 A
22 D 47 A
23 B 43 B
24 D 49 B
25 C 50 A
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SUBJECT- MATHEMATICS (MTH)

Scoring Keys for Model Question Paper - 2 (Objective)

Question No Answer Key Question No Answer Key
1 B 26 C
2 A 27 C
3 D 28 B
4 B 29 D
5 C 30 B
6 C 31 B
7 C 32 A
8 B 33 C
9 D 34 B
10 D 35 C
11 D 36 C
12 C 37 D
13 C 38 C
14 A 39 C
15 B 40 A
16 B 41 B
17 A 42 D
18 C 43 C
19 D 44 D

20 B 45 C
21 C 46 C
22 C 47 D
23 A 43 A
24 A 49 C
25 D 50 C
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SUBJECT- GENERAL SCIENCE (GSC)

Scoring Keys for Model Question Paper - 2 (Objective)

Question No Answer Key Question No Answer Key
1 A 26 A
2 B 27 D
3 C 28 D
4 B 29 A
5 D 30 A
6 A 31 B
7 C 32 B
8 B 33 C
9 A 34 A
10 D 35 C
11 D 36 C
12 C 37 B
13 D 38 C
14 D 39 D
15 C 40 B
16 B 41 C
17 A 42 B
18 B 43 D
19 D 44 D

20 C 45 B
21 B 46 C
22 B 47 B
23 D 43 A
24 B 49 B
25 B 50 B
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SUBJECT- SOCIAL SCIENCE (SSC)

Scoring Keys for Model Question Paper - 2 (Objective)

Question No Answer Key Question No Answer Key
1 A 26 A
2 B 27 C
3 C 28 B
4 C 29 B
5 A 30 B
6 B 3 D
7 B 32 C
8 C 33 A
9 C 34 D
10 A 35 D
11 Cc 36 A
12 A 37 B
13 C 38 C
14 C 39 D
15 C 40 B
16 A 41 C
17 B 42 A
18 C 43 C
19 B 44 B

20 D 45 C
21 B 46 B
22 C 47 C
23 A 43 D
24 C 49 D
25 D 50 C
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SUBJECT-FIRST LANGUAGE ODIA (FLO)

Scoring Keys for Model Question Paper - 3 (Objective)

Question No Answer Key Question No Answer Key
1 C 26 D
2 27
3 D 28 C
4 B 29 B
5 D 30 A
6 C 31 D
7 C 32 B
8 B 33 C
9 B 34 A
10 B 35 C
11 c 36 D
12 A 37 A
13 B 38 D
14 C 39 A
15 D 40 C
16 B 41 B
17 C 42 D
18 D 43 C
19 A 44 A

20 D 45 A
21 B 46 C
22 C 47 B
23 A 43 A
24 D 49 D
25 C 50 B
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SUBJECT- SECOND LANGUAGE ENGLISH (SLE)

Scoring Keys for Model Question Paper - 3 (Objective)

Question No Answer Key Question No Answer Key

1 A 26

2 D 27 B
3 D 28 B
4 B 29 D
5 C 30 C
6 A 31 D
7 D 32 B
8 D 33 D
9 A 34 B
10 A 35 C
11 B 36 C
12 D 37 C
13 A 38 D
14 B 39 A
15 A 40 B
16 C 41 B
17 A 42 A
18 B 43 B
19 B 44 D
20 A 45 D
21 B 46 B
22 C 47 B
23 B 43 D
24 A 49 C
25 C 50 D

429




SUBJECT- THIRD LANGUAGE HINDI{TLH)

Scoring Keys for Model Question Paper - 3 (Objective)

Question No Answer Key Question No Answer Key
1 D 26 D
2 27 D
3 C 28 B
4 A 29 B
5 D 30 C
6 C 31 B
7 B 32 B
8 A 33 B
9 D 34 C
10 C 35 D
11 D 36 B
12 C 37 C
13 B 38 C
14 A 39 A
15 D 40 C
16 C 41 C
17 B 42 D
18 A 43 A
19 C 44 C
20 B 45 C
21 B 46 A
22 A 47 B
23 D 43 C
24 A 49 D
25 B 50 A
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SUBJECT- THIRD LANGUAGE SANSKRIT(TLS)

Scoring Keys for Model Question Paper - 3 (Objective)

Question No Answer Key Question No Answer Key
1 C 26 A
2 A 27 C
3 C 28 C
4 C 29 A
5 D 30 C
6 D 31 C
7 C 32 B
8 B 33 D
9 D 34 A
10 A 35 C
11 B 36 C
12 A 37 C
13 D 38 D
14 C 39 A
15 A 40 D
16 B 41 D
17 C 42 B
18 D 43 B
19 C 44 B

20 B 45 B
21 A 46 B
22 B 47 C
23 C 43 C
24 D 49 C
25 A 50 C
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SUBJECT- MATHEMATICS (MTH)

Scoring Keys for Model Question Paper - 3 (Objective)

Question No Answer Key Question No Answer Key
1 B 26 B
2 C 27 C
3 D 28 D
4 D 29 A
5 C 30 B
6 B 31 A
7 D 32 C
8 C 33 B
9 C 34 D
10 C 35 C
11 D 36 B
12 B 37 C
13 D 38 C
14 A 39 A
15 B 40 C
16 C 41 C
17 B 42 C
18 A 43 B
19 C 44 A

20 D 45 B
21 D 46 B
22 C 47 A
23 D 43 B
24 B 49 A
25 A 50 D
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SUBJECT- GENERAL SCIENCE (GSC)

Scoring Keys for Model Question Paper - 3 (Objective)

Question No Answer Key Question No Answer Key
1 26 C
2 B 27
3 A 28 D
4 C 29 A
5 C 30 A
6 D 31 C
7 C 32 B
8 A 33 B
9 B 34 A
10 B 35 D
11 D 36 A
12 A 37 B
13 D 38 A
14 B 39 B
15 C 40 D
16 A 41 C
17 A 42 D
18 B 43 A
19 D 44 A

20 C 45 A
21 D 46 C
22 C 47 B
23 C 43 B
24 A 49 D
25 C 50 C
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SUBJECT- SOCIAL SCIENCE (SSC)

Scoring Keys for Model Question Paper - 3 (Objective)

Question No Answer Key Question No Answer Key
1 D 26 B
2 27 B
3 C 28 B
4 A 29 A
5 D 30 B
6 B 31 D
7 C 32 C
8 C 33 A
9 B 34 D
10 C 35 B
11 C 36 B
12 C 37 A
13 C 38 D
14 B 39 C
15 C 40 D
16 D 41 B
17 B 42 A
18 C 43 A
19 C 44 C

20 C 45 C
21 A 46 D
22 B 47 B
23 C 43 C
24 D 49 C
25 C 50 A

434




SUBJECT-FIRST LANGUAGE ODIA (FLO)

Scoring Keys for Model Question Paper - 4 (Objective)

Question No Answer Key Question No Answer Key
1 C 26 C
2 27 D
3 C 28 C
4 B 29 A
5 D 30 A
6 C 31 D
7 A 32 A
8 B 33 C
9 C 34 D
10 B 35 B
11 B 36 A
12 A 37 C
13 D 38 B
14 B 39 A
15 C 40 D
16 D 41 C
17 A 42 A
18 D 43 D
19 B 44 B

20 C 45 C
21 A 46 A
22 B 47 D
23 C 43 B
24 D 49 C
25 B 50 B
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SUBJECT- SECOND LANGUAGE ENGLISH (SLE)

Scoring Keys for Model Question Paper - 4 (Objective)

Question No Answer Key Question No Answer Key
1 B 26 A
2 A 27 D
3 C 28 A
4 D 29 B
5 B 30 D
6 C 31 C
7 A 32 C
8 A 33 D
9 D 34 D
10 B 35 D
11 B 36 B
12 A 37 B
13 D 38 C
14 A 39 B
15 C 40 C
16 C 41 C
17 B 42 D
18 A 43 C
19 C 44 C

20 B 45 C
21 D 46 D
22 C 47 D
23 B 43 D
24 B 49 B
25 B 50 D
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SUBJECT- THIRD LANGUAGE HINDI{TLH)

Scoring Keys for Model Question Paper - 4 (Objective)

Question No Answer Key Question No Answer Key

1 A 26

2 B 27

3 C 28 A
4 D 29 D
5 A 30 A
6 C 31 A
7 D 32 B
8 C 33 C
9 B 34 B
10 D 35 C
11 B 36 D
12 C 37 B
13 D 38 D
14 B 39 A
15 A 40 B
16 C 41 D
17 D 42 C
18 B 43 C
19 A 44 C
20 A 45 B
21 A 46 A
22 B 47 B
23 C 43 A
24 D 49 B
25 A 50 C
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SUBJECT- THIRD LANGUAGE SANSKRIT(TLS)

Scoring Keys for Model Question Paper - 4 (Objective)

Question No Answer Key Question No Answer Key
1 B 26 A
2 D 27 C
3 A 28 D
4 C 29 A
5 A 30 C
6 B 31 D
7 D 32 C
8 B 33 B
9 C 34 C
10 A 35 A
11 Cc 36 D
12 D 37 A
13 A 38 B
14 B 39 C
15 A 40 B
16 A 41 A
17 B 42 B
18 C 43 B
19 D 44 A
20 A 45 C
21 A 46 C
22 B 47 D
23 C 43 B
24 D 49 C
25 C 50 C
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SUBJECT- MATHEMATICS (MTH)

Scoring Keys for Model Question Paper - 4 (Objective)

Question No Answer Key Question No Answer Key
1 C 26 B
2 A 27 D
3 B 28 A
4 D 29 C
5 B 30 B
6 A 31 B
7 A 32 B
8 B 33 C
9 D 34 B
10 B 35 A
11 B 36 B
12 C 37 B
13 B 38 B
14 D 39 D
15 D 40 C
16 C 41 C
17 B 42 A
18 B 43 A
19 C 44 B
20 C 45 D
21 C 46 D
22 A 47 A
23 C 43 D
24 D 49 C
25 B 50 A
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SUBJECT- GENERAL SCIENCE (GSC)

Scoring Keys for Model Question Paper - 4 (Objective)

Question No Answer Key Question No Answer Key
1 D 26 C
2 A 27 A
3 C 28 B
4 B 29 D
5 B 30 C
6 C 31 A
7 A 32 C
8 D 33 B
9 D 34 C
10 B 35 D
11 C 36 B
12 B 37 C
13 A 38 A
14 B 39 D
15 C 40 A
16 C 41 C
17 D 42 A
18 A 43 B
19 B 44 C
20 A 45 B
21 D 46 C
22 C 47 C
23 C 43 B
24 C 49 C
25 B 50 C
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SUBJECT- SOCIAL SCIENCE (SSC)

Scoring Keys for Model Question Paper - 4 (Objective)

Question No Answer Key Question No Answer Key
1 B 26 D
2 A 27 C
3 A 28 B
4 B 29 D
5 D 30 B
6 C 31 A
7 C 32 A
8 C 33 B
9 D 34 B
10 A 35 C
11 B 36 D
12 A 37 C
13 A 38 C
14 B 39 D
15 C 40 B
16 A 41 A
17 C 42 C
18 B 43 B
19 B 44 D

20 C 45 C
21 D 46 D
22 C 47 C
23 A 43 D
24 A 49 B
25 C 50 A
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SUBJECT-FIRST LANGUAGE ODIA (FLO}

Scoring Keys for Model Question Paper - § (Objective)

Question No Answer Key Question No Answer Key
1 D 26 A
2 B 27 C
3 A 28 D
4 B 29 A
5 B 30 D
6 A 31 C
7 D 32 D
8 A 33 B
9 D 34 C
10 B 35 A
11 D 36 B
12 B 37 D
13 A 38 C
14 B 39 B
15 C 40 C
16 D 41 D
17 B 42 B
18 A 43 C
19 C 44 A

20 D 45 D
21 A 46 B
22 B 47 C
23 C 48 A
24 D 49 C
25 B 50 B
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SUBJECT- SECOND LANGUAGE ENGLISH (SLE)

Scoring Keys for Model Question Paper - § (Objective)

Question No Answer Key Question No Answer Key
1 B 26 D
2 A 27 A
3 A 28 A
4 A 29 C
5 A 30 C
6 B 31 A
7 D 32 C
8 C 33 D
9 D 34 C
10 A 35 B
11 B 36 B
12 A 37 B
13 D 38 A
14 D 39 A
15 B 40 B
16 C 41 C
17 D 42 C
18 A 43 C
19 B 44 B

20 A 45 B
21 B 46 B
22 C 47 B
23 A 43 B
24 B 49 C
25 B 50 B
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SUBJECT- THIRD LANGUAGE HINDI{TLH)

Scoring Keys for Model Question Paper - § (Objective)

Question No Answer Key Question No Answer Key
1 B 26 C
2 C 27 C
3 D 28 B
4 A 29 B
5 C 30 D
6 B 31 B
7 A 32 A
8 B 33 B
9 C 34 D
10 A 35 B
11 B 36 D
12 A 37 C
13 C 38 A
14 D 39 B
15 C 40 A
16 C 41 D
17 D 42 D
18 A 43 C
19 A 44 C

20 D 45 C
21 B 46 A
22 D 47 D
23 C 43 B
24 A 49 A
25 D 50 D
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SUBJECT- THIRD LANGUAGE SANSKRIT(TLS)

Scoring Keys for Model Question Paper - § (Objective)

Question No Answer Key Question No Answer Key
1 A 26 A
2 C 27 B
3 B 28 B
4 C 29 D
5 A 30 B
6 B 31 A
7 B 32 D
8 C 33 C
9 B 34 B
10 D 35 B
11 A 36 B
12 B 37 A
13 C 38 C
14 D 39 B
15 B 40 D
16 C 41 C
17 A 42 B
18 D 43 C
19 A 44 D

20 B 45 D
21 A 46 D
22 B 47 A
23 C 43 B
24 A 49 A
25 D 50 D
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SUBJECT- MATHEMATICS (MTH)

Scoring Keys for Model Question Paper - § (Objective)

Question No Answer Key Question No Answer Key
1 D 26 B
2 C 27 B
3 B 28 C
4 C 29 C
5 B 30 A
6 B 31 C
7 B 32 B
8 C 33 D
9 B 34 B
10 D 35 C
11 B 36 A
12 C 37 C
13 D 38 B
14 A 39 B
15 B 40 A
16 B 41 C
17 D 42 D
18 A 43 B
19 C 44 C
20 B 45 C
21 B 46 A
22 C 47 C
23 D 43 D
24 D 49 B
25 A 50 C
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SUBJECT- GENERAL SCIENCE (GSC)

Scoring Keys for Model Question Paper - § (Objective)

Question No Answer Key Question No Answer Key
1 B 26 A
2 D 27 D
3 A 28 A
4 C 29 B
5 A 30 B
6 B 31 A
7 A 32 C
8 B 33 B
9 C 34 D
10 D 35 D
11 A 36 A
12 B 37 C
13 A 38 D
14 D 39 A
15 B 40 C
16 C 41 B
17 B 42 A
18 C 43 B
19 A 44 C

20 A 45 B
21 C 46 C
22 B 47 B
23 D 43 D
24 D 49 C
25 A 50 A
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SUBJECT- SOCIAL SCIENCE (SSC)

Scoring Keys for Model Question Paper - § (Objective)

Question No Answer Key Question No Answer Key
1 C 26 D
2 A 27 C
3 D 28 C
4 B 29 A
5 C 30 B
6 B 31 B
7 C 32 A
8 A 33 B
9 C 34 C
10 B 35 A
11 D 36 B
12 A 37 A
13 C 38 C
14 C 39 C
15 B 40 B
16 C 41 A
17 B 42 D
18 C 43 B
19 A 44 C
20 C 45 B
21 D 46 C
22 C 47 D
23 A 43 C
24 B 49 D
25 C 50 C
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